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INTRODUCTION

The purpose of these notes is to introduce the reader to some of
the most important facts about the structure of the Cheyenne language.
The publication of these notes at this time is meant to satisfy some
of the stated needs of Cheyennes who teach their language in the
classroom.

This is not a language-learning manual. It cannot teach you to
speak Cheyenne. But these notes can be a useful resource tool. They
can give ideas of ways of studying and presenting the grammar of
Cheyenne.

The best way to learn a language 1s by paying careful attention to
a good speaker of that language. You must imitate the way he speaks
very carefully. You must also seriously approach the job of
memorizing the sounds and words of the new language.

To successfully teach Cheyenne you must try to imagine natural things
that you and other Cheyenne speakers talk about. Think of the questions
you ask other people. Think of the answers they give you. Think of
the things you like to tell people about. These kinds of things are
most useful when you teach your language to others.

The words in these notes just illustrate the structure, or grammar,
of Cheyenne. They are like the main bones of someone's body. Now, to
teach the language and make learning fun and useful, you must put
"muscles, organs, meat, skin, hair, and clothes,”" in other words,
interesting language, on the grammar 'bones'. You can teach in an
interesting way by making booklets with little Cheyenne stories. You
can put words and phrases on tapes for students to listen to. You
can make language games. And, you can even write a language-learning
manual.

In some places in these notes there will be technical things which
will be useful to some people, but not everyone. If you come across
some funny-looking symbols and technical language that doesn't mean
anything to you, don't be disturbed. Keep going. If you already
speak Cheyenne, it won't be too long before it starts making sense again.

These notes are based on information given by many Cheyenne people.
I have tried my best to write down accurately what people have said.
But, once in awhile, you may find a mistake. Be patient! Study it
some more. Maybe what is written will turn out to be right, after all.
Or, maybe there is a typing mistake. Or, maybe what is written is only
partly true.

You might be able to think of other ways of saying something. That
is good. Every language has different ways of saying things that have
similar meanings.

It would be a good idea to keep a list of mistakes you think you
have found in these notes. Hopefully, it will not be too long before
really complete grammar books and language-learning curriculum are being
written by people like you.

The nature of any kind of research is that it can never be said to
be completely finished. It must always be open to revision, to better
ways of presenting information. This is very true of these notes.

They represent some of the most important things I have learned so
far from my Cheyenne friends. I will put the date down to show when

iii


wleman
Typewriter
 

wleman
Typewriter
 

wleman
Typewriter
 


this was written. The date can help us see progress when we later
find better ways of talking about the structure of Cheyenne.

To everyone who has been one of my teachers, I say, '"Hahoo!"

--Kovaahe (Wayne Leman)
January 1979
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ABBREVIATIONS AND SYMBOLS
Person Abbreviations:

1  First-person singular ("I'")

2 Second-person singular ('you'")

3 Third-person singular ("he, she, or, animate-it")

11 First-person plural (exclusive) ("we', US, but not YOU)

12 First-person plural (inclusive) ("we', YOU and ME, maybe others)
22 Second-person plural (''you')

33 Third-person plural ("they'")

4  Fourth-person (obviative) ("he, she, animate-it, or they")

I  Inanimate singular ("it')

IT Inanimate plural ("they")

Pitch Symbols:

High Pitch

. Mid Pitch (I now believe that the hanging-low is a regular low pitch. W.L. 2011)
Low Pitch

"Hanging-Low" Pitch (between a Mid Pitch and a Low Pitch)

"Raised-High" Pitch (slightly higher than a High Pitch)

Other Symbols:

Voiceless (whispered) Vowel
- Meaning-Separation Mark (separates some morphemes)

Other Abbreviations:

sing., sg. Singular

pl., p. Plural

obv., ob. Obviative (Fourth-person)

excl., ex., e, Exclusive (used with First-person Plural)
incl., in., i. Inclusive (used with First-person Plural)

AT Animate Intransitive (Intrans. Verb with Animate Subject)
II Inanimate Intransitive (Intrans. Verb with Inan. Subject)
TA Transitive Animate (Transitive Verb with Animate Object)
TI Transitive Inanimate (Trans. Verb with Inanimate Object)

anim., an., a. Animate
inan., in., i. Inanimate

e.g. "For Example"

i.e. . "Namely"

X Unspecified, such as Unspecified Subject
mt Montana

ok Oklahoma
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CHEYENNE SOUNDS AND ALPHABET

As you probably already know, different languages have different
sounds. Some languages of Africa have sounds that sound like clicks.
German has some sounds that are 'rough" or '"gravelly". You probably
know that there are sounds in English which are not used in Cheyenne.
And, there are sounds in Cheyenne which are not found in English
words. Some languages have many different sounds, so they must have
a large alphabet. Other languages do not have so many sounds. They
can have smaller alphabets. Whether a language has many sounds or
not so many does not necessarily mean that it is an "easy" or a "hard"
language.

As a matter of fact, there probably really isn't such a thing as
an "easy" or a "hard" language. A language may seem easy or difficult
depending upon many things in the background of the person trying to
learn that language. Many native speakers of English find it easier
to learn to speak Spanish (spoken in places such as Spain and Mexico)
than Chinese. One of the reasons for this is that Spanish and English
are related languages. Many of their words sound almost the same. And
their grammars are similar. But the words of Chinese and English are
completely different. This is true, also, with Cheyenne and English.
When you know an English word it won't give you a hint as to what the
Cheyenne word with the same meaning will be.

English happens to be a language with many sounds. There are many
consonants, and there are many vowel sounds. There are 26 letters in
the English alphabet but these letters are often put together in
different ways to represent different sounds. There are more different
sounds in English than there are letters in the English alphabet.

There are only 14 distinctive sounds in Cheyenne. The most logical
way to spell these sounds is to give each of these sounds a different
letter. And that is exactly what we do with the alphabet used in the
bilingual education programs on the Northern Cheyenne Reservation here
in Montana. Now, even though there are only 14 letters in the Cheyenne
alphabet we can't say that Cheyenne is an "easy" or "simple" language.
Cheyenne happens to have very complicated ways of putting its sounds
together as meaning-units, words, and sentences are made--at least
they can seem complicated to someone who only speaks some other language,
for instance, English.

Every word of Cheyenne can be written with just the 14 letters of
the Cheyenne alphabet. Here they are: a, e, h, k, ' (or, ?), m, n,
o, p, s, ¥ (or, 8), t, v, and x. Most of them look familiar to you
already, don't they! Let's talk about these letters and the sounds
they represent.

You already know the letter a. In English it is pronounced in
different ways, isn't it! Say these English words, and listen to
the a sound in each word: can, gate, father, and caught. It's a
little easier for this letter in Cheyenne. It is always pronounced
like the a in father. Here's a Cheyenne word with three a's. It
means 'milk' (hint: whisper the last a): matana.

In Cheyenne the letter e is most often pronounced like the English
i in the word pin. Sometimes Cheyenne e sounds close to the e in
English like in the word pet. Here's a Cheyenne word with e: semo.
It means 'boat'.




Cheyenne h is pronounced the same as English h. Cheyenne hese, 'fly'.

Cheyenne k is pronounced like the k in the English word skin.
It is a "soft" sound. It does not have the little puff of air
(aspiration) which the sound in English, most often spelled with ¢,
has at the beginnings of words, as in the word coat. A Cheyenne
word with k is ka'élkone, 'child'.

The letter ' is called a "glottal stop". If you would like, you
can call it a 'glottal", for short. Or, maybe you can think of a
Cheyenne name for this letter. This letter indicates a short "break"
in the sound of a word. With it the sound of a word stops really
quickly, and then goes on. A glottal stop can be "heard" in English
when we say the exclamation, '"Oh, oh!" The glottal stop occurs between
the two o sounds. There are many glottal stops in the Cheyenne language.
It is very important that you pronounce them if you want to pronounce
Cheyenne correctly. Here are some Cheyenne words with glottal stops:
he'eo'o, 'women'; vo'e, 'cloud; pa'e'pa'onahe, 'camel'. It is possible
that you have seen the glottal stop written a little differently. For
instance, in the English-Cheyenne Student Dictionary, published in 1976,
glottal stop was written with the top part of a question mark, ?. But,
since almost no regular typewriters have this symbol, I like to write
glottal stop with a simple apostrophe, namely '. By
the way, other languages that have glottal stops often write the glottal
stop with an apostrophe, too.

Cheyenne m is pronounced just like English m. Cheyenne mee'e means
'"feather'.

Cheyenne n is pronounced the same as English n. If you say notse in
Cheyenne, you are talking about someone from another tribe.

The pronunciation of Cheyenne o is between the o sound of English
bone and the oo sound of the English word look,

Cheyenne p is like the p in the English word spin. Like Cheyenne
k, the p is a "soft" (unaspirated) sound. Be sure you do not say it
with a puff of air. A favorite word of Cheyenne children is poeso,
which means, of course, 'cat'.

The s in Cheyenne is just like English s. We already saw a Cheyenne
s in semo, 'boat', above.

The letter ¥ in Cheyenne sounds just about the same as the sound
represented by the two letters sh in English. (You may have seen this
written as s§. There is nothing wrong with this other way of writing
this Cheyenne sound. It's just that typewriters don't have the little
v "up-in-the air". In these notes I will often type this letter, called
an "esh'", as 8.) 1In Cheyenne a He'8e is a 'duck'. If enough Cheyennes
would really rather write this sound with sh, this would be fine.

Cheyenne t, like k and pyis a "soft" sound, like the t in English
stick. The Cheyenne word to'ha means 'glove'. ,

In Cheyenne the letter v representsone '"distinctive" sound. If you
already speak English,sometimes Cheyenne v will sound almost like English
w, and sometimes it will just sound like an English v. Don't worry about
this—-it really is only one distinctive sound in Cheyenne. It can sound
like English w . when it comes before the letters a or o. But, even then,
sometimes it will sound more like English v. In Cheyenne a vee'e is

a 'dwelling'; vo'e is a "cloud'.

The last letter of the Cheyenne alphabet is x. This Cheyenne sound is
not used in English. It is used in many other languages, though, such as
German (for instance,the German word Achtung has this sound, represented
by the letters ch). The sound of this letter is something like a "raspy"
h, but it is pronounced closer to the front of your mouth. Have you
ever heard children pretending they were shooting guns, and saying




something that we might write as "kx, kx, kx"? Well, just take away
the k part of these sounds, and you will be left with the sound of
the Cheyenne xX. Be sure you do not pronounce Cheyenne x like the x
in the English words x-ray or ax. The Cheyenne x is not pronounced
like a ks as the English x is. The word for 'skunk' in Cheyenne has
the letter x, xao'o.

Those are the 14 letters of the Cheyenne alphabet. Remember, every
Cheyenne word can be written with just those 14 letters.

OTHER MARKS:

Throughout these notes you will see some other marks used to spell
words. These marks help to pronounce words. Spelling is something
like a map. The more detail that there is on a map, the easier it is
to find a place.

One important mark will be a dot over vowels. (Do you remember
what vowels are? There are three Cheyenne vowels. They are a, e, and
0. Can you name the five vowels of English?) This dot shows that the
vowel is 'whispered" (or, voiceless). The last vowel of each thing
you say in Cheyenne is always whispered. If you say only oné word,
the last vowel of the word will be whispered. If you say several words
together to make a phrase, the last vowel of the phrase will automatically
be whispered. This is automatic devoicing and it is not marked with
a dot. Because it is possible to pronounce each word by itself in
Cheyenne, the last vowel of every word can potentially be devoiced,
and so this vowel, also, will not get a dot.

But, other vowels will have dots over them when they are whispered.
Of course, when you are a native speaker of Cheyenne you don't have to
think of dots (or, even alphabet letters, for that matter!), you just
whisper the vowels that are supposed to be whispered. But someone who
doesn't know Cheyenne yet doesn't know what vowels to whisper. So
these dots are very helpful to him. And, when you, a Cheyenne speaker,
are reading Cheyenne, and sounding out words that are written down, you
will probably find the whisper marks helpful.

Here are some words with whispered vowels: tahpeno, 'flute';
ka'élkone, 'child'; semonétse, 'boats'.

The syllables of Cheyenne words are pronounced at different pitches,
or tones. High-pitched vowels are often marked with this mark, ", over
the vowels. for instance, in the Cheyenne word for 'bear', the first
syllable has a high pitch, the second syllable has a low pitch, and the
third, and last, syllable is whispered when the word is pronounced just
by itself. The word is written as nahkohe.

We can use other pitch marks, also. They can give greater detail
and accuracy when we write Cheyenne words. At times in these notes
I will use some other pitch marks. You can see the pitches that are
represented by the different pitch symbols on the page with
ABBREVIATIONS AND SYMBOLS (page vi). They are: ', , '» =, and .

At this point it is not certain whether native Cheyenne speakers
really need to use any pitch marks. In some reading and writing classes
I have been having with Cheyenne speakers, it seems that these speakers
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can get by pretty well without using any pitch marks. One advantage
to not using pitch marks is that this makes Cheyenne easier to type.
Most English typewriters do not have any accent marks on them. We,
of course, could still print the accent marks in by hand. One other
possibility is to use the underline mark, , under a vowel instead of
the high pitch mark, ’. In these notes, when I consider it important
to the part of grammar being discussed, T will use the regular high
pitch mark. At other times I may not use the mark. Remember, if
you are a speaker of Cheyenne, you may not need to use pltch marks,
or else, you may not need to use very many.

Sometimes a hyphenwill be used in the middle of a word. It has
nothing to do with the way a word is pronounced. It just separates
parts of the word that mean different things. For instance, we might
use a hyphen in the Cheyenne word for 'moon', taa'e-eHe'he. The
hyphen helps us to see more quickly that the first part of the word

means 'night' and the second part of the word means 'sun'.

Remember, the most important way to pronounce Cheyenne correctly
is to imitate a good speaker of Cheyenne very closely. Learning to
read and write Cheyenne can be helpful, but nothing takes the place
of learning from a real speaker. Listening to tapes of Cheyenne can
be helpful, but they cannot replace the experience of listening to
someone directly, and being able to watch how he shapes his mouth
as he speaks (this is especially true when you try to hear whether
a whispered vowel is &, &, or o!).

IMPORTANT: Be sure to read the introductory material on nouns and
verbs on the next several pages. Some very important concepts will
be explained, as well as the meaning of abbreviations such as 1-3,
x-11, obv., etc., which would otherwise be rather meaningless. Also,
refer back to the preceding page with ABBREVIATIONS AND SYMBOLS
whenever an abbreviation or symbol is not clear.
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ANIMACY 5

Every Cheyenne noun is either animate or inanimate. The terms
"animate" and "inanimate" are, of course, simply labels reflecting
the separate grammatical categories into which Cheyenne places all
nouns. Some generalizations can be attempted as to what kinds of
nouns belong to these two gender classes: nouns referring to
people, animals, spirits, and trees are animate. Some natural

objects are considered grammatically animate, perhaps because
of some spiritual function they have played--items here include 'sun'
'moon', 'star', and 'rock'. Some body-parts are animate, and

some articles of clothing or personal use are animate. A few other
items are also considered to be "animate'". The following lists are

illustrative:

ANIMATE NOUNS

vo 'éstane person

he'e woman
hetane man
ka'élkone child
véhoo'o chiefs
pbéso cat
vddtséva deer
vé'késo bird

ngtse eagle
vohkoehe rabbit
ma'heono sacred beings
séoto ghosts, corpses
mahta'sdomaho spirits
méstaeo'o spooks
hoohtséstse tree
Yéstoto'e pine tree
maxe log
h%stogmo'ke bark
mesehestoto potatoes
henene tomato
tde'he sun
taa'dele'he moon
hotbhke star
ho'honéeo'o rocks
hestahpe brain
hestsétato kidneys
mata'xevoto testicles
matanano breasts

mo ' efko finger
mahtseta'e gland
Estse'he shirt, coat
hoema blanket
hoestoto dresses
heva'keehestoto scarves
nehpe'hestotse diaper
tseene'éheono combs
hone'komo button
mata peyote, cactus, pickle
héhtséme ball

ma'xemeno
amaho "'hehe

apples (but, South. Cheyenne, ma'xemenotse, is inan.)
car (but, amaho'hestotse, 'car', is inanimate)



INANIMATE NOUNS

mo'e'éstse hay

hesdtseve root (of tree), trunk

heseovo'e sand

mo 'keha shoe

héhkéha'e hat

hoest4to belt

kahamaxe stick, wood

evo'sdeseo'o toy

amaho'hestotse car (but, amdho'hehe, 'car', is animate)

mo "e¥ko , ring (but, mo'eBko, 'finger', is animate)

me 'ko head, hair

mavétove body

ma'éxa eye

matonéle belly

ma'xemenotse apples (Southern Cheyennej but, ma'xemeno,
'apples', Northern Cheyenne, is animate)

maahe arrow

maheo'o house

he'e liver

he'Bo lung

ho'evohkoétse meat

SOME EXAMPLES TO MEMORIZE:

N&ho'ahenodtse pdéso. I want a cat.
N&ho'&henotse vadtséva. I want a deer.
Ného'ahendtse henene. I want a tomato.
Naho'ahendtse éstse'he. I want a shirt.
Niho'&hendtse héhtséme. I want a ball.
Naho'ahe mo'keha. I want a shoe.
N4ho'ahe hdhkéha'e. I want a hat.
N&ho'ahe hoestéato. I want a belt.
Naho'ahe maheo'o. I want a house.
N4ho'ahe ho'é&vohkdtse. I want meat.



PLURALIZATION

» All languages have ways of talking about one thing or person and
more than one thing or person. We call a noun which is talking about
only one thing or person 'singular" and one which refers to more than
one thing or person "plural". 1In the following lists there are some
singular and plural nouns. The first list will have animate nouns,
while the second list will have inanimate ones:

ANIMATE NOUNS

meaning

singular plural
ant hatsebke hat¥élkeho
baby mé'élevdtse mé' éHevoto
bean ménelke ménélkeho
bear nahkohe ndhkoheo'o
bee hahnoma hdhnomaho
cat pdéso pdesono
child ka'é¥kédne ka'&¥kdneho
clam hexovo hexovono
comb tseene'éheo'o tseene'éheono
corpse seo'dtse séoto
dog oelkeso oeBkéseho
dress hoestotse hoestoto
duck Hé"He Hé'Heo'o
feather mee'e méeno
finger mo'ebko mo ' eEkono
fly hése héseo'o
man hetane hetaneo'o
monster méhne méhneo'o
nighthawk pe'e pé'eo'o
pipe he'ohko he'&hkono
porcupine heBkovéstse he¥koveto
rabbit véhkoehe véhkoeheho
tomato henene heneno
animal hova hovédhne
chicken kokohéaxa kokohéaxane
deer vadtsédva vdotsevdhne
sheep kosa kosdne
tick meHe méléne
turtle ma'eno ma'endne
cantelope mahohko mahdhkodne
skunk xao'o xadne
beaver héma'e homa'e
dog hdtame hotame
goose héna'e hena'e
white man vé'ho'e vé'hd'e

horse
lion

~
mo'éh no'ha
nandse ' hame

'l/\'/
mo'eh no'hame
r N,
nanose ' hame



PLURALIZATION (cont'd)

INANIMATE NOUNS

meaning singular plural
airplane ame'hahtotse ame'hahtototse
arm ma'ahtse ma'ahtsenotse
axe hohkoxe hohkoxehotse
beard mé 'hahtse mé 'hahtsenotse
berry mene menotse

bone he'ko he'konotse
dish hetohko hetohkonotse
head me "ko mé'konotse
road meo'o méondtse

shoe mo'keha mo'kéhanotse
bead onéhavo'ke onéhavo 'késtse
belt hoestato hoestatdnéstse
bowstring ma'tano ma'tandnéstse
coin, money ma'kaeta ma'kaetanestse
day ele édénéstse

fire ho'esta ho'estdnéstse
hat hohkéha'e héhkéha'éstse
fishhook nonondd'e nondndd' éstse
land ho'e ho'estse

river 6'he'e o'he'éstse

(See the section entitled PLURALIZATION, toward the end of these notes,

for a fuller list of singular and plural nouns. Also, study the Cheyenne-
Fnglish Student Dictionary for other nouns.)

When we first start to study the lists of singular and plural
nouns, it looks like Cheyenne has a bewilderingly large number of ways
to indicate that nouns are plural. Besides some other spelling changes,
for inanimate nouns, to change a noun from singular to plural it looks
like we can add suffixes like the following: -0tse, —-notse, —-stse,
-néstse. It looks like there are even more '"pluralizers' for animate
nouns. When we look at singular animate nouns we see that we can make
them plural by adding suffixes such as: -ho, -no, -o'o, -ne, -hne.
There are some other changes with spelling and pitches too. The situation
looks confusing, doesn't it!

But, in reality, we can reduce all the pluralizers to four main ones,
two for animate nouns, and two for inanimate nouns. This greatly
simplifies the picture. But in making the pluralizers "simpler' we have
to pay a price. The price we pay is that we have to introduce some
abstract, technical notions. We must be able to view the spelling of
words a little differently from the way we actually pronounce the words.
A complete explanation of these matters would not be appropriate in this
introduction to nouns. (The reader who is interested in technical things
can study the later sections entitled PLURALIZATION, EQUATIVE SENTENCES,
and PHONOLOGICAL RULES.) We will attempt a brief explanation of the
pluralizers here, and trust that this will be sufficient for a beginning



PLURALIZATION (cont'd)

understanding of how singular and plural nouns are related in Cheyenne.

The two animate pluralizers are -o and -é. The two inanimate
pluralizers are -ot and -ét (these last two will actually be pronounced
with spellings such as -0tse and -éstse). If we create an abstract
spelling for a noun that is usually the same as the singular spelling or

else half-way between the singular and plural spellings, we can get by

with using just the four pluralizers.

The "abstract spelling" is

justified on technical grounds, but it will not be further explained

here.

It is enough, here, to say that from the abstract spelling we

can get the "pronunciation spelling" for both the singular and plural
Let's look at some examples to see how this works:

forms of a noun.

ANIMATE NOUNS

meaning singular abstract spelling plural
ant hitselke hatselkeh hat¥élkeho
baby mé'élevotse mé'elevot mé' &8evoto
bean mbnele ménelkeh ménébfkeho
bear néhkohe néhkohe néhkoheo'o
bee héhnoma héhnomah héhnomaho
cat pééso péesén pbesono
clam hexovo hexovén hexovono
V2 [ 14 1 £

comb tseene 'eheo'o tseene &heon tseene'eheono
duck HE'Ye ugrué '¥eo'o
feather mee'e méen méeno
rabbit vbhkoehe véhkoeheh vbhkoeheho
animal ‘hova hovahn hovéhne
chicken kokohédxa kokoh&axan kokohéaxine

ré._ 2 7 . ’ P
deer vaotseva vaotsevahn vaotsevahne
sheep kosa kosén kosdne
skunk xao'o xabn xabne

INANIMATE NOUNS

ma'ahtsen

arm ma'ahtse ma'ahtsenotse
axe hohkoxe hohkoxeh hohkoxehotse
bone he'ko he'kon he'konotse
shoe mo'keha mo'kehan mo'kehanotse
Vd VAR 4 v # o
belt hoestato hoestaton hoestatonestse
s 1 ] i .
coin ma kaeta ma'kaetfn ma kaeganestse
fire ho'esta ho'estén he'éstanéstse
Y o ° Py e
hat héhkéha'e héhkeha' hohkéha'éstse

We have left off the dots over vowels in the abstract spellings. And,
actually the abstract spellings given here are not quite as abstract as
they can be, but the spellings given here will help us understand the
pluralizers, without being too confusing.
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Let's try to get some singular and plural pronunciation spellings
by using the abstract spellings. The abstract spelling for 'bean' is
ménelkeh. If we add its pluralizer, -o, we get the proper spelling for
the plural, mdnéfkeho. If we subtract the -h from the end of the
abstract spelling, we get the proper spelling for the singular, mbnelke,

If we add the =0 pluralizer to the abstract spelling for 'cat',
poeson, we get poesono, the correct plural spelling. If we subtract
the -n in the abstract spelling, we get the correct singular spelling,
poeso.

The abstract spelling for the word 'duck' is the same ‘as the singular
spelling for the word, H&' §e. If we add the pluralizer -o, we get
Y€'8eo. Obviously, this isn't quite the proper spelling for the plural,
so something else must happen. This "something else' is a technical
process called "Vowel-Stretching'. It is something like an echo. The
end of the word "stretches" out with a kind of "echo" sound since there
will be a glottal stop that "pops in'--and we get the correct spelling
for 'ducks', namely ¥&'Heo'o. (This process is described in the later
section entitled PHONOLOGICAL RULES.)

When we add the -& pluralizer to the abstract spelling for 'animal',
we get the proper plural spelling for 'animals', hovdhne. When we
subtract ~hn from the abstract spelling, we get the proper singular
spelling, hova.

The same process works with the inanimate nouns. We have said
that the inanimate pluralizers are =-ot and —-et. We have also said that
when we actually pronounce the plurals there will be an additional -se
added on to these pluralizers. Keep this in mind as we study a few
inanimate words!

When we add -oOtse to the abstract spelling for 'bone', he'kon, we
get the proper plural spelling, he'konotse. When we subtract -n from
the abstract spelling, we get the proper singular spelling, he'ko.

When we add -Otse to the abstract spelling for 'axe', hohkoxeh,
we get hohkoxehotse. Then after putting in the needed dot over the
second -0, we get the correct pronunciation spelling for the plural,
'axes', mamely, hohkoxehotse.

If we add the other inanimate pluralizer (having a pronunc1at10n
spelling of -éstse) to the abstract spelling for 'belt' hoestaton,
we get the proper spelling for the plural, hoestatonestse. When we
subtract the -n from the abstract spelling we get the proper spelling
for the singular, hoest4to.
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Probably all languages have ways of saying that things belong to
certain people. Cheyenne has regular ways of saying things like
'my house', 'your boat', 'his daughter', 'our car', etc. Some commonly
used possessed nouns are listed on the next few pages. Study them as
they will be useful for you as you speak Cheyenne.

The noun prefix which means 'first-person' is na-. The prefix
which means 'your' is ne- and the prefix which means 'third-person’
is he-. A few nouns will have prefixes other than these, for instance,
né'téve means 'my brother-in-law' and &'téve means 'your brother-in-law'.
These other prefixes exist because of Cheyenne's relationship to other
Algonquian languages, and the way the corresponding words are pronounced
in the other Algonquian languages. It would probably be best just to
memorize the words with these other prefixes. The words with those
kinds of possessive prefixes are not nearly so common as possessed
words having the '"regular" prefixes given above, na-, ne-, and he-.

English has just one word for a first-person plural, namely, 'we'.
But Cheyenne has two ways of talking about 'us'. They have different
meanings. We will call these two ways, ''first-person plural (exclusive)"
and "first-person plural (inclusive)". Both are translated by the
English words 'we' or 'us'. The "exclusive 'we'" is talking about US
but not YOU--it excludes YOU. (The English 'we' can 'include' YOU,
the person being spoken to.) The "inclusive 'we'" is referring to ME
and YOU, the person being spoken to (and maybe other people are included,
too)=-so it "includes" YOU. Throughout these notes the "first-person
plural (we) (exclusivel' is abbreviated by the two numbers "11". The
"first-person plural (inclusive)" is abbreviated by "12".

Let's illustrate this by some examples:

s 2 L
namaheonane means 'our house'(but it isn't 'your' house)

nemdhednane means 'our house'(it belongs at least to YOU and ME, and
maybe to others)
"our child (exclusive)'

our child (inclusive)’

O,
nanesonehane means

rd o
nenesonehane means '

"our friend (excl)'

our friend (incl)'

’ )
eesegehane means
ésenehane means '

A special aspect of Cheyenne grammar deserves comment here. When
a third-person animate noun is possessed by a third-person (he, she, or
them), the noun becomes ''obviated'". This is something like saying that
the animate noun "moves out of the spotlight'. The noun receives
special marking when it is "obviated'". Much of the time this special
marking is identical to the marking the noun receives when it is
pluralized. When obviation occurs, we cannot tell if the noun is singular
or plural-—it can be either. Compare the following forms:

nae'ha 'my son' and hee'haho 'his son, or, his sons'
nahtotse 'my pet' and hestotseho 'his pet, ox his pets'
naméléme 'my grandfather' and heméHemo 'his grandfather(s)'
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namahednotse
nemahednodtse
hemahednotse
namahednandtse
nemahednandt se
nemahednevdtse
hemahednevdtse

nasémonot se
nésémonot se
he sémonot se
nasémonandt se
nésémonandt se
nésémonevdtse
hesémonevdt se

namaahdtse
nemaahdtse
hemaahdtse
namaahandt se
nemaahandtse
nemaahevdtse
hemaahevdtse

naamaho?héstototse
neamaho?héstototse
heamaho?héstototse
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my houses
your houses
his houses
our (excl.) houses
our (incl.) houses
yvour (pl.) houses
their houses

my boats

your boats

his boats

our (excl) boats
our (incl) boats
your (pl) boats
their boats

my arrows

your arrows

his arrows

our (excl) arrows
our (incl) arrows
your (pl) arrows
their arrows

my cars
your cars
his cars

namaheo?0o my house
nemaheo?0 your house
hemahec?o his house
namahednane ~our (excl.) house
nemahednane our (incl.) house
nemahedndvo your (pl.) house
hemahedndvo their house
nasémo my boat

nésémo your boat

hesémo his boat
nasémdnane our (excl) boat
nésémonane our (incl) boat
néséménévo your (pl) boat
hesémdnévo their boat
namaahe my arrow

nemaahe your arrow
hemaahe his arrow
namaahane our (excl) arrow
nemaahane our (incl) arrow
nemaahdmévo your (pl) arrow
hemaahdmévo their arrow
naamaho?héstotse my car
neamaho?hdstotse your car
heamaho?héstotse his car-
naamaho?héstdéndne our (ex) car
neamaho?héstonane our (in) car

neamaho?héstdévévo
heamaho?héstévévo

your (pl) car
their car

naamaho?héstonandt se
neamaho?héstonandtse
neamaho?héstovevdtse
heamaho?héstovevdtse

our (ex) cars
our (in) cars
your (pl) cars
their cars

nétove my body

dtove your body
hevétove his body
nétovane our (excl) body
dtovane our (incl) body
dtovevo your (pl) body
hevétovevo their body
namdtseske my knife
nemdtdedke your knife
hemdtseske his knife
namétdedkdne our (excl) knife
nemdt$édkane our (incl) knife
nemdtsedkévo your (pl) knife

hemdt geskévo

Ié Ve v
namotiseskame

7 Ve v
nemotseskame

7 Ve v
hemotseskame

7 Ve v —
namotseskamane

Id Ve v
nemotseskamane

1d Ve v —
nemotseskamevo

14 ve v -
hemotseskamevo

their knife

my knife

your knife

his knife

our (excl) knife
our (incl) knife
your (pl) knife
their knife

Id Id

netovanotse
7 ’
étovanotse
7 ’
etovevotse

Id 7
hevetovevotse

7 ve v e
namotseskehotse
s ve v L
nemot seskehotse
I Ve v °
hemotseskehotse
4 Ve v 1d
namotseskanotse
’ Ve v ’
nemotseskanotse
7 ve v 14
nemotseskevotse

our (excl) bodies
our (incl) bodies
your (pl) bodies
their bodies

my knives

your knives

his knives

our (excl) knives
our (incl) knives
your (pl) knives

hemdtgeskevdtse

4 ve v °
namotseskamotse

14 ve v .
nemotseskamotse

’ Ve v hd
hemotseskamotse

7 Ve v 7
namotseskamandtse

7 Vv e v Id
nemotseskamanotse

7 Ve v Ié
nemotseskamevotse

14 v e v Id
hemotseskamevotse

their knives

my knives

your knives

his knives

our (excl) knives
our (incl) knives
your (pl) knives
their knives



POSSESSIVES—=-=inanimate nouns

navée’e
neveée te
hevég?e
navéenane
nevéenane
nevéenevo
hevéengvo

navdéhkeha?e
nevdhkéha?e
hevdhkeha?e
navéhkeha?ane
nevdéhkeha?ane
nevdhkeha?evo
hevdhkehe ?evo

nahto?e
nésto?e
hesto?e
nahto?ane
nesto?ane
nesto?evo
hesto?evo

namo?keha
nemo?keha
hemo?keha
namo?kéhanane
nemo?kehanane
nemo?kehanevo
hemo?kehanevo

A
ma?texa

A
na?zexa

A
nerexa
he 2&xa

’ Y4
na’exaene
ne?éxaene

Id 4
nerexaevo
he?2éxdévo

hesta
mahtsesta
nahtsesta
néstsesta
hestsesta
nahtséstdhdne
néstséstahane
néstsestahdvo
hestséstéhdvo

my tepee

your tepee

his tepee

our (excl) tepee
our (incl) tepee
your (pl) tepee
their tepee

my hat(héhkéha'e,hat) navéhkéhid?éstse

your hat

his hat

our (excl) hat
our (incl) hat
your (pl) hat
their hat

my land (ho?e,land)
your land

his land

our (excl) land
our (incl) land
your (pl) land
their land

my shoe, moccasin
your shoe

his shoe -

our (excl) shoe
our (incl) shoe
your (pl) shoe
their shoe

someone's eye (x-1I)
my eye

your eye

his eye

our (excl) eye

our (incl) eye
your (pl) eye
their eye

heart

someone's heart

my heart

your heart

his heart

our (excl) heart
our (incl) heart
your (pl) heart

their heart
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navéenotse my tepees
nevéenotse your tepees
hevdenotse his tepees
navéenandtse our (excl) tepees
nevéenandtse our (incl) tepees
nevéenevdtse your (pl) tepees
hevéenevdtse their tepees
my -hats
nevéhkéha?estse  your hats
hevdhkehé?éstse  his hats
navdhkeha?andtse our (excl) hats
nevéhkeha?andtse our (incl) hats
nevdhkeha?evdtse your (pl) hats
hevdhkéha?evdtse their hats
nahto?estse my lands
nésto?éstse your lands
hesto?estse his lands
nahto?andtse our (excl) lands
neésto?andtse our (incl) lands
nésto?evdtse your (pl) lands
hesto?evdtse their lands
namo ?kehanotse my shoes
nemo?kehanotse your shoes
hemo?kehanotse his shoes
namo?kéhanandtse our (excl) shoes
nemo?kéhanandtse our (incl) shoes
nemo?kehanevdtse your (pl) shoes
hemo?kehanevdtse their shoes
ma?éxanestse someone's eyes (x~IT)
na?éxanestse my eyes
ne 2éxdnéstse your eyes
 he?éxanéstse his eyes
na?éxaendtse our (excl) eyes
ne 28 xaendtse our (incl) eyes
ne ?éxaevdtse your (pl) eyes
he 2éxaevdtse their eyes
hestahotse hearts
mahtsestahotse someone's hearts
nahtséstahotse my hearts
nestséstahotse your hearts
hestséstahotse his hearts
nahtséstdhandtse our (excl) hearts
néstséstédhandtse our (incl) hearts
néstsestdhevétse your (pl) hearts
hestséstdhevdétse their hearts
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nahtotse my pet (1-3)
néstotse your pet (2-3)
hestotsého his pet (3-4)
nahtotséhdne our (ex) pet (11-3)
néstotséhane our (in) pet (12-3)
neéstotséhévo your (pl) pet(22-3)
hestotséhevého their pet (33-4)
nazne my older brother
nene your older bro.
he?ného his older bro.
na?néhdne our (ex) o. b.
ne?néhane our (in) o.b.
ne?néhévo your (pl) o.b.

he ?néhevdho their older bro.
navéhoname my chief
nevéhoname your chief
hevéhonamo his chief
navéhonamane our (ex) chief
nevéhonamane our (in) chief
nevéhoname vo your (pl) chief
hevéhonamevbho their chief

nanéso my child (begotten)
nenéso your child
henésono his child
nanésdénéhdne our (ex) child
nenésonehane our (in) child
nenésdnehévo your (pl) child
henésonéhevého their child
naka?éskdnehame my child
neka?eskénehame your child
heka?eégkdénéhamo his child
naka?egkdnehamane  our (e) child
neka?é$kénehamane  our (i) child
neka?edkdnehamevo  your (p) child
heka?éskdnehamevého their child
namé?esevotame my baby
nemé?edevotame your baby

hemé ?e$evotamo his baby

namé ?e$evotamane our (ex) baby
nemé?edevotamane our (in) baby
nemé?esevotamevo your (pl) baby
hemé?édevotamevého their baby
name my older sister
neme your older sister
hemeho his older sister
namehane our (ex) o. sister
nemehane our (in) o. sister
nemehavo your (pl) s. sister
heméhevého their older sister

nahtotsého
nestots&ho
hestotsého
nahtotséhandd?o
néstotséhandd?o
nestotséhevdd?o
hestotséhevdho

na?ného
ne?ného
he?ného
na?néhaneo?o
ne?néhaneo?o
ne?néhevdd?o
he?néhevdho

navéhonamo
nevéhonamo
hevéhonamo

’
navehonamaneo?o
nevéhonamaneo?o

7 vV
nevehonamevoo?o

’ 4
hevehonamevoho

nanésoneho
nenésoneho
hendsono
nanésonehaneo?o
nenésonéhaneo?o
nenésonehevoo?o
’ . s
henesonehevoho

naka?eskdnehamo
neka?éskdnehamo
heka?eskdnehamo
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my pets (1-33)

your pets (2-33)

his pets (3-4)

our (ex) pets (11-33)
our (in) pets (12-33)
your (pl) pets(22-33)
their pets (33-4)

my older brothers
your older brothers
his older brothers
our (ex) older bros.
our (in) older bros.
your (pl) older bros.
their older brothers

my chiefs

your chiefs

his chiefs

our (ex) chiefs

our (in) chiefs

your (pl) chiefs
their chiefs

my children

your children

his children

our (ex) children

our (in) children

your (pl) children
their children

my children
your children
his children

naka?édkdénéhamaneo?0 our (e) children
neka?é$kdnehamaneo?0 our (i) children
neka?eskdénehamevdd?o your (pl) children

heka?é£kdnéhamevdho

’ & v
namé?esevotamo
nemé?esevotamo
hemé?&gevotamo

their children

my babies
your babies
his babies

namé?esevotamanso?0 our (ex) babies

nemé?édevotamaneoc?0 our (in) babies
P~y vV R

neme?esevotamevoo?0 your (pl) babies

° 7
hemé ?esevotamevoho

nameho

neme

hemeho

namehaneo?0o

nemehaneo?o
he Vv

nemehevoo?o
° i

hemehevoho

their babies

my older sisters
your older sisters
his older sisters
our (ex) o. sisters
our (in) o. sisters
your (pl) o. sisters
their older sisters
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naoeskéséhame my dog
neoedkeséhame your dog
heoegkéséhamo his dog
naceskeéséhamane our (ex) dog
neoegkeséhamane our (in) dog
neoeskéséhamevo your (pl) dog
heoedkéséhamevého  their dog
naséotame my corpse, ghost
nésdotame 2-3
hesdotamo 34
naséotamane 11-3
néséotamane 12-3
néséotamevo 22-3
hesdotamevdho 33-4
nama?hednéhame my god
nema?hednehame

hema?hednehamo

nama?hednehamane
nema?hednehamane
nema?hednehamevo

e &
hema?hednehamevdho

nétame

dtame
hevétdme
nétamane
étamane
dtamevo
hevétamevdho

né?ﬁéve
é2tove
hevé?tovo

’ & &
ne?tdvane
I
e?tovane
, 2
e?tovevo

: e
hevé?tovevoho

namoxe 7eotséstotse
nemoxe?eotséstotse
hemoxe 2eot séstoto
namoxe 2eot séstdndne
nemoxe Peot séstonane
nemoxe 2eotséstdvévo

° ’ &
hemoxe?eotsestovevoho

my picture

nahko?éehe
nesko
hedke

my mother

° v
neskane
Y v —
neskevo
&
heskevoho

my bro-in-law (fem)

my bro-im=law (mas)

15
nacedkéséhamo my dogs
nedeskéséhamo your dogs
heoe$keséhamo his dog(s)

nadeskeséhamaneo?o our (ex) dogs
neceskeséhamaneo?o our (in) dogs
neceskéséhamevdd?o your (pl) dogs

heoedkésdhamevdho their dogd
naséotamo my corpses, ghosts
néséotamo 2-33
hesdotamo 3=4
naséotamaneo?o 11-33
nésdotamaneo?o 12-33
néséotamevdd?o 22-33
heséotamevého 33-4
nama?hednehamo my gods
nema?hednehamo

hema?hednehamo

nama?hednehamaneo?o
nema?hednehamaneo?o
nema?hednahamevdd?o
y_° e
hema?hednehamevoho

?
netameo?o
14
etameo?o
Id 14
hevetame
’
netamaneo?o
’
étamaneo?o
I d 4
etamevoo?o
, 7
hevetamevoho

né?toveo?o
é?2toveo
hevé?tove
né?tovaneo?o
é?2tovaneo?o
é2tovevddo
hevé?tovevdho

namoxe 2eotséstoto
nemoxe?eotséstoto
hemoxe ?eotséstoto
namoxe ?eotséstonaneo?o
nemoxe 2eotséstonaneo?o
nemoxe ?eot séstovevdd?o
hemdxe 2eot séstovevdho

my pictures

e v
neskaneo?o
e v v Vv
neskevgo?o
hegkevoho

my bros-in-law (fem)

my bros=imslaw (masc)
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nae?ha my somn nae?haho my sons
nee?ha your son nee?haho your sons
hee?haho his son hee?haho his son(s)
nae?hahane our (ex) son nae?hahaneo?o our (ex) sons
nee?hahane our (in) son nee?hahaneo?o our (in) sons
nee?hahévg your (pl) son nee?hahevdd?o your (pl) sons
hee?hahevbho their son hee?hahevdho their son(s)
nahtdna my daughter nahtdnaho my daughters
néstdna 2-3 néstdnaho 2-33
hestdnaho 3-4 hestdnaho 3-4
nahtdnahane 11-3 nahtdnahaneo?o 11-33
néstdnahane 12-3 neéstdénahaneo?o  12-33
nestdnahdvo 22-3 néstdnahevod?o  22-33
hestdnahevbho  33-4 hestonahevého  33-4
ného?ééhe my father
&ho
heho
néhéne néhaneo?o
éhane dhaneo?o
éhévo dhevdd?o
héhevého héhevdho
néséne my friend (male-ma) néseneo?o my friends (male-male)
éséne éseneo?o
hevésendho hevésendho
nésenéhdne nésenéhaneo?o
ésenéhane ésenéhaneo?o
ésenéhévo ésenéhevdd?o
hevésendhevdho hevésendhevdho
nésé?e my friend (f-f) nése?eo0?0 my friends(female-female)
ésée dse?e0?0
hevése?ého hevése?6ho

nése?aneo?o0, navése?aneo?o, nése?éhaneo?o
ése?aneo?0, nevése?aneo?o, ése?éhaneo?o

7’ - ’ = 7 4 Ié
nese?ane, navese?ane, neése?ehane
7
dse?ane, nevése?ane, ése?éhane

7’ - ’ v Vv
ese?evo , , ese?evo00?0
’ P4 rd
hevése?evdho hevése?amevoho hevése?evdho hevése?amevdho
[4
néske?ééhe my grandmother navéskemo my grandmothers
édkeme é<kemo
hevédkemo hevé<kemo
Vv — 14
neskemane neskemaneo?0
vV 7V
eskemane eskemaneo?0
Vv o— 7 Vv Vv
eskemevo eskemevoo?o
rd é

hevéskemevbho hevéskemevoho
name $éme my grandfather named&mo my grandfathers
nemé$éme neme Sémo
heme $&mo hemegémo
name $éméne namesémaneo?o
neme$émane nemeéémangg?o
neméémévo neme $émevoo?0o

e v/ 14 ° v oy d
hemesemevoho hemesemevoho



INTRODUCTION TO VERBS L

An understanding of its verbs is essential to a proper understanding
of Cheyenne. 1In a real sense the verb is the "heart' of the Cheyenne
language. A large portion of the remainder of these notes is devoted
to paradigms (lists) of verbs. The lists are organized according to
various important categories. The categories are given technical labels.
It is far more important that you understand what kinds of verbs are in
a category than that you understand what the technical label means.

A person can, of course, easily learn a language without knowing any
technical labels. Some people, on the other hand, find labels helpful.
If you wish to understand more about the meaning of a label, and there
is not enough explanation for it in these notes, you might get some help
from a standard English dictionary. Let us briefly look at some of the
categories used in these notes for organizing the presentation of verbs.

Do you remember what the difference is between transitive and
intransitive sentences? Briefly, a transitive sentence is one that has
an "object'", something or someone that is affected by the subject of
the sentence or which (who) receives some kind of action from the
subject. For instance, if we say '"He wrote a letter,”" we have a tramsitive
sentence. 'Letter' is the object of the sentence. The subject is 'he'.
An intransitive sentence does not have an object. There is just some
kind of an actor. For instance, the sentences "She is cooking' and
"It's raining'" are intransitive. From a technical standpoint, these
definitions are, of course, oversimplified, but they are sufficient to
help us get started in our understanding of Cheyenne verbs.

A Cheyenne verb is something like a "sentence', all wrapped up in
a single word. Many Cheyenne verbs can stand all by themselves. And
they can be translated by complete Engllsh sentences. For 1nstance,
éhoo'koho means "It's raining. Enéméne means "He's singing. "N4v6dmo"
means "I saw him." Naturally, we can add nouns to a Cheyenne verb, to
give even more information. e can say, "Hetane énéméne," which means
"The man is singing." '"N&védmo vidtséva," means "I saw a deer."”

In Cheyenne it is very important to know whether the subject of a
verb is animate or inanimate, and, if a verb is transitive, it is necessary
to know whether the object is animate or inanimate. Because of this we
can divide Cheyenne verbs into four main classes, (1) intransitive verbs
having animate subjects, (2) intransitive verbs having inanimate subjects,
(3) transitive verbs having animate objects, and (4) transitive verbs
having inanimate objects. People who have studied Algonquian languages,
such as Cheyenne, give the following abbreviated labels to these four
classes: (1) AI, which means Animate Intransitive:; (2) II, which means
Inanimate Intransitive; (3) TA, which means Transitive Animate; and
(4) TI, Transitive Inanimate.

Every Cheyenne verb can be related to one of these four classes.
The following chart shows this four-way division, and gives some examples
of verbs from each of the four classes: AI, II, TA, and TI.
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Al

? ° A
epéhevahe 'he's good'
14 ° 7 o
netahpeta 'you are big'
’ £ o
neho'sdehe 'Did you dance?
7Ay ’ eq # 1l v
naelemeséheme 'we already ate
7 A
enemeneo’'o 'they sang'
7 Id o
ema'ovese 'he has red hair’
’ ’
naovaxe 'T dreamed’
7 14 .
ehenesone ‘'she has a child’
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11

’ ° A .
epeheva'e 'it's good’

étahpé'o  'it's big'
éhoo'koho 'it rained'

A [T ] 1
evehpeha it's empty

QP4 T TR
etooome it's cool liquid
éhedvo 'it's yellow'

2 A Ié [ [
esetovoesta 'it's noon
7, A o

ehaocho'ta 'it's hot!

s e, 2 7 . .
napéhevano 'I fixed him up'

a4 .
navoomo 'T saw him’

7 A . .
nevoomohe 'Did you see him?'

LN f v 1
nameho 'ta he loves me
dahotovéstse 'Listen to me!'

A . o o

nasadoomdhe 'I didn't hit him'

IR T 1 (R
vestahememeno 'Help us!

TA

épéhévana 'he fixed it up'
névéohtahe 'Did you see it?'

émese 'he ate it!

A -
nasaahestandhe 'I didn't take it'
IS | [ PRI |
eho'tse he has it

7y ge. P 7 o
naho'ahenone 'we want it'
LTSGR N U SN | st
ehoxe'ananovo 'they cleaned it

T1

There are also other important categories for verbs in Cheyenne.
A verb can be positive, for instance, énéméne 'he sang'; or, it can be
negative, for instance, ésianémenéhe 'he did not sing'. A verb can
ask a question, for instance, énémenehe 'Did he sing?' 1In these notes,
verbs which ask questions are called "interrogatives'.

With verbs we can tell people to do things (give commands). In
these notes, "command" verbs are called "imperatives'. In Cheyenne a
verb can tell you if the action which is commanded is supposed to take
place immediately, for instance, méseestse ‘Eat!' In these notes, this
kind of command is called an "immediate imperative'. There is another

important kind of imperative.

With this kind of command,
take place later, for instance, né'dvah8sého'éhneo'o 'Come again!'

the action can
This

kind of command will be labeled a ""delayed imperative' in these notes.
Another kind of command in Cheyenne is translated with the English word
"let', for instance némeneha means 'Let him sing!' and nétaméséhema
means 'Let's eat!' This last kind of command is called a "hortative' in

these notes.

We can make another important division between kinds of Cheyenne

verbs. Some verbs can stand alone.
English sentences. We will call these verbs "independent'" verbs.

They can be translated by complete

There
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INTRODUCTION TO VERBS (cont'd)

are verbs which wusually need some other verb(s) to help them out.
From English grammar, this second type of verb would be called a
"dependent" verb. It has become traditional with people who study
Algonquian languages to use another label for this type, "conjunct'".

In these notes, the label "conjunct" will be used. But, remember that
you can used the label "dependent" if it is more meaningful to you.

Here are some examples of some independent verbs and some conjunct verbs:

INDEPENDENT VERBS

ndho'soo'e I danced.

ném8séhehe ‘ Did you eat?

méhnShonéhevohe (hetaneo'o) There must have been five (men).
és8avé'hoohtdhe He didn't look at it.

CONJUNCT (DEPENDENT) VERBS

tséhnéménése when he sang
tsénémenese those who are singing
&8hédédnatse whether he prayed
maxho 'ehnéstse when he comes

We will call the major categories, Independent, Conjunct, and
Imperative: "Orders'". Each order has two or more main subtypes. We
will call these subtypes '"modes'". A mode serves to tell us something
about how the speaker views the "action'" of a verb. TFor instance, if
a speaker does not know if something has happened, he can ask a question.
We will say that an "asking" verb is in the "interrogative mode". If
a speaker knows that something has happened, usually having seen it with
his own eyes, he simply makes a statement telling about the action. We
say that a verb of this type, for instance, émésehe 'he ate', is in the
indicative mode.

Modes are very important in Cheyenne. Verbs will be of different
modes depending on how a speaker has come by his knowledge. For instance,
if he has been told that something has happened (but has not seen it for
himself), he can use verbs in the "Attributive Mode'. Such verbs can be
translated with English words like "It is said that " or "'they' say
that ", Here are some examples: é&maneséstse 'It is said that he

drank," and doomdsesto 'It is said that he hit him.'
9

A commonly used mode type is the "Dubitative Mode". Using this
mode appears to ''tone down' an assertion, so that it doesn't sound too
strong. Verbs in the dubitative mode begin with mé-, and can be translated
with English words like "I guess ___ " or "It must be that ___". A
speaker may be quite sure that some action took place, but he can still
use the dubitative mode so that what he says about the action will not
sound too strong. Here are some examples of verbs in the dubitative
mode: mdhoo'kdéhéhanehe 'it must have rained', ménééleméséhehehe 'you
must have eaten already', and mohdombhtahéhéhe 'he must be sick'.

Another mode is the ""Mediate Mode'". Using this mode seems to give
an impression of "distance in space, concepts, or time'. Verbs of the
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mediate mode are often used in legends and folk-tales. Some examples
of verbs in the mediate mode are &hnémenéhoo'o 'he sang' and
éhpéhéva'éneho 'it was good'.

There are a variety of different modes as subtypes of the Conjunct
Order. We will not discuss these types in this introduction. Some of
the various Conjunct Modes are illustrated on following pages entitled
OVERVIEW OF CHEYENNE VERB SYSTEM when examples of Conjunct verbs are
given. There are further illustrations of the various Conjunct modes
later in these notes.

Before turning to the actual paradigms (lists) of verbs, we need
to be sure we understand some things about the 'person' system of
Cheyenne. English is one language that commonly uses pronouns to
tell what "person'" is doing the action of a verb. In English grammar
it is common to say that 'I' is first-person singular; 'you' is second-
person, and it can be either singular or plural; 'we' is first-person
plural, 'he, she, or it' are third-person singular, and 'they' is
third-person plural. Cheyenne, and many other languages of the world,
shows this same information by prefixes and suffixes attached directly
to a verb. In a way, we can say that the '"pronouns" are a part of the
verbs—--in technical language we say that Cheyenne verbs have pronominal
affixes (affixes can be either prefixes or suffixes).

To start out, we need to know that the basic first-person verb
prefix is né—, the basic second-person prefix is né-, and the basic
third-person prefix is &-. Notice how similar these are to the prefixes
which we saw used on possessed nouns a few pages earlier. One difference
is that the possessive prefixes, na-, ne-, and he-, have low pitches on
their vowels. The basic verb person prefixes have high pitches on their
vowels., (The high pitch will be gone with certain future tense verbs.)

Here are some examples using the verb prefixes:

s A

namesehe I ate.

némésehe you (singular) ate.
émésehe He (or She) ate,

To conserve space, number abbreviations are used for the various
"persons" throughout these notes. It would be very helpful for you if
you would memorize these abbreviations:

"1 first-person singular ("'I') x Unspecified (Subject)
2  second-person singular ("you')
3 third-person singular ("he" or ''she')
11 first-person plural (exclusive) ("we') (US but not YOU)

12 first-person plural (inclusive) ("we') (YOU and ME, maybe others)

22 second-person plural ("you')
33 third-person plural ('they')

In the discussion preceding the lists of possessed nouns, earlier,
it was mentioned that an animate noun becomes 'obviated" (moved out of
the spotlight) when it is possessed by a third-person. We will call the
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obviated person a "fourth-person'. TFor all of the other persons there
can be a singular or a plural. But, the fourth-person can be either
singular or plural. It was pointed out, earlier, for instance, that
hee'haho means either 'his son' or 'his sons'. We will abbreviate the
fourth-person with "4", 1If a fourth-person does some action, the verb
describing that action must be a little different from a verb with a
regular third-person. For instance,

b & F
enemene 3 he sang
/A ’ .
hee'haho énémencho & his son sang

The "regular'" third-person is sometimes called a "proximate" person,
while the fourth-person is sometimes called the "obviated" person, or
"obviative'.

Obviation will also occur when two third-persons are referred to
by the same verb, such as 'see'.The proximate forms of 'man' and "woman'
are hetane and he'e, respectively. Their obviative forms are hetandho
and he'bho, respectively. Notice what happens in the following sentences
when there are two third-persons. Look for obviation changes on the
nouns and on the verbs.

s 22
1-3 Navoomo hetane. I saw a man.
a4 ]
1-3 N?voomo he'e. I saw a woman.
Y4
2-3 Névoomo hetane. You saw a man.
/A 2. 2,
3-4 Hetane evoomdho he'odho. The man saw a woman.
s A Id Vs
3=4 He'e évoomoho hetanoho. The woman saw a man.

Sometimes the fourth-person does the action to the third-person. 1In
such a case, the transitive verb will look a little different from the
A . N . o
verb évoomoho, above, with the "3-4" person combination. For instance,

4-3 Helke &vomaa'e hgtané—ka'égkéhe.His (the boy's) mother saw the boy.
4-3 Hemeho évéstadhémia'e. Her big sister helped her.

Transitive verbs give information as to what persons are the subjects
and objects. The pronominal (person) affixes on transitive verbs follow
a typical Algonquian ''person-hierarchy'. Whenever a first-person or
second-person does something to a third-person (or fourth-person), the
affix for the first- or second-person appears as the verb prefix, and
the part that tells us that there is a third- or fourth-person object
looks something like a "suffix" on the verb. But, when the third- or
fourth-person acts on the first— or second-person, the first- or second-
person is still marked by the prefix, and the third- or fourth-person is
marked by a different "suffix'. This kind of person combination is called
"inverse" (the object is marked by the verb prefix); the first kind of
person combination mentioned is called "direct" (the subject is marked by
the verb prefix):

1-3 nﬁvéémo (direct) I saw him.
2-3 névoodmo (direct) You saw him.
3-1 navooma (inverse) He saw me.

7 A .
3-2 nevooma (inverse) He saw you.
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Verbs which only involve first- and second-persons are said to be
"local" forms. The Cheyenne person-hierarchy applies with local forms,
just as it does with the above-mentioned direct and inverse forms.
Whenever a second-person is either the subject or object of a Cheyenne
verb, that verb receives the second-person prefix, né-. This means
that second-person is the '"highest'" person on the Cheyenne person-
hierarchy. Note the following local forms:

7 A
nevoome You saw me.
’ A °
nevoomatse I saw you.
/ A hnd
nevoomatseme I saw you (plural).
s~
nevoomeme You (plural) saw me.

Each of these local forms has a second-person prefix, even though for
two of the forms second-person is the object of the verb.

Throughout these notes an inanimate '"thing! is abbreviated by "I"
(for "Inanimate'"). Singular inanimate will be abbreviated as "I", while
inanimate plural will be abbreviated by "II". Whenever animate persons
and inanimate "persons' interact in transitive verbs, in Cheyenne, verb
prefixes mark the animate persons, not the inanimate persons. This is
another way of saying that animate persons are higher on the person-
hierarchy than inanimate persons. Look at these examples:

1-I ného'&hdhta I came to it.
1-II ného'éhéhtandtse I came to them (inanimate).
I-1 naho'éhd'taa'e It came to me.

In the third form, here, the singular inanimate "thing" being talked
about is the "subject" of the verb, but, because it is lower on the
person-hierarchy than "me'", the first-person "object'" receives the prefix
marking. We can now show the order of persons on the Cheyenne person-
hierarchy:

2 second-person
first-person
third-person
fourth-person
inanimate-person

oW

Whenever action goes from a person higher on the hierarchy to one lower,
we can say that the action is "direct'--in this case the verb prefix
will mark the subject of the verb. Whenever action goes the other way,
from a person lower on the hierarchy to one higher, we can say that the
action is "inverse''--in this case the verb prefix will mark the object of
the verb.

The basic structure of a Cheyenne verb is as follows:
prefix-(tense)-(directional)=-(preverb(s))-root-(medial)-final

Elements in parentheses ( ) are optional; some verbs do not have them.
A "directional' marker tells whether the action of the verb is coming
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INTRODUCTION TO VERBS (cont'd)

"toward" (often, toward the speaker) or going "away" (often, away from
the speaker). 1If it is "toward", one of the following will be present:
-neh~, -nex-, -ne'-, or -nes-. If it is "away'", there will be a -ta-.

The reader should turn to the topics sections in the later parts
of these notes for further information on TENSE, PREVERBS, ROOTS,
MEDIALS, and FINALS. Each of these categories is an important part of
Cheyenne verbs. Briefly, TENSE tells "when" some action took place,
PREVERBS modify the main idea of the verb in a kind of "adverbial”
fashion. The ROOT is the core, the main idea, of a verb. MEDIALS
give special noun-like information about something that is associated
with the ROOT.

All verbs have FINALS. The section which concentrates on FINALS,
later, deals mostly with "concrete" finals, finals which, for instance,
tell whether some action was done with your hand, your foot, a tool,
heat, etc. It would be appropriate here to point out some of the
"abstract" finals which appear in Cheyenne verbs.

A common Inanimate Intransitive (II) final is -4, seen as the last
vowel of the following II verbs:

étahpé'o It is big.
éhoo'koho It is raining.
étonéto It is cold.
éhedbvo It is yellow.
émi'o It is red.

A common Animate Intransitive (AI) final is -e, seen as the last
vowel of. the following AI verbs:

émesehe He ate.
émane He drank.
ého'soo'e He danced.
évovéstombsane He taught.
épehévahe He is good.

There are several important Transitive Animate (TA) abstract finals.
Most Transitive Inanimate (TI) end in either -4 or -é. 1In the following
list the root English meaning will be given, then TA and TI verbs with
their finals in parentheses, ( ). We will consider the part in parentheses
before a hyphen to be the actual "final" and the part after the hyphen to
be an "Object Agreement Marker'" (or, in the case of inverse TA forms, a
"Subject Agreement Marker'')--OAM's and SAM's give us information about
the persons involved in the verbs:

see 1-3: navdédmo (m-34) 1-I: navddhta (ht-3)

carry 1-3: ndameotseho (h-9) 1-I: naameotsestse (t-é&)
love 1-3: ndméhd'to ('t=94) 1-I: naméhdhta (ht-3)

be good to 1-3: népéheve'tovo ('tov-4)1-I: ndpéhévé'ta ('t-4)
make 1-3: nédmaneho (h-4) 1-I: ndmanestse (ht-8)
break 1-3: nde'e'6'ho ('h-9) 1-I: nae'e'o'tse ('t-é)
dampen 1-3: ndhe'kdovo'to ('t-48) 1-I: ndhe'kdovohtse (ht-&)
find 1-3: namé'dvo (ov=9) 1-I: namé'a (@-3)

have 1-3: nahd'ho ('h-9) 1-I: nahd'tse ('t-é)
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OVERVIEW OF CHEYENNE VERB SYSTEM

(Roman numberals designate ORDERS. Capital letters designate MODES.
In general, each mode can have the full expansion of positive/negative,
transitivity, and animacy categories given for INDEPENDENT INDICATIVE.)

I. Independent

A, Indicative
1. Positive
a. Intransitive
(1) Animate subject (AI)
(2) Inanimate subject (II)
b. Transitive
(1) Animate object (TA)
(2) Inanimate object (TI)
2. Negative
a,. Intransitive
(1) Animate subject (AI)
(2) Inanimate subject (II)
b. Transitive
(1) Animate object (TA)
(2) 1Inanimate object (TI)

Interrogative
Dubitative

Attributive

H o o W

Mediate

II. Conjunct (Dependent)
Indicative
Subjunctive

Iterative

Subjunctive Iterative
Participle

Interrogative

Obligative

ts w N ep = B s B w N 0 T o~ B

Optative

=

Intensive Negative

III. Imperative

A, Direct
1. Immediate
2. Delayed

B. Hortative
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EXAMPLES OF VERB TYPES

Cheyenne forms will be given with an English translation. Then a verb
type label will be given. The label will be taken from the outline of
the verb system on the preceding page. Positive and negative categories
will be self-explanatory from the English translation. The abbreviations
AL, II, TA, and TI will be used. So, for example, a label "I.A.AI" will
mean that the verb given is of the Independent order, Indicative mode,
and that it is intransitive with an animate subject. One would need to
look at the translation to see if the verb is positive or negative.

épéhévahe He's good. I.A.AT
ésaapéhévahéhe He's not good. I.A.AT
épéhévahehe Is he good? I.B.AI
ésaapéhévahehehe Isn't he good? I.B.AT
mépéhevahehehe I guess he's good. I.C.AI
épéhevaheséstse He is said to be good. I.D.AT
ésaapéhévaheheséstse He is said to be not good. I.D.AI
éhpéhévahehoo'o He was good. I.E.AT
ésaapéhévahehehoo'o He wasn't good. I.E.AT
péhévaestse Be good! IIT.A.1.AI
péhévaheo'o Be good! IIT.A.2.AI
péhévaheha Let him be good! IIT.B.AI
sdapéhévaheheha Don't let him be good! III.B.AI
épéheva'e It is good. I.A.II
éhoo'koho It's raining. I.A.1T
ésohpeohtséto It came through. I.A.IT
épéhévahéstove There is being good(Impersonal).Il.A.II
ésaapéhéva'éhdne It's not good. I.A.1I
épéheva'ehe ‘ Is it good? I.B.II
mépéheva'éhanehe I guess it's good. I.C.1I
épéhéva'enése It is said to be good. I.D.1I
épehéva'éneho It is good. I.E.IT
napéhévano I fixed him up (by hand). I.A.TA
nasaapéhévandhe I didn't fix him up. I.A.TA
népéhevanohe Did you fix him up? I.B.TA
mépéhévandhevohe He must have fixed him up. I.C.TA
épéhevandsesto He is said to have fixed him up.I.D.TA
éhpéhévandhoono He fixed him up. I.E.TA
péhévaneha Fix him up! III.A.1.TA
péhévanoo'o Fix him up! III.A.2.TA
péhévanoha Let him fix him up! III.B.TA
épéhéviana He fixed it up. I.A.TI
ésaapéhévandhe He did not fix it up. T.A.TI
népéhévanahe Did you fix it up? I.B.TI
mépéhévandhehe He must have fixed it up. I.C.TI
épéhevandnodse He is said to have fixed it up. I.D.TI
éhpéhévananoho He fixed it up. I.E.TI
péhévénotse Fix it up! IIT.A.1.TI
péhévanomeo'o Fix it up! ITI.A.2.TI
péhévanoha Let him fix it up! IIT.B.TI



EXAMPLES OF VERB TYPES (cont'd)

’ ° A
tsehpehevaese
° ° 14
mahpehevaestse
° ’
ho'pehevaestse
° ° 14 ° °
ohpehevahesestse
14 e A
tsepehevaestse
|84 . A
eopehevaestse
’ e A ° e
ahpehevahesestse
’ e ’
momoxepehevaestse
14 ’ ®
moho 'nopéhevaestse

tséhpéhéva'e
mahpéhéva'e
maxhoo'koho
ho'pehéva'e
ho'hoo'koho
oxhoo'kohoo'éstse
ohpéhéva'ee'éstse
tsépéhéva'e
éépéhéva'e
dhpéhéva'ee'éstse
axhoo'kohoo'éstse
moméxepehéva'e
momoxehoo 'koho
mSho'ndépéheva'e
mdho 'ndhoo ' koho

° A
tséhpeéhevano
° ° ’
mahpehevano
° 14
ho'péhevano
° ° Id 3
ohpéhevanoo'éstse
Id e A
tsepehevano
e ° A °
eopehevanotse
’ L) A °
ahpehevanosestse
14 13 ’ °
momoxepehevanotse
4 1 14 ° Id Id °
moho 'nopehevanotse

tséhpéhevandmo
mahpéhévandmo
ho'péhévandmo
ohpéhévanomondtse
tsépéhevandmo
édpéhévanomo
dhpéhévanomoséstse
momoxepeéhévanomo
mdho 'népehévano

when he was good

when he is good (unrealized)
whenever he is good

when he 1s good (in general)
the one who is good

whether he is good

he ought to be good

I wish he would be good.

no doubt he is not good

when it was good

when it is good (unrealized)
when it rains (unrealized)
whenever it is good
whenever it rained

when it rains (in general)
when it's good (in general)
the one which is good
whether it is good

it should be good

it should rain

I wish it would be good.

I wish it would rain.

no doubt it was not good
no doubt it did not rain

when I fixed him up

when I fix him up (unrealigzed)
whenever I fix him up

when I fix him up (in general)
the one who I fix up

whether you fixed him up

you ought to fix him up

I wish you would fix him up.
no doubt he did not fix him up

when I fixed it up

when I fix it up (unrealized)
whenever I fix it up

when I fix it up (in general)
what T fixed it up

whether you fixed it up

you ought to fix it up

I wish you would fix it up.
no doubt he did not fix it up

IT.A.AT
IT.B.AI
IT.C.AI
II.D.AL
IT.E.AI
IT.F.AT
IT.G.AT
IT.H.AT
IT.I.AL

IT.A.IT
IT.B.II
IT.B.ITI
II.C.II
IT.C.IT
IT.D.II
IT.D.II
IT.E.IT
IT.F.II
IT.G.IT
IT.G.II
IT.H.II
IT.H.IT
IT.T.IT
IT.T.IT

IT.A.TA
II.B.TA
IT.C.TA
IT.D.TA
II.E.TA
II.F.TA
IT.G.TA
IT.H.TA
IT.I.TA

IT.A.TI
IT.B.TI
IT.C.TI
IT.D.TI
II.E.TI
IT.F.TIL
IT.G.TI
IT.H.TI
IT.I.TI

26



ANIMATE INTRANSITIVE INDEPENDENT INDICATIVE 27

7 &4 7
navoosane 1-1 saw, see
&4 14

névddsane 2 - you saw

7 4 14

evoosane 3 = he saw

£ A 4 . .
évoosanoho 4 -he (obviative) saw
V4 A -
navoosaneme 11-we (excl) saw
nevoosanema 12-we (incl) saw
£ A —-—
nevoosaneme 22-you (pl) saw

évdosaneo?o 33= they saw

ndtahpeta
nétahpeta
dtahpeta
étahpetého
ndtahpetame
nétahpetama
nétahpetame
étahpetao?o

I am big

Ve
ngmésehe I ate
némésehe

2 A

emesehe

2P, P

emesehoho

P
namésehéme

>
némésehema
némésehéme

s A _ e

émeseheo?o
ndovese I went to bed
néovese

dovese

’ ° v Z

eovesenaho
ndovedename
néovedenama
néovedename

éovedena, dovesdenao?o

nédhovénee?e
7 ’
nehovanee?e
14 Id
éhovanee?e
V4
dhovéneehdho
ndhovéneeheme
néhovéneehema
néhovaneeheme
7 /4
echovaneeheo?0

I was gone, died

I d 14 14
nénéméne
nénéméne

V4
énéméne
A Id
énémendho
nénémeneme
nénémenema
nénémeneme
énémeneo?o

I sing, sang

(Note:

ndnaa?e I died, am dying
nénaa?e  you died
énaa?e  he died

énacho  he

nénaeme we (excl) died
nénaema we (incl) died
nenagme  you (pl) died
énaeo?0 they died

(obv) died

ndho?sdd?e
ného?sdd?e
dho?sdd?e
ého?sddbho
ného?sdééme
ného?sdema
ného?sdéme
dho?sdeo?o

I danced

14
namea?a
némea?a

émea?a

14 ’ p

emeaho

7 r ’
namédme

V4
neméama
némédme

eméao?o

I gave (away)

néné?péé?o I peaked
14 Id Y& 4

nene?poo?o

I Ié /&4

gne?poo?g
en§?poo?oho

Pd -
nani?poo?ome

Ve

neng?poo?oma

/ =
nene?poo?ome

4 A

ené?poo?00?0

14 (a4
nanee?e I stood
’ ’ 7
nenee’e

’ 14
enee’e

LS L7
enee?oho
nanééme
A
nénéema
nénééme
endeo?o
3 ’
nanéméne I have a crooked face
’ 14

nénéméne

énéméne

Jd I 14 V4

enemenocho

nénéménéme

Vi

nénémenema

nénéménéme

4

énémeneo?o

12 ("we'"--inclusive) forms can have an additional /-né/, e.g.
Id 4 Ié 7 B [] 7 Id e Id ’ [] . ]
neho?scemane 'we (incl) danced', nemésehemane 'we (incl) ate'.
given in the paradigms are most common, however, for AT Indep. Indicative.)

The forms



ANTMATE INTRANSITIVE INDEPENDENT INDICATIVE

Id a4
nahaeana
Id ? 7
nehaeana
éhddéna

A Ve
€hdeanaho
ndhdeaname
/A
nehaeanama
yd —
neéhaeaname
Id
éhdeanaon?o

~ U~

I am hungry
2
3
A
11
12
22
33

nanomene I drank (e.g. coffee)

n€ nome ne
gnomene
&nomendho
ndnome neme
ne nomenema
né nome neme
€nomeneo?0

14 1 d 14 I é
namehosane
’ Id ’ ’
nemehosane
14 Id Ie ?
emehosane
T V4
emehosanoho
Vd & —
namehosaneme
A
néméhosanema
i =
néméhosaname
£ A
émehosaneo?0o

£ A
nahaoonaa?e
néhdoonaa?e
éhdoonaa?e
éhdoonadho
Id IS &4 | &4
nahaoonaeme
néhdoonaema
Id IS4 PP
nehadoonaeme
£ A
éhaoonaeo?0

I d I 4
namaZovese
néma?ovése

éma?ovése

7 Ié Id

ema?tovesoho
nama?ovéséme
néma?ovésema
néma?ovéséme

I 7

ematoveseo?o

7 ’
nahonone

’ ’
nehonone

Ié Id

ehonone

’ 7 7

ehononoho

14 I d I
nahononeme

Ié Vd
nehononema

V4 4 4
nehononeme

Id I'd

ehondneo?o

I love

I prayed sitting

I have red hair

I baked

28

[a)

I prayed

3 3 3
[

ného

~ s s N DS
~ O~ O~ O~ O~
~ O~ O~ O~ O~

>

Q)
o
o
(o]
o]
3
o
3
®

néhdoonama
Id |l aNd 14
nehadoname
s, A
éhaoonao?o

nédmane I drank
némane

émane

émandho

nédmaneme

némanema

némaneme

dmaneo?o

14 |4 14 3
nahaodnaxe I prayed lying down
14 a4 7

nehaoonaxe

14 IS4 14

ehaoonaxe

7. A . /

éhaoonaxenaho
néhdoonaxename
néhdoonaxenama
néhdoonaxename

IS e ’ A °
ehaoonaxena, ehaoonaxenao?o

jun i
~ O~ O~ Q5

~ D
=y

e I prayed standing

o b i
Qs s D Qs

I r PP r 72 ?
nehaoonaoceme
s, A
ehaoonaoceo?o

ndovaxe I dreamed
néovéxe

dovéxe

dovéxeného
ndovéxename
néovéxenama
néovéxename
dovéxenao?o, éovaxéna

/7
ndvéstahe I helped
4
nevéstahe
A
evestahe
° »
évéstahdho
7 Id * ’
navestaheme
/ A L
névestahema
V4 I d o ’
nevestaheme
Vi °
évédstaheo?o



ANIMATE INTRANSITIVE INDEPENDENT INDICATIVE

? 14 —
naméde I fought nédnaa?e I doctored
I ? 7 ——
neméde nénaa?e
r_ 22 y =
emed’e énaa’e
Id /4
éméd2dho dnaa?bho
7 —
naméd?éme ndnaa?eme
Ve
néméo?ema nénaa?ema
i 4 IV 4 7 ? —
nemeo?eme nenaa’eme
e A . ’»
emeo?ec?0 enaa?eo?o
/4
nahot se?dhe I worked ndtanéhe I am ashamed, shy
I d v ? v
nehotse?dhe netanehe
dhotse?dhe étanéhe
dhotse?bhdho dtanéhdho
7
néhotse?8héme natanéhéme
Id
néhotse?éhema nétanéhema
Id Id
néhotse?éhéme nétanéhéme
Id
éhotse?dheo?o étanéheo?0o
ndpéhévestdha I am good-hearted ndsévédno I skiedg skated
chevestd
népehévestaha nésévéno
2 e, p e ’ s r 2
epehevestaha esevano
s : R
épehévestidhdho ésévanoho
JeVE = tane >
napehévestahdme nésévanome
. p e A
népehévéstahama nésévanoma
Id ° ’ ° Id /4 —
népehévestahdme nésévanome
Ié * Id ° A Ve A
epehevestahao?o ésevanoo?o
ndtahpe?ase I am big-bellied ndheve: I said
7S 2
nétahpe?ase néheve
étahpe?ase éhevoo?o
s, 0 [ 4 ’ P
etahpe?asodho ehevedne
7. . o — T
natahpe?aseme naheme
nétahpe?asema néhema
2, . o — 72
netahpe?aseme neheme
., e o ’ -
etahpe?aseo?o ehevodne
némé?hdhtse I have a beard néhenésone I have a child
14 7
némé?hahtse néhenésone
Id Id 14 /4 14
émeé?hahtse e¢henesone
e Id e 2
émé?haht senaho éhenésdnehdho
— 14 Id hd ’
némé?haht sename nahenésdénéhéme
£ A, Id 7 °
neméthahtsenama nehenesonehema
— ld 14 b Ié
némé?haht sename ) néhenésdnehéme
7 A — b
émé?hahtsenao?o, émé?hahtsena éhendsoneheo?o

. Y K] ° ° .
ndhemdtseske I have (on) a knife napehévéhemahedne I have a nice house
néhemdtseske népéhévéhemahedne

éhemétseék% épehévehemahedne
° o, A e °
éhemdtEeskoho épéhévéhemahedndho
4 'S0 4 Ve /o ° A ° © /4 4
nahemotseskeme napehevehemaheoneme
? Py Ve Y y e, A e ° Ié
nehemotseskema népehevehemaheonema
7 P VeV, # s S, A e ° a4
néhemotseskeme népehevehemaheoneme
4 ’? Ve v / e A ° e 4
ehemotseskeo?o épehévehemaheoneo?o



ANTMATE INTRANSITIVE INDEPENDENT INDICATIVE 30

ndtahpe?emahedna I have a big house ndta?pose I am weak from cold
nétahpe?emahedna néta?pose

étahpe?emahedna éta?pose

étahpetemahedndho éta?posoho
nétahpe2emahedndme ndta?poseme
nétahpe?emahednama néta?posema
nétahpe?emahedndme néta?poseme
étahpe?emahednac?o éta?poseo?o

ndsétovoése I hang in the middle ndnéehdve "It
nésétovoése ‘nénéehdve "you"
ésétovoése ) én%ehéve "he, she'"
ésétovoésenaho enéehdvdho "he, she (obv)"
nasétovoésenéme ndnéehdvéme "we (excl)"
nés%tovoésen§ma nénéehdvema "we (incl)"
nesetovoesename nénéehdvéme "you (p1)"
ésetovodséna, dsétovodsenac?o dnéehdveo?o "they"

EXAMPLES IN SENTENCES:

Question:
e 14 ’ 7 e e

Ka'eEkoneho eho'sodevohe? Did the children dance?

Answer:
’ 14 14

Heehe'e, eho'soeo'o. Yes, they danced.
Question:

Nétonaleve? What did you do?

Some answers:

’ A
Namesehe. I ate.
Nanéméne. I sang.
Nahondne. I baked.
Question:
Néhenésonéhehe? Do you have any children?
Answer:
Héehe'e, ndhenésone. Yes, I have a child(ren).
Quest%on:
A ° )
Etonetoestomo’'he néstona? What kind of character does your

daughter have?

Answer:
Nahtona étanehe. My daughter is shy.



ANTIMATE INTRANSITIVE INDEPENDENT NEGATIVE

i A 4 —
nasaavoosanehe
nésdavdosanche

ésdavdosanshe

Ve A 14 14

ésaavoosaneheho

ré
nasdavdosanéhéme
nésdavdéosandhema

Vd A Id Id Vé
nésaavoosanehéme

A ’
ésdavdosanéheo?o

A

ndsdaho?sdéhe

Ve A 7 7
nesaaho?soehe
ésdaho?sdéhe
ésdaho?sdeheho
4 A 4 7
nasaaho?soeheme
Ve A 14
nesaaho?soehema
4 A ’ 7 V4
nésaaho?soehéme
ésdaho?sdeheo?o

rd A I 4
nasaameahe
7 A 7
nesaameahe
s A I 4
€saameahe
/ A ’
ésaameaheho
r A a4 ’
nasaameaheme
7 A ’
nésaameahema
4 A 7 7 14
nesaameaheme
A 7
ésdaméaheo?o

I did not
VOU oo
he ...

he (obv)...
we (excl)...
we (incl)...
you (pl) ...
they ...

see

I did not dance

I did not give

nasdané?poo?0he I did not peak

14 A V4 e
nesaane?poo?ohe
ésdané?poo?che
ésdané?poo?dheho
¢ A ’ ’ s
nasaane?poo?oheme
4 N 4 ’
nésaane?poo?ohema
A 7 Id 7
nésdané?poo?bhéme
ésdané?poo?dheo?o

31

14 - . °
nasdanache I did not die
nésdanashe 2

/S A =
ésdanache 3

A
ésdanaeheho 4

A p—
ndsdanacheme 11
nésdanaehema 12

/A —
nesaanaeheme 22

A
ésdanaeheo?o 33

S A p e, p o
nasaameseheéhe I did not eat
nésdaméséhéhe

O T a4
esaamesehehe
dsdamésehéheho

/s AP e P
nasaameseheheme

S AP o, A
nésaamesehehema

A P 8 PP
nésdamésehéhéme
ésdamésehéheo?o

nasda?ovédenahe I did not go to bed

4 A o v —
nésda?ovesenahe

A ° v —
ésaa?ovedenahe
Vd A ® v 4
ésaa?ovesenaheho

A o v 14 4
nédsaa?ovesendhéme
I'd A ° v I d
nésaatovesenahema

A ® v Id I
nésda?ovedendhéme
V' A ° v 4
ésaa?ovesenaheo?o

2 A Id —
nasaahovaneehehe I
p el
nésdahovaneehehe .
Ve A 2 byl
ésaahovaneehehe
Vé A 14 4
ésaahovaneeheheho
ré A 4 Id Id
nasaahovaneeheheme
V4 A ? ’ -
nésaahovaneehehema
/ A Id ’ ’
nesaahovaneeheheme
Vd A I I
ésaahovaneeheheo?o

was not gone

nésdanééhe I did not stand

s A2 7 A Y4 .
néséanéehe nésdahotse?dhéhe I did not work
£ A P2 LA ’, 7
eésaaneehe esaahotse?ohehe
s AP /A 7
ésaaneeheho ésaahotse?0heheho
A 2P P A ry Py 2
ndsédanééhéme nasaahotse?oheheme
A, 7 A ’
nésdandehema nesaahotse?ohehema
A 22, 2 s A Py Py 7
nésdanééhéme nesaahotse?ohéheme
A r s A ’
&sdanéeheo?o ésdahotse?dheheo?o
/2 A Py P s A — o .
nasaatanehehe I was not ashamed nasaamanehe I did not drink
5 A r, » A —
nésdatandhehe nésdamanehe
¢ A a4 s A —
esaatanehehe esaamanehe
s A ’ s A ’
ésaataneheho esaamaneheho
/7 A P, Py P 7 A ’y p
nasaataneheheme nasaamaneheme
/7 A 7 A I
nésaatanéhehema nésaamanehema
/Z A r, r, P 2 A 7y 7
nesaatanéheheme nésaamaneheme
A ’ A I
ésaataneheheo?o &sdamanéheo?o



ANIMATE INTRANSITIVE INDEPENDENT NEGATIVE

32

¢ . = . / . s — . .
nasdatahpetahe I am not big nasdatahpe?asshe I am not big-bellied
AL = : C =
nésaatahpetahe you ... nésdatahpe?asehe 2
P A, 0 — e @
esaatahpetahe he ... dsdatahpetasehe 3
A4 ° ? ° °
ésdatahpetdheho he (obv) ... ésdatanpe?aséheho 4
L 2y 2 ° °
ndsdatahpetdhdéme we (excl)... nédsdatahpe?aséhéme 11
” ; , - : .
nésdatahpetdhema we (incl)... néséatahpe?aséhema 12
A, 0 ry 2 ° °
nésdatahpetdhéme you (pl) ... nésdatahpe?aséhdme 22
Vé . I ° °
ésdatahpetdhec?o  they ... ésdatahpe?aséheo?o 33
4 o . .
nasdanémenche I did not sing ndsdanéméndhe I do not have a crooked face
— 7
nésdanémenghe nésdanéménéhe
y L. T S /SR P p
esaanemenehe esaanemenehe
s _A_ 2 ’ N T S
ésaanemeneheho esaanemeneheho
A2 r, » s AP s e
nésdanémenéhéme nasaanemeneheme
? °
nésdanémenéhema nésdanémenehema
A # N4 »? AP P o g
nésdanémenéhéme nésaanemenehéme
s A2 ? s _A_ 7 e
ésaanemeneheo?o ésaanemeneheo?o
7 A e, p ° r, 2 A P rA? o o
nasaapehevestahahe I am not good-hearted nésdaméd?éhe I did not fight
Id e r o £y 2
nésdapehévestahdhe nésdaméd?éhe
. . ,
éséapehévestahdhe ésdaméd?éhe
AT K
dsdapehdvestahaheho dsdaméo?eheho
A °y p 8 P PP s A 2P0 7
nésdapehévestidhahéme nasaameo?eheme
A °, p © A VR S S
nésdapehévestahahema nésaameo?ehema
d A °, p o Py by P AR PP, 7
nésdapehévestahahéme nésdaméd?éhéme
: < A X
ésdapehévestiahaheo?o dsdaméorehen?o

ndsdahdoonaxenahe I did not pray lying down ndsdanaa?she I did not doctor

£ A 4 e paayd A —
nésdahaoonaxenahe nésdanaa?ehe
Vd A 'd L4 — 4 A =
ésaahaoonaxenahe ésaanaa’ehe
® Vd
dsdahdoonaxendheho ésdanaa?éheho
V4 A Id e Id 7 A . ’ ’
nasaahaoonaxenaheme nésdanaa?éhéme
I'd A 4 e ’ V4 A ’
nésaahaoonaxenahema nésaanaatehema
A ’ ° N4 7 A r 7
nésdahdoonaxendhéme nesaanaa?eheme
A ? ° V4 V' A ’
ésdahdoonaxendheo?o é€saanaa’eheo?o
£ A S &4 IS &4 . . 2 A, 2 2 o
nasaahaoconaoehe I did not pray standing nésaahondneéhe I did not cook
4 I ’
nésdahdddnéddéhe nésdahondnéhe
Y d A IS4 I a4 Vd A I ’?
esaahaoonacehe ésaahononehe
P
édsdahdoonaoceheho €sdahondneheho
Vd A &4 2 7 /4 rd A Id ° d
nasaahaconaoceheme nasaahononeheme
PO
nésdahdoonaocehema nésdahondnehema
A PP P PP P /A 2 ® ’
ndsd@ahaodnadéhéme nesaahononeheme
A V4 °
&sfahdoonaoeheo?o ésdahondnéheo?0o

o 4 A - o
ndsdama?ovéséhe I am not red-haired nésda?ovédxenahe I did not dream

& A 7 /A rd
nésaama?oveséhe nesaa?ovaxenahe

A ’ 2 A P e
&sdama?ovéséhe dsda?ovaxenahe

A s _° ¢ A ? 4
ésdama?ovéseheho ésaa?ovaxenaheho
& A NP ey s A ’ T4
nasaamarovesehéme nasaa?ovaxenaheme

A YRS A ’ ’
nésdama?ovésehema nésaa?ovéxendhema
;A o p ;A ? 7,2
nésaama?oveseheme nésaarovaxenaheme
Vd I A |4
ésdama?ovéseheo?o ésaa?ovéxendheo?o



ANTMATE INTRANSITIVE INDEPENDENT NEGATIVE

nésdahehe I did not say
nésdahehe 2
ésdahehe 3
ésdahéheho 4
ndsdahéhéme 11
nésdahéhema 12
nésdahéhéme 22
ésdahéheo?o 33

’ r e .

ndsdahenésdnehéhe I do not have a child
e 7

nésdahenésdnehéhe

) _ A [ N

é&saahenesonehehe

&sdahendsonéheheho

/ A I SN 4

nasaahenesoneheheme

Z _A I

nésaahenesonehehema

/7 _ AR P 0, PP

nésaahenesoneheheme

A ®

ésdahenésoneheheo?o

EXAMPLES IN SENTENCES:

Question:

Emeo'evohe ka'éBkdéneho? Did the children fight?
Answeg:

Esdaméo' éheo'o. They did not fight.
Question:

Nehenesonéhemehe? Do you (pl) have children?
Answer:

Nésaahenésénéhdéhéme. We don't have any children.
Question:

Nétahpetahe? Are you big?
Answer:

Nésaatahpetahe. I'm not big.
Quest%on:

Enemenevohe hee'haho? Did his son sing?
Answeg:

Esaanémenéheho hee'haho. His son did not sing.



ANIMATE INTRANSITIVE INTERROGATIVE

Did
Did

I see?

you see?

Did he see?

Did he (obv) see?

Did we (excl) see?
Did we (incl) see?
Did you (pl) see?

Did they see?

nédvdosanehe
névdosanehe
dvdosanehe
dvdosanevohe
ndvlosanemehe
névdosanémanehe
névdosanemehe
dvdosanevohe

ndtahpetahe
nétahpetahe
dtahpetahe
dtahpetavohe
nadtahpetamehe
nétahpetémanshe
nétahpetamehe
étahpetavohe

Am I big?

nédmésehehe Did I eat?
némésehehe
émésehehe
émésehevohe

s A e
namesehemehe

s _A_° A
némesehemanehe
& A _®
néemesehemehe

s A _°
emesehevohe

ndovesdenahe
néovesenahe
dovédenahe
dovésenavohe
nadovesenamehe
néovegenimahehe
néovedenamehe
dovedenavohe

Did I go to bed?

’ ’
nahovaneehehe

? Id
nehovaneehehe

14 Ié

ehovaneehehe

7 7

ehovaneehevohe

’ I d
nahovaneehemehe

Id 4
néhovdneehémanehe

7 7
nehovaneehemehe

7 7

ehovaneehevohe

Was I gone?

‘ndhendsonehehe Do I have a child?
néhendsonehehe

/7 Id b

éheneésonehehe

I ’ °

ehenesonehevohe
ndhenésonehemehe

7’ 4 . &
néhenesonehemanehe
néhenésonehemehe

dhendsonehevohe

ndhotse?dhehe
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nédnaehe Did I die?
nénaehe 2
énaehe 3
énaevohe 4
nanaemehe 11
nénaemanehe 12
nénaemehe 22
dnaevohe 33
ndho?séehe  Did I dance?
ného?sdehe

ého?sdehe

dho?sdevohe

ndho?sdemehe
ného?sdemanehe
naho?sdemehe

ého?sdevohe

néméahe Did I give (away)?

néméamanehe
I'd A

némeamehe
émdavohe

nédné?poo?ohe Did I peak?
néné?poo?che

éné?poo?ohe
éné?poc?ovohe
néné?poo?omehe
néné?poo?émanehe
néné?poo?omehe
énéd?poo?dvohe

Did I work?
néhotse?dhehe

dhotse?dhehe
éhotse?dhevohe
néhotse?dhemehe
nahotse?dhemanehe
néhotse?dhemehe
dhotse?dhevohe

nédmé?hahtsenahe Did I have a beard?
némé?hahtsenahe

&mé?hahtsenahe

émé?hahtsenavohe
némé?hahtsenamehe
némé?hahtsenémanehe
némé?hahtsenamehe

émd?hahtsenavohe



ANIMATE INTRANSITIVE INTERROGATIVE

35
4 . ° .
nahehe Did I say? nédxoheve What did I say?
Id °
néhehe nédxoheve
? °
éhehe ddxohevoo?o
V4 e ——
éhevohe &8xohevoone
Id °
nahemehe nadxohéme
Id A A o
néhemanehe nédxohema
I d 7 p ° 7
nehemehe neoxoheme
’ ° —
éhevohe £Jdxohevoone

EXAMPLES IN SENTENCES:

Question:

Enaehe eho? Did your father die?
Answex::A

Esaanaehe. : He did not die.
Question:

NéelHeméséhehe? Did you eat yet?
Answer:

Nielemésehe. I ate already.
Question:

Eovélenavohe hestdénaho? Did her daughter go to bed?
Answer:

Esaa'éleovelendheho hestdnaho. Her daughter didn't go to bed yet.
Question:
Nénémenemehe ? Did you (pl) sing?

Answer:
A ’
Nanemeneme. We sang.



ANIMATE INTRANSITIVE

7 A I d °
nasaavoosanehehe
A » °
nésdavdosanehehe
ésdavdosanehehe
A °
ésdavdosanehevohe
A °
nésaavéosanghemehe
nésdavdosanéhemanehe
nésdavdosanehemehe
ésdavdéosanehevohe

nédsdatahpetahehe
nésdatahpetahehe
ésdatahpetahehe
dsdatahpetahevohe
ndsdatahpetahemehe
nésdatahpet&hemanehe
nésdatahpetahemehe
ésdatahpetahevohe

nasdamésehehehe
Vd A I d e
nesaamesehehehe
dsdamésehehehe
ésdamésehehevohe
> >
nésdamésehehemehe
nésdaméseh&hemanehe
7 A Id °
nésaamesehehemehe
V4 A Vd °
ésaamesehehevohe

NEGATIVE INTERROGATIVE

Didn't I see?
ce.YOU ...

Am T not big?

°

.he ...

,he (obv)..
we {(excl).
.we (incl).
.you (pl)..
.they ...

Didn't I eat?

36
nésdanaehehe Didn't I die?
nésdanaehehe 2

ésdanaehehe 3
ésdanaehevohe 4
nésdanaehemehe 11
nésdanaehemanehe 12
nésdanaehemehe 22
ésdanaehevohe 33

Id
nédsdaho?sdehehe Didn't I dance?

rd A Id
nésaaho?soehehe

A

dsdaho?sdehehe

ésdaho?sdéehevohe
nésdaho?sdehemehe
nésdaho?sdehémanehe
nésdaho?sdehemehe

Vd rd Id

ésaaho?soehevohe

s OA 2 . M
nasaameahehe Didn't I give?
A ¢

nésdamdahehe

2 A 2

esaameahehe

A,

ésdaméahevohe

A p

nédsaaméahemehe

2 A2 £
nesaameahemanehe

A2

nésdaméahemehe

£ A2

esaameahevohe

ndsda?ovedenahehe Didn't I go to bed?nésdand?poo?dhehe Didn't I peak?

V4 A ° v °
nésaa?ovesenahehe
/ A 4 b
ésaa?ovesenahehe
Vd A ° v °
ésaa?ovesenahevohe
2 A ° v °
nasda?ovesenahemehe
7 _A ° v 4
nésda?ovesenahemanehe
7 A ° v °
nésaa?ovesenahemehe
A ° v *
ésda?ovedenahevohe

Id
nédsdahovéneehéhehe Wasn't I gone?

nésdahovéneehéhehe
ésdahovéneehdhehe
ésdahovéneehéhevohe

nédsdahovéneehdhemehe

nésdahovéneehéhemanehe

nésdahovéneehéhemehe
&sdahovéneshéhevohe

nésdand?poo?ohehe
ésdané?poo?0hehe
7 A e °
esaane?poo?ohevohe
A e
nédsaané?poo?0hemehe
2 A ’
nésaane ?poo?ohemanehe
nésdané?poo?ohemehe
ésdané ?poo?0hevohe

nésdahotse?dhehehe Didn't I work?
nésdahotse?éhehehe
ésdahotse?dhehehe
&sdahotse?dhehevohe
nésdahotse?éhehemehe
nésdahot se ?dhehemanehe
nésdahotse?8hehemehe
ésdahotse?bhehevohe

nasdahenésonéhehehe Don't I have a child? Note: 11 forms are also

2 A ’ °
nésaahenesonehehehe
2 A ’ LT
eésaahenesonehehehe
A I e, A
&sdahenésonehéhevohe
£ _ A ? °, fA
nasaahenesonehehemehe

A e A
nésdahendsoneh&hemanehe

é °
nésdahenésonéhéhemehe
> =0Ne
&sdahenésonéh&hevohe

commonly pronounced the same as 12
forms, except for having the nd=
prefix, e.g.:
Y I ’ . 7
nasaavoosanehemanehe Didn't we see?
A o
ndsaaho?sbéehémanehe Didn't we dance?
VA ? 4 . [ .
nasaameahemanehe Didn't we give?
A N
nasaahotse?dhehemanehe Didn't we work?



ANTMATE INTRANSITIVE DUBITATIVE

37
R A © =
monanemenehehe I must have sung, I guess I sang
2 A o, e
monenemenehehe you must have sung
o T —
monemenehehe he must have sung
A . =
monemenehevohe he (obv) must have sung
7 A 7 —
monanemenehemanehe we (excl) must have sung
s 2 A Id —
monenemenehemanehe we (incl) must have
S A . =
monenemenehemehe you (pl) must have sung
P . =
monemenehevohe they must have sung
IO O S 4D - & 4
monamemenehehe I must have a crooked face, I guess I have a crooked
IO N O N4
monénemenehehe face
I N4
monemenehehe
/A ° -
monemenehevohe

& 4 A & —
monanemenehemanehe
s P A ®
monenemenehemanehe
;s 7 A o -
monenemenehemehe

7 A ° o~
monemenehevohe
A . -
méndhaeanahehe I must be hungry, I guess I'm hungry
by .=
mdnéhaeanahehe 2
- . =
méhaeanahehe 3
n . =
méhaeanahevohe 4
P A 1d p—
monéahaeanahemanehe 11
P A ’ —_
monehaeanahemanehe 12
~ . pul
ménéhaeanahemehe 22
mdhaeanahevohe 33
méndhéddénahéhe I must have prayed, I guess I prayed
rF Py, PP P ® Id
monehaoonahehe
sy P PP 0 14
mohaoonahehe
& A ° =
mohaoonahevohe

Id I A ° —
monahaoonahemanehe
Ié Id A o —
monehaoonahemanehe
4 I A ° —
monehaoonahemehe
4 A ° -
mohaoenahevohe .

ménétahoehehe I must have ridden, I guess I rode
ménétahoehehe
métahoehehe
métahoehevehe

Id ’ A —
monatahoehemanehe

4 7 A —
moneétahoehemanehe

’ 14 A —
monetahoehemehe
mét ahoehevohe

ménémanéhehe I must have drunk, I guess I drank
ménamanéhehe

mémanehehe

mdmanéhe vohe

ménamanéhemanshe

mdnémanéhemanehe

ménémanehemehe

mémanéhevohe



ANTMATE INTRANSITIVE ATTRIBUTIVE 38

nénémenemase I am said to have sung, they say I'm singing
nénémenemase you are said to have sung

énémengséstse he is said to have sung

gnemengsgsﬁo he (obv) is said to have sung

n@némen§m§ﬂ§se we (excl) are said to have sung
ngn%mengménese we (incl) are said to have sung

neénemenemese you (pl) are said to have sung

énemenesesto they are said to have sung

ndho?séémase I am said to have danced, they say I'm dancing
ného?séémase 2

dho?sdeséestse 3

dho?sdesesto 4

ného?sééménése 11

nédho?sééménése 12

ného?sdémese 22

dho?sdesesto 33

nénéméném%se I am said to have a crooked face
nénéménemase

énémeneséstse

énémenésesto

nanemenemanese

nenemenemanese

nenamenemese

énémenésesto

néhondnémase I am said to have cooked, they say I'm cooking
néhondénémase

dhondneséstse

éhondnésesto

ndhondnéménése

néhondnémanése

néhondénémése

dhondnesesto

namanemase I am said to have drunk, they say I drank
némanémase

émaneséestse

emanesgsto

namanemanese

nemanemanese

némanemese

dmanésesto

2 & o 4 e .
namgsehemase I am said to have eaten, they say I ate
Ve e, f e

némesehémase

VR A °

émesehesestse

rF A

emesehesesto

r Y ]
namésehemanese

Y N

némesehémanese

P

némesehemese

r 2 _° . A

emesehesesto



ANIMATE INTRANSITIVE NEGATIVE ATTRIBUTIVE 39

AP P, P @
nasaanemenehemase
A2 P, e
nésdanémenéhémase
ésdanémendhesestse
ésdanémendhesesto
A7 Sy, PP ©
nésdanémenéhéménése
nésdanémenéhéménese
nésdanémenéhémése

A
ésdandmenédhesesto

S A2 e s e
nasdanémenehemase

A 2 2 8, P @
nésdaneménehemase
ésdandmenchesestse
dsdandmenehesesto
ndsdanéménéhéménése
/h 3 °
nésaanéménehémdnese
nésdanéménehémese

‘ °
ésdandmenehesesto

/ Y
nésdaho?sdéhémase

72 _ A p P, L e
nésaaho?séehemase

A °
ésdaho?sdéehesestse
&sdaho?sdehesesto
2 A s &, F e
nasdaaho?soehémanese
s _ A 27, £ 4 o
nésaaho?soehémanese
nésdaho?sdehemese

£ _ A 4
ésaaho?soehesesto

2 _A » o, p _®
nasaahononehemase
A y o, F e
nésdahondnehémase
s A 7 e °
ésaahononehesestse
s _A A
ésaahononehesesto
2 A s o pr 0
nasdahononehemanese
s A y e, 72 p ®
nésaahononehemanese
e ;e .
nésaahononehemese
7 A o AL
ésaahononehesesto

nésdamanéhémase
nésdamanéhémase
dsdamanéheséstse
ésdamanéhesesto
ndsdamanéhémdnése
nésdamanéhémdnése
nésdamanéhémése
&sdamanéhesesto

S A » & P, P e
ndsaamesehehemase

2 A p_° ., p, P ®
nésaamesehehemase

A 72 e, A °
dsdamésehéhesestse
s AR P2 % A
ésaamesehehesesto
;ﬁ I T L A
nasaamesehehemanese
A I AN A A
nésaamesehehemanese
A p_° P, p 0
nédsdamésehéhémese

s _A F_° A
ésaamésehehesesto

I am said to have not sung

you are said to have not sung

he is said to have not sung

he (obv) is said to have not sung
we (excl) are said to have not sung
we (incl) are said to have not sung
you (pl) are said to have not sung
they are said to have not sung

I am said to not have "a crooked face
2
3
A
11
12
22
33

I am said to have not danced

I am said to have not cooked

I am said to have not drunk

I am said to have not eaten



ANIMATE INTRANSITIVE MEDIATE

he

r'e
éhnémendhoo?o
hnémenehoo?o

Vs o
éxhondnehoo?o

&xhdoonahoo?0o

1

éxhdeandhoo?o

7

ehnaehoo?o

?

éhnaa?éhoo?0o

4 ’

émésehéhoo?o
énd?poo?éhoo?o
éxhovéneehéhoo?o

é?ovesendhoo?o

they, he (obv)

A
éhnémenéhoono

V4 A °
ehnemenehoono

éxhondnéhoono

dxhdoonahoono

Vd A 7
éxhaeanahoono

éhnaehoono

Id

ehnaa?éhoono

’ ’

émésehéhoono

AN

éné?poo?éhoono

éxhovéneehéhoono

é?ovedendhoono

ANIMATE INTRANSITIVE NEGATIVE MEDIATE

he

&

ésdanémenéhehoo?o
/A °
ésdanémenehehoo?o

esdahondnehehoo 70
h

4

sdahdoonahehoo?o
dahdeandhehoo?0o

sdanaehéhoo?o0

danaa?éhehoo?o
ésdamésehéhehoo?o
2 A
és

Ow

(Note: Mediate forms
legends and folklore.

dané?poo?dhehoo?0
ésfahovéneehdhehoo?o
A

saa?ovedendhehoo?o

they, he (obv)

Id A Id 14

esaanemenehehoono
A °

sdanémenehehoono

Y4
é

s A r_©
ésdahondnehehoono
y A, s e
esaahaoonahehoono
&sdahdeandhehoono
&sdanaehéhoono
/A
ésdanaa?éhehoono

/R 3
ésdamésehéhehoono

ésdané?poo?éhehoono
A
sdahovéneehéhehoono
A
&)

Vd
é
&sda?ovedendhehoono

Stem meaning

sang

had crooked face
cooked

prayed

was hungry

died

doctored

ate

peaked

was gone

went to bed

stem meaning

not sing

40

not have crooked face

not cook

not pray

not be hungry
not die

not doctor
not eat

not peak

not be gone

not go to bed

are typically, but not exclusively, used in
See TEXTS, later in these notes.)



&

ANTMATE INTRANSITIVE IMMEDIATE IMPERATIVE

you

ho?s3d2estse

/4
meseestse
méd2atse
taovesestse
né?pdd20otse
hovénee?estse
héddnatse
pehdvoestomo?ést se

/4 ’ °
nemenestse

’ /4 °
nemenestse
véstaestse
hotse?dest se
né?esto?haahtse

’ 7 hd
sevanotse

tsetdd20tse

(PA #-1o AI imperative sg. ending; Ch. /-te/.

Ch. /@/.)

you (pl)

ho?sdd?e
mésehe
méala
taovese
né?pdé20
hovénee?e
hédddna
pehévoestomo?he
’ 4
néméne
’ Va
néméne
véstahe
hotse?dhe
né?esto?haha
7 ’
sévano

tsetdd?o

ANIMATE INTRANSITIVE DELAYED IMPERATIVE

you

ho?sdeo?o
méseheo?0
méao?0
taovedendd?o
né?poo?00?0
hovéneeo?0
hdoonao?o

. 7
péhévoestomo?heo?o
14 v Vv
nemeneoc?o

14

néemeneo?o
véstaheo?o
hotse?dheo?o
né?esto?hahao?o
’ vV
sévanoo?o

tsetdo?00?0

you (pl)
ho?sdéhéne
mésehéhéne
méahene
taovedenédhéne
né?poo?déhéne
hovéneehene
héddnahéne

° ra /
pehévoestomd?héhéne

14 7 I d
nemenehene

? 14 e ’
nemenehene

o £ ¥
véstahehene
/

hotse?éhéhéne

2 N0 Va4
ne?esto?hahahene

Ié Ié I d
sevanohene

tsetdo?8héne
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meaning

Dance!

Eat!

Give (away)!

Go- to bed!

Peak!

Be gone!

Pray!

Be kind!

Sing!

Have a crooked facel
Help!

Work!

Take your gloves off!
Ski, skate!

Look!

#*-ko AI imper. pl ending;

meaning

Dance!

Eat!

Give (away)!

Go to bed!

Peak!

Be gomne!

Pray!

Be kind!

Sing!

Have a crooked face!
Help!

Work!

Take your gloves off!
Ski, skate!

Look!



ANIMATE INTRANSITIVE HORTATIVE

"let him..."

ho?sdeha
méséheha

méaha
taovésenaha
né?poo?oha
hovéneeheha
hdoonaha
péhévoestomd?heha
némeneha
némeneha
véstaheha
hotse?dheha
né?esto?hahaha
sévanoha

tsetdo?oha

"let them..."

ho?sdevoha
méséhévoha
méavoha
taovédendvoha
né?poo?dvoha
hovaneehévoha
hdoonavoha
pehévoestomé?hevoha
némendvoha
némenevoha
véstahévoha
hotse?bhevoha
né?ésto?hahévoha
sévandvoha

tsetdo?dvoha

ANIMATE INTRANSITIVE NEGATIVE HORTATIVE

"don't let him..."

sdaho?sdeheha
séamésehéheha
sdaméaheha
tasda?ovedendheha
sdané?poo?dheha
sdahovéneehdheha

sdahdoonaheha

FIRST-PERSON ANIMATE INTRANSITIVE HORTATIVES

nétaméséhema, OR, nétaméséhdmdne

"don't let them..."

sdaho?sdehévoha
séamésehéhevoha
sdaméahévoha
tasda?ovesendhevoha
sdane?poo?éhevoha
sdahovéneehéhevoha

séahdoonahevoha
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stem meaning

dance

eat

give (away)

go to bed

peak

be gone

pray

be kind

sing

have a crooked face
help

work

take gloves'off
ski, skate

look

stem meaning

dance'

eat

give (away)
go to bed
peak

be gone

pray

Let's eat!

nétahémeséhema, OR, nétahéméséhdméne Let's go eat!

nétaho?sdema, OR, nétaho?sdéémdne

Id Id Id
netanemene

s e A —
natasevanome

Let's dance!

Let me sing!

"Let us (excl) skil!



INANIMATE INTRANSITIVE INDEPENDENT INDICATIVE

singular (I)
éhd?ta
&véhpeha
étahpé?o
ého?ééto

éhoo?koho

I 4
eestovo
&vdome
épehdveméd?ha

Ié

dtonéto

évdhko

7’ V4

déxdvo

éhetdeve

émésehéstove
7 e A

mésehenove
A

deandhtove

doonahtove

jun S

éné?poo?déhtove

dsétovodsta

plural (IT)

ého?tanéstse
évéhpehdnéstse
étahpe?onéstse

N

ésdesonestse

Id

éhdoho?tanést se

, e

énehesonest se
évonaho?tanéstse
évd2komonéstse
dhedvdnestse
épehdvatenéstse
dhaveséva?enéstse
étononestse
é628énéstse
éma?oneéstse
émo?kohtévdnéstse
émahednévénestse

y e

généhpohtanestse
/A -

ehdenanonestse
eéstovonestse

£ A

évdéomenestse

S e -— 3
épehdveméa?hanéstse

dvdhkdnestse
éhetdévénéstse

L4 T SRl
dmésehéstdvénestse
p e, b & 4 e
mesehenovenestse
A VY Y
hdeandhtovenestse
e 4t e
hdoonahtdvénéstse

O ON O~

Id

2 F e
manestovenestise

O O~

A » 7 /7 e
nemenestovenestse

¢ F S e 8 F e
enemenestovenesise
A ¢ P e

éné?poo?bhtovenéstse
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stem meaning

be at

empty (lie empty)
big ’
snow

rain

similar, same
hot

be that way
burned up
white

yvellow

good, nice
bad

cool

dry

red

black

be a house
frozen shut
heavy

sharp

.be seen

smell good
cold (weather)
bent

warm (weather)
be evening

be an eating
be an eating
be hunger

be praying

be drinking
be singing

be having crooked face
be peaking

be noon ("middle-hang')



INANIMATE INTRANSITIVE INDEPENDENT INDICATIVE--relational

singular (I)

ého?tatse
evéhpehatse
étahpe?otse
dho?éetotse
dhoo?kohotse
éséesotse
éhdoho?tatse
énéhesotse
dvonaho?tatse
dvd2komot se

7

éhedvotse

épehévaletse
dhavesévaletse
dtonotse
é820tse
dma?otse
dmo?kohtévotse
émahednevetse

y e

énéhpohtatse

~

A
eéhaenanotse

~

édstovotse

&vdometse
épehdveméathatse
dtonetotse
évdhkotse
&éxovotse
dhetdevetse
éméséhéstovetse
méséhénovetse
deandhtovetse

h
hdoonahtovetse

O~ O~ O~

manéstovetse
émendstovetse

plural (II)

ého?tanetdtse
evéhpehanetStse

étahpe?onetdtse

I d A —
éseesonetotse

dhdoho?tanetdtse
énehesonetStse
dvonaho?tanetdtse

évd2komonetotse
éhedvonetStse
dpehévatenetdtse
éhavesévalenetsdtse
étononetotse
é870netdtse
éma?onetdtse
émo?kohtavonetdtse
émahednevenetdtse
néhpéhtanetBtse
hdenanonetdtse

A

7

e

Ve

é

/A e
ééstovonetotse
Vé p—
evoomenetotse
I'd
e

pehéveméa?hanetStse

&v3hkonetstse

éhetdevenetdtse
émésehéstovenetotse

mésehénovenetotse
)

’
e
/A ’ -
éhaeanahtovenetotse
y o -

éhdoonahtovenetotse

manéstovenetotse

A ’

nemenéstovenetdtse

I
e
Vé
éne

v ° e
énémenestovenetBtse

/£ A -
éné?poo?dhtovenetotse

be at

empty (lie empty)
big ‘
snow

rain

similar, same
hot

be that way
burned up

white

yvellow
goed, nice
bad

cool

dry

red

black

be a house
frozen shut
heavy

sharp

be seen

smell good
cold (weather)
bent

warm (weather)
be evening

be an eating
be an eating
be hunger

be praying

be drinking

be singing

be having crooked face

be peaking

be noon



INANIMATE INTRANSITIVE NEGATIVE

singular (I)

A

ésdatahpe?dhdne
ésdaho?éétodhéne
ésdahoo?kohdhdne
ésdaséesdhéne
ésdahdoho?tdhdne
ésdanehesdhédne
dsdavonaho?tdhdne
ésdavdkomdhédne
ésdahedvohéne
ésdapehéva?éhdne
dsdahavéséva?éhdne

A
dsdatondhdne

amo?kohtévohéne

0
AR

/) R o, 3 CR—
eszamaheonevehane
ésdanehpohtéhdne

saahdenandhéne

A
a

A
a

DOs Os

saa?éstovdhéne

dsdavéoméhédne
A

-

ésdapehéveméa?hdhdne

ésdatondtodhdne

I a
ésdavdhkohdne

>

sda?éxovdhane

O~

sdahetdevehane

’

sdamésehéstovéhane

Ow Os

A ’ o A °
saamesehénovehane
A

O~ O«

sdahdeandhtovehane

a
A
a

[ON

sdahdoonahtovehane

, .
saamanéstovehane

O~

?

A
4
sdanémenéstovehane
A
&
A
4

[ORY

, . .
saanemenestovehane

O~

ésdané?poo?déhtovehane

dsétovoéstahdne

plural (II)

ésdaho?tdhanehotse
ésdavéhpéhahanehdtse
ésdatahpe?dhanehdtse

-

ésdaséesdhanehotse

ésdahdoho?tdhanehotse

A

sdanehesdhanehotse

I
e
7 A e °
ésaavonaho?tdhanehotse
Vd

e

a
sdavd?komdhanehotse
Vé

3

ésd

ahedvohanehotse

ésdapehdva?éhanehotse

Y

A ° °
ésdahaveséva?éhanehotse
ésdatondhanehdtse

sda?820hanehotse

(2N

ésdama?éhanehotse
dsdamo?kohtdvohanehotse
ésdamahednevéhanehdtse
ésdanéhepohtdhanehotse
A

ésdahdenandhanehotse

ésda?éstovdhanehotse

>

e

sdavdoméhanehot se

(02N

s _A °

ésdapehévemdéa?hdhanehotse

’ o .
ésdavdhkohanehotse

sdahetdevéhanehotse

(02N

ésdaméseéhestovéhanehdtse

/ A ° ® °
ésdamésehenovehanehotse

/ A ° °
&sdahdeanédhtovehanehotse

7 A ° ° .
ésdahdoonahtovehanehotse
Y] A ® °
ésdamanéstovehanehotse
ésdanémenéstovehanehotse

A e ° °
sdanémenéstovehanehotse

O~

ésdané?poo?éhtovehanehotse

be
emp

big

45

stem meaning (with 'not'")

at

ty (lie empty)

SNnow

rain

sim
hot
be

ilar, same

that way

burned up

whi
yel
goo
bad
coo
dry
red
bla
be

fro

te
low

d, nice

1

ck
a house

zen shut

heavy

sharp

be
sme

col

seen
11 good
d (weather)

bent

war
be
be
be
be
be
be
be
be
be
be

m (weather)

evening

an eatiﬁg

an eating

hunger

praying

drinking

singing

having crooked face
peaking

noon



INANIMATE INTRANSITIVE INDEPENDENT NEGATIVE--relational

singular

dsdaho?téhanéhetse
ésdavéhpéhahanéhetse
&sdatahpe?8hanéhetse
ésdaho?éetohanéhetse
P
e

A

sdahoo?kohdhanéhetse

a
ésdasdesdhandhetse

7
ésdahdoho?tdhandhetse

sdanehesdhanéhetse

D~

sdavonaho?téhanéhetse

D~

A
3
davdkoméhanéhet se

D~

s
A ’ ° Id
saahecvohanehetse

sdapéhévatéhandhetse

On O~ O~

sdahaveséva?éhandhetse
ésdatondhandhetse
sda?d?0handhet se

V4
é
ésdama?dhandhetse
sdamo?kohtévohanéhetse
A

/7
é
dsdamahednevéhandhetse
sdanéhpotéhanéhetse’

~ O«

ésdahdenandhandhetse
7
ésda?éstovéhanéhetse
ésdavéoméhanéhetse

sdapehéveméa?hidhanéhetse

[O2N

A

ésaatondtohanéhetse

&sdavdhkohandhet se

ésdaréxovéhandhetse

A °
ésdahetdevehanéhetse

I'4

ésdaméséh8stovehandhetse
ésdamésehénovehanéhetse
ésdahdeanédhtovehandhetse

V4 ® .
ésdahdoonahtovehanéhetse

ésdamanéstovehanéhetse

I

V4 .
ésdanémendstovéhandhetse

sdanémenestovehanéhetse

V4
é
/A ’ ’ ° 4

esaane?poo?ohtovehanéhetse

dsiasétovoéstahandhetse

plural

sdaho?tdhandhenetStse

V4

é

I A e e
ésdavéhpéhahandhenetotse
/A

ésé

sdatahpe?dhanéhenetctse

A _
aséesdhanéhenetot se

/
ésa
¢ A V4 ’ ’ —
esaahaoho?tahanechenetotse
A
a

sdanehesdhanéhenetotse

O~ O=

sdavonaho?tdhandhenetotse

I 4 -
ésdavé?komdhandhenetotse

A . —
ésaahedvohanéhenetotse

[ORY

sdapéhdva?dhanéhenetctse

>

sdahaveséva?éhandhenetotse

h -
sdatondhanéhenetotse

Os O Os

sda3d?0handhenetotse
ésdama?dhandhenetStse
dsdamo?kohtdvohandhenetotse
ésdamahednevéhandhenetotse
ésdanéhpohtdhanéhenetdt se
ésdahdenandhandhenetotse

sda?éstovdhanéhenetot se

®-~

ésdavdoméhandhenetotse

séépehevemea?hahanehenetotse

ésdavdhkohandhenetotse

[OXN

sdahetdevéhandhenetotse

&sdaméséhestovehanéhenetdtse
ésdamdéséhenovéhanéhenetot se
&sdahdeandhtovéhanéhenetStse

A
&
A . . _
sdahdoonahtovehandhenetotse
A
4
g

D« O~

sdamanéstovehandhenetotse

O~

sdanémenéstovehandhenetotse

sdanémeneéstovehanéhenetotse
g

DO~ O~

sdané?poo?dhtovéhandhenetctse
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INANIMATE INTRANSITIVE INTERROGATIVE

singular

ého?tahe
évéhpehahe
dtahpe?ohe
ého?detohe
éhoo?kohohe

2 A
eseesohe

éhdoho?tahe

V)

enehesohe
dvonaha?tahe
dvd?komohe
dhedvohe
épehévatehe
dhavesévalehe
étonohe
é82he
éma?ohe

/’

émo?kohtavohe

)

émahednevehe
énehpohtahe
éhdenanohe
ééstovohe

r A
evoomehe

épehéveméathahe

étonetohe
14
&vdhkohe

Id
eexovohe
éhetdevehe
/4 7 o A
emesehestovehe
mésehénovehe
h

éh

14
é
I'd A
éhdeandhtovehe
A .
aoonahtovehe

manéstovehe

O~

énémendstovehe

éndhenéstovehe

s A

éné?poo?dhtovehe

ésétovoéstahe

plural

ého?tanevotse
évéhpéhanevotse

étahpe?onevotse

Vd A
éseesonevotse

&hdoho?tanevotse

2 ° /4
enehesonevotse
évonaho?tanevotse
£ A
evoTkomonevotse

14 Id
eheovonevotse

’ 3
épéhdva?enevotse
éhavesévalenevotse
dtononevotse

14

é820onevotse
éma?onevotse

d

émo?kohtévonevotse

Y]

7
emaheonevenevotse

» e

enéhpohtanevotse

Ay

A
ehaenanonevotse

7 A
eestovonevotse

/A
evoomenevotse

épéhéveméa?hanevotse

o =

14
évShkonevot se

’

dhetdevenevotse

I ’ °

émésehéstovenevotse
7 14 . A
emésehenovenevotse
&hdeandhtovenevotse

&hdoonahtovenevotse

4 4

emanestovenevotse

/A »

enemenestovenevetse
A

Vi °
enemenestovenevoise

IV
éné?poo?dhtovenevotse

stem meaning

be at

empty (lie empty)

big

snow

rain
similar, same
hot

be that way
burned up
white
yellow
good, nice
bad

cool

dry

red

black

be a house
frozen shut
heavy

sharp

be seen
smell good

cold (weather)
bent

warm (weather)
be evening

be an eating
be an eating
be hunger

be praying

be drinking

be singing

be having crooked face

be peaking

be noon
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INANIMATE INTRANSITIVE INTERROGATIVE--relational 48

singular plural stem meaning
ého?tatsehe ého?tanetsevotse be at
évéhpehatsehe évéhpéhanetsevotse empty
dtahpe?otsehe étahpe?onetsevotse big
éhedvotsehe éhedvonetsevotse yellow
épehévatetsehe épehdvalenetsevotse  good, nice
&hdeandhtovetsehe éhdeandhtovenetsevotse be hunger
éhdoonahtovetsehe éhdoonahtovenetsevotse be praying

EXAMPLES IN SENTENCES:
étahpe'otsehe hemaheo'o
étahpe'onetsevotse hemdheondtse

14 7 14
hesemo eheovotsehe

Id ° ? ° A [
hesemonotse epeheva' enetsevotse

Is his house big?

Are his houses big?

Is his boat yellow?

Are his boats nice?



INANTMATE INTRANSITIVE NEGATIVE INTERROGATIVE 49

ésdaho?tdhanehe
dsdaho?tdhanevotse

Y .
ésdavéhpehahanehe

2 A I'd ° A
ésaavehpehahanevotse

ésdatahpe?dhanehe
ésdatahpe?dhanevot se

ésdaho?éetohanehe
&sdahoo?kohdhanehe

/A .
é&sdahedvohanehe
s _A p ®

ésaaheovohanevotse
ésdapehéva?éhanche

ésdapehéva?éhanevotse

&sdahdeandhtovéhanehe
Vd A ? Id e
ésaahaeanahtovehanevotse

ésdahdoonahtovehanehe
Id A Vd ® ®
ésaahaoonahtovehanevotse

Isn't it (there, here)?
Aren't they (there, here)?

Isn't it empty?
Aren't they empty?

Isn't it big?
Aren't they big?

Isn't it snowing?
Isn't it raining?

Isn't it yellow?
Aren't they yellow?

Isn't it good?
Aren't they good?

Isn't there hunger?
Aren't there hungerings?

Isn't there praying?
Aren't there "prayings'?

INANIMATE INTRANSITIVE NEGATIVE INTERROGATIVE--relational

ésdaho?tdhanéhetsehe
dsdaho?tédhanéhetotsehe

ésdavéhpehahandhetsehe
ésdavéhpéhahandhetotsehe

ésdatahpe?dhandhetsehe

ésdatahpe?dhanéhetotsehe

sdaho?éetohanéhetsehe

O~

{sdahoo?kohdhanéhetsehe

ésdahedvohanéhetsehe
Id A p @ ?
ésaaheovehanehe totsehe

ésdapehéva?éhandhetsehe
ésdapehdva?éhandhe totsehe

ésdahdeandhtoveéhandéhetsehe
14 v 3
ésdahdeandhtovehanéhe totsehe

ésdahdoonahtovéhandhet sehe
&sdahdoonahtovehanédhe totsehe

Isn't his

(here, there)?
Aren't his

(here, there)?

Isn't his empty?
Aren't his- empty?
Isn't his big?
Aren't his big?

Isn't it snowing (relational)?

Isn't it raining (relational)?

Isn't his sellow?
Aren't his vellow?
Isn't his good?
Aren't his good?

Isn't there hunger (relational)?
Aren't there hungerings (relational)?

Isn't there praying (relational)?
Aren't there prayings (relational)?



INANIMATE INTRANSITIVE DUBITATIVE

50
méhoo?kohdhanghe It must be raining, I guess it's raining
mdma?dhanehe It must be red, I guess it's red
méma?éhanevotse They must be red, I guess they're red
méhedvéhanéhg It must be yellow, I guess it's yellow
mShedvohanevot se They must be yellow, I guess they're yellow
mépéh%va?éhanéhg It must be good, I guess it's good
mopeheva?ehanevot se They must be good, I guess they're good
météhpe?éhanéhg It must be big, I guess it's big
motahpe?0hanevotse They must be big, I guess they're big
ménéhpéhtéhan@hg It must have been frozen shut
monehpohtahanevotse They must have been frozen shut
méméséhéstovéhanghg There must have been an eating
momesehestovehanevotse There must have been eatings

INANIMATE INTRANSITIVE DUBITATIVE--relationmal

méma?éhanetsghg I guess his is red.
méma?dhanet sevotse I guess his are red.
mdpeéhéva?éhane tsehe I guess his is big.
mdpéhéva?éhane tsevotse I guess his are big.
métahpe ?dhane tsehe I guess his  1is good.
mét ahpe ?éhane tse votse I guess his are good.
mdhe dvohane tsehe I guess his is yellow.
méhedvohane tsevotse I guess his are yellow.

EXAM?LES IN SENTENCES:

mdtahpe2éhanehe nemaheo?o I guess your house must be big.
méhoo?kohdhanehe tséhvéonz?o I guess it must have rained this morning.
46?he?e ménehpohtdhanehe '~ The river must have been frozen shut.
mdépéhéva?éhanevotse sémondtse The boats must have %een nice.
méma?dhanetsehe hemaheo?o I guess his house is red.

mdtahpe ?2éhane tsevotse

’. . s his boats are big.
hesemonotse T gues &



INANIMATE INTRANSITIVE ATTRIBUTIVE 51

ého?féngse _ they say it's (here, there)
eho?tanesestotse they say they are (here, there)
dhoo?kohdnese they say it's raining

’ 7 4 *

gvahkongse . they say it's bent
évohkonesestotse they say they are bent
éma?éngse ) they say it's red
emaZonesestotse they say they are red
éheévén%ee . they say it's yellow
ehedvonesestotse they say they are yellow

7 e A ’ ° .

%pgh%va?gngse . they say it's good
épeheva?énesestotse they say they are good

V4 4 e A °

gmgsghistovengse . they say there is an eating
émesehéstovenesestotse they say there are "eatings'

INANIMATE INTRANSITIVE ATTRIBUTIVE--relational

dho?tédtsénese they say his is (here, there)
dho?tdtsenesestotse they say his are (here, there)
dhoo?kohdtsénese they say it's raining (relational)
évéhkdtsénése they say his is bent
évdhkotsenesestotse they say his are bent
dma?dtsénése they say his is red
éma?dtsenesestotse they say his are red
éhedvdtsénese they say his is yellow
éhedvotsenésestotse they say his are yellow
épehdvaétsénése they say his is good
épehévarétsenésestotse they say his are good

IR A AN . .. .
emesehestovetsenese they say there is an-eating (relational)

&méséh8stovetsenésestotse they say there are eatings (relational)



INANIMATE INTRANSITIVE NEGATIVE ATTRIBUTIVE

&sdaho?tédhanéhénese they say
AR .
ésdaho?tdhanéhenésestotse they say
7 A 4 ry F e
ésaahoo?kohdhanehénese they say
s A s, s, P e
ésaavohkohanehenese they say
ésdavdéhkohandhenésestotse they say
ésdama?éhanéhénése they say
ésdama?dhanéhenésestotse they say
/4 _A » e 7, r e
ésaaheovohanehenese they say
2 A o py, ® )
esaaheovohanehenesestotse they say
I4 ° °
esdapehéva?éhanéhdnése they say
ésdapéhéva?éhanéhenesestotse they say
ésdamesehestovéhanéhénese they say

ésdaméséh8stovehandhenésestotse they say

52

it's not (here, there)
they're not (here, there)

it's not raining

it's not bent
they're not bent

it's not red

they're not red

it's not yellow
they're not yellow

it's not good
they're not good

there's not an eating
there's not "eatings”

INANIMATE INTRANSITIVE NEGATIVE ATTRIBUTIVE--relational

isn't (here, there)

aren't (here, there)

it's not raining (relational)

isn't bent

ésdaho?téhanéhetotsenése they say his
ésdaho?tdhanéhetotsenésestotse they say his
ésdahoo?kohdhanéhetotsenése they say
ésdavéhkohanéhetotsenése they say his
ésdavdéhkohanéhetotsenésestotse. they say his
ésdama?dhanéhetotsendse they say his
ésdama?dhandhetotsenésestotse they say his
ésdahebvohanéhetotsenédse they say his
ésdahedvohandhetot senésestdtse they say his
ésdapéhéva?éhanéhetotsenése they say his
ésdapéhdva?éhanéhetotsenésestotse they say his
éséamgséhestovéhanéhetotsenése they say there's
ésdaméséh8stovéhandhetotsenésestdtse they say there's

aren't bent

isn't red
aren't red

isn't yellow
aren't yellow

isn't good
aren't good

not an eating (relat)
not eatings (relat)



INANIMATE INTRANSITIVE MEDIATE

dho?taneho
eho?tdnehoonotse

ghoo?kohdneho

hkoneho
hkonéhoonot se

\

4 A
2vo
Id A
2vo
4 ?

ema?oneho

’ 7 e e
eéma?dnehoonotse

’ ?
eheovoneho

Id 7 . .
ehedvonehoonotse

épéhéva?dneho
I ° A ’ o °
epeheva?eénehoonotse

4 4 . A
emesehéstovensho
AR N .
emesehestovenehoonotse

it was (here, there)
they were (here, there)

it was raining, it rained

it was bent
they were bert

it was red
they were red

it was yellow
they were yellow

it was good
they were good

there was an eating
there were "eatings"

INANIMATE INTRANSITIVE MEDIATE--relational

dho?tétseneho
ého?tatsenehoonotse

éhoo?kohdt seneho

évdhkotséneho
évdhkotsénéhoondtse

éma?dtseneho
’ ’ * .
ema?otsenehoonotse

s I'4
éheovotseneho

’ ’ £ e 3
eheovotsenehoonotse

épéhéva?étseneho
-7
é

pehéva?étsenéhoondtse

s 2 e A /
emesehestovetseneho

his was (here, there)
his were (here, there)

it was raining, it rained (relational)

his was bent
his were bent
his was red -
his were red
his was yellow
his were vellow
his was good
his were good

there was an eating (relational)

3Ee 7 e . ; i
éméséhBstovetsénéhoondtse there were "eatings" (relational)

53



INANIMATE INTRANSITIVE NEGATIVE MEDIATE 54

&sdaho?téhanéheneho
ésdaho?tdhanéhencéhoondtse

&sdahoo?kdhdhandheneho

/A °
ésdavdhkohanéheneho

; > ene .
ésdavdhkohanéhenehoondtse

2

ésdama?bhanéheneho

V' d A 4 7 e °
&saama?ohanéhenehoonotse

ésdapehdva?éhanéheneho
A ° ’ ® e
ésdapehéva?éhanéhenéhoonotse

it was not (here, there)
they were not (here, there)

it did not rain

it was not bent
they were not bent

it was not red
they were not red

it was not good
they were not good

INANIMATE INTRANSITIVE NEGATIVE MEDIATE--relational

dsdaho?tédhandhetot séneho
ésdaho?tdhandhetotsénéhoondtse

ésdahoo?kdhdhanéhetotséneho

A ° '
ésaavéhkohanéhetots§neho
&sdavdhkohanéhetot sénehoonotse

£
éséama?éhanéhetotsgneho
&sdama?éhanéhetotsénéhoonot se

. ’
ésdapehévaréhanéhetotséneho
&sdapehéva?éhanéhetotsénéhoondtse

his
his

was not (here, there)
were not (here, there)

it did not rain (relational)

his was not bent
his were not bent
his was not red
his were not red
his was not good
his were not good



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'see'

rd
navdomahtse
névdomat se
navdédmo
nédvdomamdého
névdomat seme

I'd A Vv
navoomoo?o

2 A
névdome

/7
névdomahtse
névddmo

Ve A 7
névoomamoho
névdomemeno

v A Vv
névoomoo 7o

2 A
navdoma
névdoma

A
évdomahtse
V4 A 14
évoomoho
ndvlomaene

Ve
névdomaene
névdSomasvo

ndvlomaetsenoto
névdomaetsenoto
évdomaa e
évdomahtdho
navdomaetsenone
névdomaetsenone
névdomaetsencvo
&vdomaevdho

névdomatsemeno
navdomdne
névdomamone

s A ° - .
navoomahtseme
névdomatsemeno
A
navdomdneo?o

2 A v
névdomdne
névdomamone
V4 A .
névoomahtsema
/ A
névdomdneo?o

névdomeme
névdomdvo
névdomamovo
névlomemeno

- voernenens
névoomahtseme
névdéomévoo?o

T e I o B e T e I

you

yo

you
you
you
you

he
he
he
he
he
he
he

he
he
he
he
he
he
he
he

we

we
we
we
we

you
you

yo

you
you

yoO

saw
saw
saw
saw
saw
saw

mys
you

the

saw
u saw
saw
saw
saw
saw t

m

h

saw
saw
saw

me
yo

elf

him
him (obv)
you (pl)

m

e

yourself

im

hem

u

himself

him (obv) 2-4
us(ex) 2-11

2-33

1-
1-
1-
1-
1-
1-
2-1
2=-2
72—

3=
3=
3=

T —

1 navoomaa?e

2 névdomaaie

s AV

3  évoomovo

4 névdomaendd?o

22 névdomaeneo?o

V4

33 névdomaevdd?o
s A e
gvoomahtseo?o

3
V' A —

navdomane
névdomane
évdome

A ’
n&vdomanéme
névdomanema
névdomanéme
évdomeo?o

w N =

they
they
they
they
they
they
they

I was seen

—voom=

saw
saw
saw
saw
saw
saw
saw

55
me 33-1
you 33-2

him (obv) 33-4
us (excl) 33-11
us (incl) 33-12
you (pl) 33-22
themselves 33-33

x-1

you were seen x-2

he was seen

x=3

we (excl) were seen x~11
we (incl) were seen x-12

you (pl) were seen
they were seen

saw
saw
saw
saw

(obv) saw
(obv)
(obv)

him (obv) 3-4
us (excl)3-11
us (incl)3-12
you (pl) 3-22

me 4-1
you 4=2
him 4-3

saw
saw

(abv)
(obv)
(obv)
(obv)
(obv)

(excl)
(excl)
(excl)
(excl)
(excl)
(excl)

(incl)
(incl)
(incl)
(incl)

(p1)
(p1)
(r1)
(p1)
(r1)
(p1)

u

u

saw
saw
saw
saw
saw

saw
saw
saw
saw
saw
saw

saw
saw
saw
saw

saw
saw
saw
saw
saw
saw

you (pl)

himself 4-4

us (excl) 4-11
us (incl) 4-12
4=22
them 4~33

you 11-2

him 11-3

him (obv) 11-4
ourselves 11-11
you (pl) 11-22
them 11-33

him 12-3
him (obv) 12-4
ourselves 12-12
them 12-33

me 22-1

him 22-3

him (obv) 22-4
us (excl) 22-11
yourselves 22-22
them 22-33

x=22
x=33

(Note: Cheyenne reflexives
are identical with corres-
ponding reciprocals, e.g.
navoomdhtseme means either
'we (excl) saw ourselves',
or, 'we (excl) saw each
other.")

(PA *wa:pam— (TA), Ch. -vdom=)



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'eat' -mév- 56

/’
namévahtse
némevatse
némévo

n »
namevamoho

A 2
némévatseme
ndmévoo?o

némeve
némévahtse
némévo

Vd A ’
némevamoho
némévemeno
némévoo?o

nameva
némeva
émévahtse
Id I ?
emevoho

14 I d /&4
namévééne
s A
némevaene
Id Id |4
némévéévo

némévaetsenoto
némévaetsenoto
dmévéde
émévahtdho
namévaetsenone
némévaetsenone
némévaetsendvo
émévaevdho

némévatsemeno
namévdne
némévamone

’ Vd ° ’
namevahtseme
némévatsemeno

A

némévoneo?o

némévone
némévamone
némévahtsema
némévoneo?o

’ 1 d ’
némévéme
némévévo

Vs
némévamovo
némévemeno

7 ’ e 7
nemevahtseme
némévovoo?o

| ) l—'l—‘lTl—‘b——‘)—-‘
W o= W N = W N WM
w N

W =

IT)I\JI\JIT)NN

TOPEEYerY
N = = PN W N
N BN =

I

J
W RN = = 0N

4-\J>J-\Ji\-l-\4-\.l:\4-\
W NN =

[y
[y
I
N

11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

nédmévéale 33-1
némévaae 33-2
dmévovo 33=4
namévaendd?o 33-11
némévaeneo?o 33-12
némévaevdd?o 33-22
émévahtseo?o 33-33
ré I d ’
namevane x=1
Id 14 Id
nemevane x=2
dmeve x=-3
Ve A Id
namevaneme x=-11
némévanema x=12
’ A Id
nemevaneme xX=22
dméveo?o x=33

EXAMPLES IN SENTENCES:

namévo vadtséva I ate the deer (1-3)
némévad'e They gossiped about you (33~2)
émévdho He'xo He ate the duck (3-4)
némevoneo'o méséhéstoto We ate

potatoes (11-3)
émeve ndhkohe The bear was eaten (x-3)



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'fight' -méd2t - 57

7 A
namec?tahtse
7 A °
neméo?tatse
I A4
nameo?to

L A Id
naméo?tamoho
s A —
néméo?tatseme
s A
nameo?too?o

némdoxe
A
néméo?tahtse
Id Yy 4
nemeo?to
A
néméo?tamdho
néméoxemeno
7 A
némeo?too?0

A
naméo?ta
néméo?ta
éméo?tahtse
éméé2tdho

14 &4 r P’
nameo?taene
Y3 A
némeo?taene
’ a4 &4
nemeo?taevo

7 A
nameo?taetsenoto
Ié
nemeo?taetsenoto
Id &4 &4
emeo?taate
14 N 4 ° /4
emeo?tahtoho
V4 A
nameo?taetsenone
rd A
némeo?taetsenone
Ve A —
néméo?taetsenovo
Ve A ?
émeo?taevoho

yd A
némeo?tatsemeno
Ié V4 4
nameo?tone

4 A
nameo?tamone

’ IaNd e Id
nameo?tahtseme
I A
nemeo?tatsemeno
rd A
nameo?toneo?o

A
néméo?tone
7 A
némeo?tamone
/ °
néméo?tanhtsema
neméo?toneo?o

I

nemeoxeme

4 7’ 4

nemeortovo

’ A

némeo?tamovo
A

néméoxemeno

14 r 2 . 7

nemeo?tahtseme

v A

nemeo?tovoo?o

; wwu«.lowww
N = B0 DN
NN =

|
WO DN b= b= W DN

J-\-l-\.l.\JI-\J-\J-\J-\-L\
W NN ==

—
[
I
[NS]

11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22=4
22-11
22-22
22-33

naméd?tdate 33-1
néméd?téd e 33-2
éméo?tovo 33-4

néméo?taendd?o  33-11
néméo?2taeneoc?o  33-12
géméo?faevéé?o 33-22
éméo?tahtseo?o  33-33

naméd?téne %=1
Id a4 14
nemeo?tane x=-2
éméohe %=3
A
naméo?tanéme x=11
néméo?tanema x=12
néméo?tanéme ®=22
dméoheo?0 x=33

Meaning examples:

1-33 I fought them.

3-11 He fought us.

3-4 He fought him (obviative).
33-1 They fought me.

PA *mi:ka:6- , Ch. =-méd2t-

Correction: lhere,andl HwouS)aoui'
this 9vmmmmf‘) there shouwld be no (7)
5)okhd s+o? in The verb stewm Fov
“love ' . Hewee ‘I love him CL—SB‘

is cormc+B sye)led as namédto,



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'say' <-het=

ndhetahtse
néhetatse
ndhéto
ndhetamdho
ndhetatseme
ndhetoo?o

4 v
nehese
néhetahtse

Id ’
neheto
néhetamdho
néhedemeno
néhetoo?o

ndheta
néheta
dhetahtse
éhetdho
ndhetaene
néhetaene
néhetaevo

ndhetaetsenoto
néhetaetsenoto

éhetaa?e
dhetahtdho

ndhetaetsenone
néhetaetsenone
néhetaetsenovo

hetaevdho

néhetatsemeno

ndhetdne

14
nahetamone
nahetahtseme

néhetatsemeno

ndhetdneo?o

14 v
nehetone

Id
nehetamone

; .
nehetahtsema

Id Id
nehetoneo?o

Id Y —
neheseme

Id Id
nehetovo

Id
nehetamovo

I v
nehesemeno

4 ° -—
nehetahtseme

4 Id
néhetovoo?o

1-1
1-2
1-3
1-4
1-2
1-3

11-2
11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

ndhetaa’e 33-1
néhetaa?e 33-2
dhetdvo 33-4
ndhetaendd?0o 33-11
néhetaeneo?o 33-12
néhetaevdd?o 33-22
éhetahtseo?o 33-33

ndhetane x-1
néhetane ®=2
dhestdhe x=3
ndhetandme x-11
néhetanema x=12
néhetandme x=22
éhestdheo?o x=-33

Meaning examples:

1-3 I said to him, I told him.
3-11 He told us.

3=4 He told him (obv).

33-1 They told me.

x-3 He was told, he is called.
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TRANSTITIVE ANIMATE INDEPENDENT INDICATIVE--'accidentally cut' =-a?tas- 359

, .
naa?taxestse
) .
nea?taxestse
> et
naattaso
14 e ’
naa?taxamoho
- " _
nea?taxetseme
7 . Vv
naa?tasoo?o

néa?taxe
néa?taxestse
néa?taso
néa?taxamdho
néa?taxemeno
Id ° v v
nea?tasoo?o

naa?taxe
7

nea?taxe
da?taxestse
da?tasdho
nda?taxeene
néa?taxeene
néa?taxeevo

nda?taxeetsenoto
e X
nea?taxeetsenoto
da?taxeere
da?taxestdho
nda?taxeetsenone
néa?taxeetsenone
7 o s
nea?taxeetsenovo
7 ° Ly
ea?taxeevoho

néa?taxetsemeno
nda?tasdne
nda?taxamone
nda?taxestséme
néa?taxetsemeno
V4 . Id
naa?tasoneo?o

7 * Vv
nea?tasone

A N
nea?taxamone

’ ° L) N
nea?taxestsema

7 * 7’
nea?tasoneoc?o

, . -
nea?taxeme

’ . 4
néa?tasovo

; N
nea?taxamovo

A .
nea?taxemeno

’ ° » =
nea?taxestseme

Vé . Id
néa?tasovoo?o

naa?taxes ?e 33-1
néa?taxee e 33-2
da?tasdvo 33-4

naa?taxeeneo?o  33-11
néa?taxeeneo?0  33-12
néa?taxeevdd?2o  33-22
da?taxéstseo?o  33-33

ndaa?taxéne %=1
néa?taxene %=2
da?taxe x=3
nda?taxenéme x=11
néa?taxenema x-12
néa?taxenéme x=22
da?taxeo?0o x-33

Meaning examples:

1-3 I accidentally cut him.
x=1 I was accidentally cut.
3-4 He accidentally cut him (obv).

PA *nepe?teswa:wa I acc. cut him,
Ch /na a?tas o/



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'teach'

2 I é Vé
navovéstomevaht se
névovéstomevat se
ndvovéstomevo

4 4 V4 2
navovestomgvamoho

1 d —
ndvovéstomévat seme

Vd
navovéstomevoo?o

névovéstomeve

I é 4 ’
nevovestomevaht se
névovéstomevo

V4 14 4 Y d
néevovestomevamoho
névovéstomevemeno

névovéstomevoo?o

ndvovéstomeva
névovéstomeva

/4 1 d v
evovestomevahtse
évovéstomevdho
navovéstomdéne
névovéstomdene
névovéstomdévo

’ Id Vd
navovestomoetsenoto
/4 Id Ié
nevovestomoet senoto
14 Id &4
evovestomoo?e

14 Id . PO 1 4
evovestomévahtoho
ndvovéstomdet senone
névovéstomdet senone
névovéstomdet senovo
dvovéstombevdho

? » é
nevovestomevat semeno

névovéstomgvéne
nadvovéstomévamone

I d 4 1 4 e 14
navovéstomevaht séme

I3 ? /
nevovestomévat semeno

Id Id I'd
navovéstomevoneo?o

névovéstomevdne
névovéstomévamone
névovéstomévaht sema
névovéstomevdneo?o

névovéstomeveme
névovéstomevévo
névovéstomévamovo
névovéstomevemeno

14 Vé I é @ ?
néevovestomevaht séme

V d P Vd
nevovéstomevovoo?o

] I
W o= W N =
w N

W =
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W N = = W N =
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Id 2 &4
navovestomod?e

Ié Id ? 2
nevovestomoo?e

4 4 v
evovéestomevovo

4 Id 4 v v
navovestoméenéd?o
4 2 14
nevovestomoeneo?o
’ 7 14 v v
nevovestomoevod?o
Vé 4 4 d
evovéstomevaht seo?o

14 2 14
navovestomone
névovéstomdbne
1é Y d v
evovestomohe
navovéstomdnéme
névovéstomdnema
névovéstomdnéme
Id V4 14
evovestomdheo?o

Meaning examples:

1-33 I taught them.
11-3 We taught him.

14
-vovestomev=

33-1
33-2
33-4
33-11
33-12
33-22
33-33

x=1
x=2
x=3
x=11
x=12
x=22
x-33

33-1 They taught me.

3~1 He taught me.
1-2 I taught you,

60



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'chase' -néhov=-

nanéhovahtse 1-1 nanéhdd?e 33-1

nénehovat se 1-2 nénéhdd?e 33-2

nanéhdvo 1-3 énéhovovo 334

nanéhovamdho 1-4 nanéhoeneo?o 33-11

nénéhovatseme 1-22 nénéhoeneo?o 33-12

ndnéhovoo?o 1-33 nénéhoevoo?o 33-22
énéhovahtseo?o  33-33

nénéhove 2-1

nénéhovahtse 2-2

nénéhdvo 2-3

nénéhovamdho 2-4 nanéhdne x-1

nénéhovemeno 2-11 nénéhdne x=2

nénéhovoo?o 2-33 énéhohe x=3
nanéhdnéme x=11

nanéhova 3-1 nénéhonema x=-12

nénéhova 3-2 nénéhdnéme x=22

énéhovahtse 3-3 énéhoheo?o x=-33

énéhovdho 3-4

ndnéhdéne 3-11

nénéhoene 3-12

nénéhdévo 3-22

nanéhoetsenoto  4-1

nénéhoetsenoto  4-2 Meaning examples:

énéhddre 4=3

énéhovahtdho A 1-3 I chased him.

nadnéhoetsenone  4-11 3-2  He chased you.

nénéhoetsenone  4-12 3-4  He chased him (obv).

nénéhoetsenovo  4-22 x-3  He was chased.

énéhoevdho 4-33

nénéhovatsemeno 11-2

nédnéhovdne 11-3

nanéhovamone 11-4

nanéhovahtseme  11-11
nénéhovatsemeno 11-22

nanéhovdneo?o 11-33
nénéhovdne 12-3
nénéhovamone 12-4
nénéhovahtsema 12-12
nénéhovdneo?o 12-33
nénéhoveme 22-1
nénéhovdvo 22-3
nénéhovamovo 22-4
nénéhovemeno 22-11

nénéhovahtseme  22-22
nénéhovdvoo?o 22-33



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--"know' -héne?enov- 62

nédhéne?endvantse 1-1 nédhéne?endd?e 33-1

néhéne?enovat se 1-2 néhéne 2endé?e 33-2

néhéne?en§vo 1-3 éhéne?enovdvo 33-4

néhéne?engvamého 1-4° ndhéne?endeneo?o 33-11

néhéne?endvatseme 1-22 néhéne?endeneo?o 33-12

ndhéne ?enovoo?o 1-33 néhéne?endevdd?o 33-22
éhéne?endvahtsec?o  33-33

néhéne?enove 2-1

néhéne?endvahtse 2-2

néhéne ?enovo 2-3

néhéne?endvamdho 2-4 ndhéne?endne x=1

néhéne?enovemeno 2-11 néhéne?endne x=2

néhéne?enovoo?o’ 2-33 éhéne?endhe =3
nédhéne?endnéme x-11

ndhéne?enova 3-1 néhéne?endnema x=-12

néhéne?enova 3-2 néhéne?endnéme x=22

éhéne?endvahtse 3-3 éhéne?endheo?o x=33

éhéne?enovdhe 34

nahéne?endéne 3-11

néhéne?endene 3-12

néhéne?endévo 3-22

nahéne?endetsenoto  4-1 Meaning examples:

néhéne?endetsenoto  4-2

dhéne?enddre 4=3 1-3 I know him,

éhéne?enovahtdho b=t 1-33 I know them.

néhéne?endetsenone  4-11 3-1 He knows me,

néhéne?endetsenone  4-12 4-3  He (obv) knows him.

néhéne?endetsencovo  4-22

éhéne?endevdho 4-33

néh&ne?endvatsemeno 11-2
néhéne?engvéne 11-3
ndhéne?endvamone 11-4
nédhé&ne?endvahtséme  11-11
néhéne?endvatsemeno 11-22

nahéne?enovdneo?o 11-33
néhéne?enovdne 12-3
néhéne?enévamone 12-4
néhéne?endvahtsema  12-12
néhéee?enovéneo?o 12-33
néhéne?enoveme: 22-1
néhéne?enovévo 22-3
néhéne?endvamovo 294
néhéne?enovemeno 22-11

néhéne?endvahtséme  22-22
néhéne 2enovdéweo?o 22-33



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'be good to'

népéhéve?tovahtse
népéhéve?tovatse
napehévé?tévo
ndpéhéve?tamdho
népéhdve?tovatsame
ndpéhéve ?tovdd?o

népehéve?tove
népéhéve?tovahtse
o F b,
nepeheve?tovo
® . A 14
népéhéve?2tovamdho
népehéve ?tovemeno
népehéve?tovddo

ndpehéve?tova
népehéve?tova
épehéve?tovahtse
épéh%vg?tggého
napeheve?toene
népehéve?toene
népehévé?téévo

népehéve?toetsenoto
népéhéve ?toetsenoto
épehévé?tddre
épehéve?tovahtdho
ndpehéve?toetsenone
népéhéve ?toetsenone
népehéve?toetsencvo
épehéve?toevdho

népéhéve?tovatsemeno

népehéve?tovdne

4 e A
napeheve?tovamone
ndpehéve?tovahtseme

népehéve?tovatsemeno

e A
ndpehéve?tovéneo?o

s o A v
nepeheve?tovone

I e A
nepeheve?tovamone

’ e A hd
népeheve?tovahtsema

’ o A 4
nepeheve?tovoneo?o

népehéve?toveme
IS A4 ¢ 7
nepeheve?tovavo

o A
népehéve?tovamovo
° A
népehéve?tovemeno
r e A ° —_—
nepeheve?tovahtseme
7 ® ., A 4
nepeheve?tovovoo?o

I

N T e T e e )
I [

W N WD
w N
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11-2
11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

ndpéhévé?tdS2e
népéhévé?tdd2e
épéhéve?tovdvo
népéhéve?toeneo?o
népehéve?toeneo?o
népéhéve?toevdd?o

épéhéve?tovahtseo?o

I S Y4
napehéve?tone

7 o, 4 02
nepeheve?tone

r e, A v
epeheve?tohe
SN 4 T4
napehevé?toneme
7o, A
nepeheve?tonema
r_ o, 7 T4
nepeheve?toneme
r o, A ’
epeheve?toheo?o

Meaning examples:

-pehéve?tov-

33-1
33-2
33-4
33-11
33-12
33-22
33-33

x-1
x=-2
x=3
x=-11
x=12
x=22
x=-33

1-3 I was good to him, I took

care of him.

33-2 They took care of you.
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64
TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'destroy (by burning)' -vonaho?n-

ndvonaho?hestse 1-1 ndvonaho?h&s?e 33-1

névonaho?héstse 1-2 névonaho?hd&?e 33-2

ndvonahd?no ' 1-3 évonaho?novo 33-4

ndvonaho?hamdho 1-4 ndvonaho?heenso?o 33-11

névonaho?hetseme 1-22 névonaho?heeneo?o 33-12

ndvonaho?noo?o 1-33 névonaho?heevdd?o 33-22
évonaho?hestseo?o 33-33

névonaho?he 2-1

névonaho?hestse 2-2

névonahd?no 2-3

névonaho?hamdho 2-4 ndvonaho?he x-1

névonaho?hemeno 2-11 névonaho?he x=2

névonaho?noo?o 2-33 évonaho?he x-3
ndvonaho?hame x=11

navonaho?he 3-1 névonahé?hema x=12

névonaho?he 3-2 névonaho?heme x=22

dvonaho?hestse 3-3 dvonahd?heo?o x=33

dvonaho?ndho’ 3=/

navonaho?heéne 3-11

névonaho?heene 3-12

névonaho?héévo 3-22

ndvonaho?heetsenoto
névonahoffbeétsenoto
dvonaho?hé&se
évonaho?hestdho

J>J-\-I-\J-\4i\-l-\4-\4-\
WO N b= = W N =

ndvonaho?heetsenone 4-11
névonaho?heetsenone 4-12
névonaho?heetsencvo 4-22
evonaho?heevdho -33
névonahé?hetsemeno  11-2
ndvonaho?ndne 11-3
ndvonahd?hamone 11-4
ndvonaho?hest seme 11-11
névonaho?hetsemeno  11-22
ndvonaho?néneo?o 11-33
névonahd?none 12-3
névonaho?hamone 12-4
névonaho?hestsema 12-12
névonaho?ndneo?o 12-33
névonaho?heme 22-1
névonaho?ndvo 22-3
névonahd?hamovo 22-4
névonahd?heméner 22-11
névonahdé?hestseme 22-22

névonaho?ndévoo?o 22-33



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'measure'

ndtaevédhestse
nétaevaestse

4 V4
nataevahno
ndtaevadhamdho

I 4 _—
netaevahetseme

2 4
nataevahnoo?o

I
netaevahe

’ 4
nétaevahestse

I 4
netaevahno

Ié V4 Id
nétaevahamoho

Id 7
netaevahemeno

' ’
netaevahnoo?o

’

nataevahe

I

nétaevahe

2 ?
etaevéahestse
V4 4 V4
étaevahndho
7 ? 4
nataevahéene
4 Id
netaevaheene
14 14 2?7
netaevaheevo

nétaevédheetsenoto
Id Vd -
netaevaheétsenoto
Id I 4
étaevahee?e
étaevéhestdho

Id Id
nataevaheetsenone
nétaevédheetsenone
nétaevaheetsenovo
Id V4 Vd
etaevaheevoho

4 /4
netaevahetsemeno

14
nataevahndne

’

nadtaevéhamone

4 V4 _—
nataevahestseme
nétaevéhetsemeno

’ ’
nataevahnoneo?o

I /4
netaevahnone

4 2y
netaevahamone

7 14
nétaevahestsema

’ 14
neétaevahnoneo?o

Id 14 Id
netaevaheme

? 14 ?
netaevahnovo
nétaevéhamovo
nétaevéhemeno
nétaevéhestsene

Id 14
netaevahnovoo?o

I »—-»—-w-rn——-r——-n—t
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11-4

11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

’ V4 ’ 7
nataevaheée?e

7 Vé e
netaevahée?e

7 14
étaevahnovo

4 d
nataevaheeneo?o
? Id
netaevaheeneo?o
7 14 vV
netaevaheevoo?o
Id Id
etaevahestseo?o

Id Id Id
nataevahéne

Id s I
netaevahene

4

etaevahe

14 14 e
nataevahenéme

4 7
netaevahenema

Id /4 -
netaevahenéme

4 2 -

etaevaheo?o

~taevéhn- 65

33-1
33-2
33-4
33-11
33-12
33-22
33-33

x-1
x=2
x=3
x-11
x=12
x=22
x=33



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'break off by tool' -po?ohn-

nédpo?6hestse 1-1 napo?ohee 2e 33-1

népoloestse 1-2 népo?0hee 2e 33-2

ndpo?ohno 1-3 €po?0hndvo 33-4

népo?ohamdho 1-4 ndpo?6heeneo?  33-11

népo?oheme 1-22 népo?0heeneo?o  33-12

nédpo20hndd?o 1-33 népo?0heevdd?o  33-22
_ épo?ohestsec?o 33-33

népo?ohe 2-1

népo?0hestse 2-2

népo?ohno 2-3

népo?ohamého 2-4 napo?ohene x-1

népo?0hemeno 2-11 népo?0hene x=2

népo?6hndd?o 2-33 épo?ohe x=3

ndpo?oheneme x-11

ndpo?ohe 3-1 népo?dhenema x=-12

népo?ohe 3-2 népo?cheneme x=22

épo?0hestse 3-3 €po?dheo?o x-33

épo?0ohndho 3-4

napo?dheene 3-11

népo?0heene 3-12

népo20heevo 3-22

ndapo?oheetsenoto  4-1

népo?0heetsenoto  4-2

épo?ohee?e 4-3

épo?dhestdho b=4

ndpo?0heetsenone  4-11

népo?0heetsenone  4-12

népo?oheetsencvo  4=22

épo?0heevdho 4-33

népo?0ohetsemeno 11-2

nédpo?0hndne 11-3

nédpo?0hamone 11-4

ndpo?0hestseme 11-11

népo?0het semeno 11-22

ndpo?ohndneo?o 11-33

népo?ohndne 12-3

népo?0hamone 12-4

népo?0hestsema 12-12

népo?0hndneo?o 12-33

népo?0heme 22-1

népo?ohndvo 22-3

népo?0hamovo 22-4

népo?0hemeno 22-11

népo?ohest seme 22-22

népo?ohndvoo?o 22-33



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'give' -méa?tov- 67

naméa?tovahtse
Id A °
nemea?tovatse
L3 °
ndmeanot se
i 7
néméavdnoto.
2 A —
nemea?tovatseme
ndméanoto

néméa?tove
néméa?tovahtse
néméanotse
néméavénoto
néméa?tovemeno
néméanoto

14 A
namea?tova
’ A
neméa?tova
éméa?tovahtse
A
émeanotg
4
naméd?toéne
Id A .
nemea?toene
némé42tdéévo

naméa?toetsenoto
7 A /4
nemgé?to%tsenoto
dmé&2t882¢
éméa?tovahtdho
14 A
naméa?toetsenone
Id A -
nemea?toetsenone
néméa?toetsenovo
Id A ’
emea?toevoho

néméa?tovatsemeno

IO 4
hameanone
néméavdénone -

2 A ° =
namea?tovahtseme

néméa?tovat semeno

? A Id
nameanoneo?o

néméanone
néméavénoneac
néméa?tovahtsema
néméandneo?o

P ANa —
némea?toveme
néméandve
néméavdnovo
néméa?tovemeno

’ A o —
nemea?govahtseme
néméanovoo?o

1-
1=
1=
1=
1-
1~

W N WN
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11-2

11-4

11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22=4
22-11
22-22
22-33

ndmed?2tdd2e 33-1
ndméd 2t 337 33-2
éméanovo 33-4
néméa?toeneo?o 33-11
néméa?toeneo?o 33-12
néméa?toevoo?o 33-22

7 A

eméa?tovahtseo?o 33-33

? 77 ’

namea?tone %=1
I 4 4

nemea?tone x=2
P A

emeahtove x=-3
I &4 Ié 7

namea?toneme x-11
? A

nemea?tonema x-12
? £ ’ I

nemea?toneme x=22
7 A

gmeahtecveo?o x=33
A Ié

emeavonoto 3=5
7 A 2

emeavonovo 33=5

Meaning examples:

1-3 I gave him away.
3-4 He gave him (obv) away.
x-33 They were given away.

This, and the next, verb is included
to illustrate the special marking
that certain verbs receive in their
TA direct forms. The expected
spelling of the above 1-3 verb, for
instance, is ndméd?tdvo, with the
same final found with the 1-3 form
of ndpehéve?tovo 'I was good to him'
(earlier verb). Other 1-3 verbs
having the "special" marking are:

ndno?evéhendtse be named after
ndne?etamenctse depend on, trust in

ndamo?xenotse  carry on back
ndnomdhtsenotse steal

ndho?ahenotse  want

namonénotse choose

néheskénotse have as mother (she

is my mother)--and
other TA "relationship'
verbs

i



TRANSITIVE ANIMATE INDEPENDENT INDICATIVE--'have as friend' =hevésenédhe?tov-

ndhevésenédhe?tovahtse

V4 Id Id °
nehevesenehe?tovatse
ndhevésendhenotse

Ié Ve Vé 14
nahevesenghevonoto

V4 ’ Id —
nehevesenehe?tovatseme
ndhevésendhenoto

néhevésenéhe?tove
néhevésendhe?tovahtse
néhevésendhenotse

Id Id /4 ’
nehevésenehevonoto

14 Id ’
nehevesenéhe?tovemeno

’

néhevésenéhenoto

Id Id ?
nahevéesenehe?tova
7 I Id
nehevesenehe?tova
V4 Id V4
eheveseneéhe?tovahtse
Id Id ’
ehevesenéhenoto

Id Ié 14 L4
nahevesenehe?toene
Id Ié Id
nehevesenehe?toene
’ Id ’ &4
nehevesenehe?toévo

Id Id Id
nahevesenehe?toetsenoto
14 14 Id
nehevesenehe?toetsenoto
I d Id Id /&4
dhevésenéhd?td47e
V4 Id 14 °© Vé
ehevesenehe?tovahtoho
14 /4 14
nahevesenehe?toetsenone
Ié ’ Id
nehevésenehe?toetsenone
Id I d 7 e
nehevesenehe?toetsenovo
V4 I d I d ?
ehevesenehe?toevoho

néhevésenéhe?tovatsemeno

Vd Ié /4 a4
nahevesenehenone

’
nédhevésenéhevonone
nahevésenéhe?tovahtseme

néhevésenéhe?tovatsemeno

. &
ndhevésenéherdoneo?o

néhevésenéhenone
néhevésendhevdnone
néhevésenéhe?tovahtsema
néhevésendhendneo?o

néhevésenéhe?toveme

’ Id Ié P4 7
nehevesenehénovo

Ié

néhevésenéhevdnovo

Id Id Id
néehevesenehe?tovemeno

Ié 14 7 ° —-—
nehevesenehe?tpvahtseme
néhevésendhendovoo?o

1-1
1-2
1-3
1-4
1-2
1-3

2
3

I
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11-2
11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

VA
nadhevésenéhe?tdd?e
néhevésenéhé?tdde

éhevésenéherovo
nahevésenéhe?toeneo?o

’ Id Id
nehevésenehe?toeneo?o

Id ’ ’
nehevesenehe?toevoo?o

dhevésendhe?tovahtseo?o

68

33-1
33-2
33-4
33-11
33-12
33-22
33-33

14 14 I,I
nahevesenéhe?tone

’ ’ p, P s
néhevesenehe?tone

I ’ Vd
ehevesenehestove

’ ’ ’, & T4
nahevesenehe?toneme
Id /4 7
nehevesenehe?tonema
’ Id 2, & a4
nehevésenéhe?tonéme

éhevésenéhestoveo?o

Meaning examples:

x=1
x=2
x=3
x-11
x=12
%x=22
x=33

1-3 He is my friend
3-1 I am his friend

33-1

I am their friend (they have

me as a friend)

RELATED EXAMPLES:

nahegke
néhedkenotse

néhehe
néhéhenotse

ndhestdnahe
ndhestdnahendtse

7 I
nahenesone

14 Id . °
nahenesonehenotse

Ié Id .
nahenescnehe?tova

I have a mother (AI).
She is my mother.

I have a father.
He is my father.

I have a daughter.
She is my daughter.

I have a child.
He is my child.(1-3)
I am his child. (3-1)



TRANSITIVE ANIMATE INDEPENDENT NEGATIVE-- 'not see'’ 69

4 T
nasdavdéomaht sehe 1-1 nasdavdomaeheo?o 33-1
AP —
nésaavgométsehe 1-2 nésdavdomaeheo?o 33-2
A
ndsdavéomdhe 1-3 dsdavéombhevo 33-4
& AP V4 A 2 2
nasaavoomamoheho 1-4 ndsdavdomaehéneo?o 33-11
2 _A__ P s 2 ) A » ’
nésaavoomat seheme 1-22 nesaavoomaeheneo?o 33-12
A P P Y . D4 4 B
ndsdavooméheo?o 1-33 nésdavdomaehévoo?o  33-22
) &sdavéomahtséheo?o  33-33
2 A o—
nesaavoomehe 2-1
nésdavdomaht sehe 2-2
s AR 2 P
nésaavoomohe 2=3
V d Y d
nésdavdomambheho 2-4 ndsdavdomanéhe x-1
A2 o '
nésdavdomeéhemeno 2-11 nésdavdomanéhe x=2
F R S 4
nésdavéomdheo?o 2-33 ésdavdéoméhe x=3
nasdavéomanéhéme x=11
Y R Y
nasaavoomaehe 3=1 nésdavdomanéhema x=12
4 A P == /A p &N 4
nésaavoomaehe 3=2 nesaavoomanéhéeme x=22
A2 e e
ésdavdéomaht sehe 3-3 dsdavdoméheo?o x=33
Y S 4
ésdavéomdheho 3=4
TN Y 4 14
nasaavoomaehene 3-11
nésdavdomaehéne 3-12
S AP Id
nesaavoomaehevo 3=22
s AP 14
nasaavoomaehet senoto 4-1
nésdavéomaehét senoto 4-2 Meaning examples:
dsdavdomaeheho 4=3
dsdavdomaht séheho b=t 1-3 1 did not see him.
ndsdavdomaehét senone 4-11- 3-2 He did not see you.
nésdavdomaehét senone 4-12 3-4 He did not see him (obv).
A P 14
nésaavoomaehét senovo 4-22
ésdavdomaehévo 4=33

nésdavéomat sehemeno 11-2
A Id ’ 4
ndsaavéoméhéne 11-3
I A 4 »
ndsaavoomamohene 11-4
ndsdavdomaht séhéme  11-11
nésdavdomat sehemeno 11-22

nédsdavéoméheneo?o 11-33
nésdavéombhene 12-3
14 A I 4 4
nesdavoomamohene 12-4
nesdavdomahtséhema 12-12
nésdavdomdheneo?o 12-33
nesdavéoméhéme 22-1
I'd A I d 14 14
nesaavoomohevo 22=3
Ié A V4 1 d
nesaavoomamohevo 22=4
nésdavdomehemeno 22-11

nésdavéomahtséhéme  22-22
nésdavdomdhevoo?o 22-33



TRANSITIVE ANIMATE INDEPENDENT NEGATIVE-- 'not eat'

nasdamévahtséhe
> il

nésdamévatsehe
ndsaamévdhe

7 A ’ 14
nasaamevamoheho

14 A 7 ’ ’
nesaamevatseheme
néséamévoheo?o

7 A 7 7
nesaamevehe

14 A Vd ° 7
nesaamevahtsehe

A

nésaamévdhe

7 A Id 14
nesaamevamoheho
nésaamévehemeno
nésédamévoheo?o

14 A I d o
nasaamevaehe
nésdamévaeche

14 A Id . Id

esaamevahtsehe

14 A 14 o

esaamevoheho

14 A 7 14
nasaamevaehene

A
nésdamévaehene
néséamévaehdvo

V4 A ’ V4
nasaamevaehetsenoto
A
nésaamévaehétsenoto
ésdamévaeheho
14 A ’ * A
esaamevahtseheho
A
ndsaamévaehdtsenone
14
néssamévaehétsenone
nésdamévaehétsenovo
dsaamévaehevo

/4 A 14 i
nesaamevatsehemeno
A °
ndsaamévohéne
A
nésaamévamdhene
14 A 14 e Id 4
nasaamevahtseheme
A °
nésaamévatsehemeno
Id A 7 ® A
nasaamevoheneo?o

Id A 14 e
nesaamevohene
nésaamévamdhene

Id A 1d 4 A
nesaamevahtsehema

A °
nésaamévoheneo?o

7 A 4
nesaameveheme
A
nésdamévohévo
nésaamévamdhevo
A °
nésaamévehemeno
A , o ° 2, 7
nésaamevahtseheme
A 7oA
nesaamevohevoo?o

11-2
11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

? A 7 1
nasaamevaeheo?o
A
nésaamévaeheo?o
N 5
dsaamévohevo
7 A ’ 7
nasaamevaeheneo?0
nésaamévaehéneo?o
14 A
nésaamévaehdvoo?o
Id A °
dsaamévahtsé&heo?o

Id A Id '

nasaamevanehe
A

nésaamévandhe

Id A Id Id

esaamevehe

Id A ’ Id 7
nasaamevaneheme
nésaamévanéhema
nésaamévanéhéme

14 A 7 e

esaameveheo?o

33-1
33-2
33-4
33-11
33-12
33-22
33-33

x=1
x=2
x=3
x=-11
x=12
x=22
x=33

70



TRANSITIVE ANTMATE INDEPENDENT NEGATIVE--'not accidentally cut' 71

nédsda?a?taxéstsehe 1-1 nadsda?a?taxeeheo?o 33-1

nésda?a?taxetsehe 1-2 nésda?a?taxeeheo?0o 33-9

nasda?a?tasche 1-3 ésda?a?tasdhevo 33-4

nadsda?a?taxamdheho 1-4 ndsdaa?a?taxeehéneo?o 33-11

nésaa?a?taxetséhdme 1-22 nésda?a?taxeehéneo?o 33-12

ndsda?a?taxdheoc?o 1-33 nésda?a?taxeehdvoo?o 33-22
dsda?a?taxestséheo?o  33-33

nésda?a?taxehe 2-1

nésda?a?taxestsehe 2-2

nésda?a?tasohe 2-3

nésda?a?taxamdheho 2-4 ndsda?a?taxenche x=1

nésda?a?taxehemeno 2-11 nésda?a?taxenche x=2

nésaa?a?tasdheo?o 2-33 ésaa?a?taxehe x-3
nasaa?a?taxenéhéme x-11

nédsda?a?taxeehe 3-1 nésda?a?taxendhema x-12

nésda?a?taxeehe 3-2 nésaa?a?taxenéhéme x=272

ésda?a?taxestsehe 3-3 dsda?a?taxdheo?o x=-33

dsda?a?tasdheho 3-4

ndséda?a?taxeehéne 3-11

nésda?a?taxeehene 3-12

nésda?a?taxeehévo 3-22

ndsda?a?taxeehdtsenoto 4-1

nésda?a?taxeehdtsenoto 4-2

ésaa?a?taxeeheho 4=3

dsda?a?taxéstséheho A

ndsda?a?taxeehdtsenone 4-11

nésda?a?taxeehetsenone 4-12

nésda?a?taxeehétsenovo 4-22

dsda?a?taxeehevo 4-33

nésda?a?taxetséhemeno  11-2

nésaa?a?tasohéne 11-3

nasda?a?taxamdéhene’ 11-4

ndsda?a? taxestséhdéme 11-11

nésda?a?taxetséhemeno  11-22

ndséda?a?tasdheneo?o 11-33

nésda?a?tasdhene 12-3

nésda?a?taxamdhene 12-4

nésda?a?taxestséhema 12-12

nésaa?a?tasdheneo?o 12-33

nésda?a?taxéhéme 22-1

nésaa?a?tasdhévo 22-3

nésda?a?taxamdhevo 22-4

nésda?a?taxehemeno 22-11

nésda?a?taxéstséhéme 22-22

nésda?a?tasdhevoo?o 22-33



TRANSITIVE ANIMATE INDEPENDENT NEGATIVE--'not chase'

’ A 14 0 ——
nasaanehovahtsehe

14 A Id —
nesaanehovatsehe

7 A Id —
nasaanehovohe

7 A s’ 4
nasaanehovamoheho

’ A 7 Id Id
nesaanehovatsehéme

’ A 14 v
nhasaanehovoheo?o

4 A Id .
nesaanehovehe

Id A Id . e
nesaanehovahtsehe

’ A 7 —
nesaanehovohe

Id A 4 7
nesaanehovamoheho

14 N Id d
nesaanehovehemeno

Id ~ id 7
nésaanehovoheo?o

Id A Id 14
nasaanehoehe

14 N ’ I 4
nesaanehoehe

/4 A ’ ° Lot
esaanehovahtsehe
14 A 7 Id
esaanehovoheho
Id A Id 14 7
nasaanehoehene
14 A 7
nesaanehoehene
14 A ’ 77 Id
nesaanehoehevo

Ié A I d ’
nasaanehoehetsenoto
’ A I 4
nesaanehoehetsenoto
7 A Id
ésaanehoeheho
’ A Id hd 7
ésaanehovahtseheho
14 A Id Id
nasaanehoehetsenone
Id A I 7
nesaanehoehetsenone
Id A ld ’
nesaanehoehetsenovo
14 N Id
esaanehoehevo

nésdanéhovatsehemeno

? A Id Id Id
nasaanehovohene
ndsdaanéhovamdhene

? A 7 b 7 Id
nasaanehovahtseheme

ld A I °
nesaanehovatsehemeno

nasaanéhovdheneo?o

Id A i ’
nesaanehovohene

Id A ’ 7
nesaanehovamohene

14 A Id ° 14
nésaanehovahisehema

4 N Id /4
nesaanehovoheneo?o

I A Id Id 14
nesaanehoveheme

’ A Id ’ Id
nesaanehovohevo

’ A 14 7
nesaanehovamohevo

7 A 14 .
nesaanehovehemeno

’ N Id * ’ ld
nesaanehovahtseheme

’ A Id 14
nesaanehovohevoo?o

I
w N

I

NNIT)NNN
W = WD
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L =

] wwwtlnwww
N = = 0N =
N N =
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11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

14 A 14
nasaanehoeheo?0o

14 A Id
nesaanehoeheo?0

I A I d rd
esaanehovohevo

Ié A ' d 14
nasaanehoehéneo?o
7 A Id 14
nésaanehoehéneo?o
s A Id 7
nesaanehoehevoo?o
Id A Id e ’
esaanehovahtseheo?o

’ A Id 14 Id
nasaanehonehe

ld A Id 7 Id
nesaanehonehe

7 A Id Ié Id

esaanehohehe

7 A 7 4 o I4
nasaanehoneheme

14 A I d .
nesaanehonehema

’ A 14 7 . Id
nesaanehoneheme

14 A V4

esaanehoheheo?0

Note the contraction which occurs

in inverse forms.
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33-1
33-2
33-4
33-11
33-12
33-22
33-33

x=-1
x=2
x=3
x=11
x-12
x=22
x=-33



TRANSITIVE ANIMATE INDEPENDENT NEGATIVE--'not give' 73

ndsaaméa?tovahtsehe

Id A I d e
nesaaméa?tovatsehe
nésdaméahendtse

7 A ’ e Id
nasaameavohenoto

Id A Id 4 Ié
nesaamea?tovatseheme

A

ndsaaméahénoto

’ A 14 —

nésaamea?tovehe
A e —

nésaaméa?tovahtsehe
nésdaméahenotse

Id A 7 * Id
nésaameavohenoto

/4 A 14 @
nésaamea?tovehemeno
nésaaméahénoto

LA I d —
nasaamea?toehe
A Id —
nesaamea?toehe

Id A I hd -
esaamea?tovahtsehe
7 A Ié Id
esaaméahenoto

’ A N4 y &4 Id
nasaamea?toehene
7 A ’
nesaamea?toehene
ld A N4 ’ ’ Id
nesaamea?toehevo

2 A I d Ié
nasaamea?toehetsenoto
4 A Id 7
nésaamea?toehetsenoto
’ A Id
esaamea?toeheho
I3 A rd ° 7
esaamea?tovahtseheho
Ié A I d Id
nasaamea?toehetsenone
? A 7 I
nesaamea?toehetsenone
Id A I d I
nesaameéa?toehetsenovo
’ N Id
esaamea?toehevo

Id A ’ °

nésaamearttovatsehemeno
A 14
ndsaaméahéndne
A °

dsaaméavohénone
dsa
I d A
dsa
14 A
asé

3

nasdaméa?tovaht séhdme
nésdaméa?tovatsehemeno
nésdaméahénoneo?o

Id A I d Id
nesaameahenone
nésdaméavohénone

14 A 14 - Id
nesaamea?tovahtsehema

A
nésdaméahénoneo?o

I A V4 4 Id
nesaamea?toveheme

Id A N4 I /4
nesaameahenovo
nésdaméavohédnovo
nésédaméa?tovehemeno

rd A Id i 7 Id
nesaamea?tovahtseheme
nésdaméahénovoo?o
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11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

nédsaaméa?toeheo?o 33-1
nésdaméa?toehec?o 33-2
dsaaméahénovo 33-4
ndsaaméa?toehéneo?o 33-11
nésaaméa?toehéneo?o 33-12
nésaaméa?toehdvoo?o 33-22

dsaaméa?tovahtséheo?o 33-33

A L4 Id Ié
nasaamea?tonehe %=1
I A 77 4 I
nesaamea?tonehe x=2
I4 A 7?7 ’ Id
esaameahtovehe x=3
’ A a4 \d 14 I
nasaamea?toheneme x=11
N .
nésaaméa?toheneama x=12
’ A Y a4 . Id Id
nesaamea?toheneme x=22
A e ~
ésaaméahtovéheo?o x-33
dsaaméavohénoto 3-5
7 A °
dsaaméavohénovo " 33-5

Some examples in sentences:

nédshamdahendtse mo2dh ho?ha T did
not give the horse away. (1-3)
ndsdaméahénoto mo?dh no?hame I did
not give the horses away.(1-33)
dsdaméahénoto mo?éh_ no?hame He did
_.not give the horse(s) away. (3-4)
mo?éh- no?hame €saaméahtoveheo?o
" The horses were not given

away. (x-33)



TRANSITIVE ANIMATE INTERROGATIVE--'see' 74

ndvéomaht sehe 1-1 navoomaevohe 33-1
A
névoomat sehe 1-2 névoomaevohe 33~2
A
navoomohe 1-3 dvbomovovohe 33-4
A
ndvéomamovohe 1-4 ndvoomaenevohe 33-11
A
névoomat semehe 1-22 névoomaenevohe 33-12
A
navéomovohe 1-33 névoomaevovohe 33-22
évbomaht sevohe 33-33
I d A
nevoomehe 2=1
névbomahtsehe 2-2
’ A
névoomohe 2=3
/4 A Id A
nevoomamovohe 2-4 navoomanehe x=1
’ A 7 A
nevoomemenohe 2-11 nevoomanehe x=2
V4 A ? A
nevoomovohe 2-33 qvgomehg x=13
navoomanemanehe x=11
V4 A I d A I'd
navoomaehe 3-1 nevoomanemanehe x-12
A
névoomaehe 3=2 névGomaneme he ®=22
A e
dvoomahtsehe 3-3 évoomevohe x=33
évoomovohe 3-4
I A
navoomaenevohe 3-11
’ A Py
nevoomaenevohe 3=-12 Meaning examples:
névoomaevovohe 3-22
2-3: Did you see him?
ndvoomaetsenotohe 4-1 3-4: Did he see him (obviative)?
névoomaet senotohe 4=2 x-3: Was he seen?
dvdomaevohe 4=3
dvoomaht sevohe Lty
A
navoomaet senonehe 4=11
névoomaetsenonehe 4=12
névdomaetsenovohe 4=22
évoomaevovohe 4-33
névoomatsemenohe 11-2
/4 A
navoomonehe 11-3
ndvoomamonehe 11-4 .
ndvéomahtsemehe 11-11 The 11-11 form can also be: nadvoomahtsémanehe
névoomat semenoche 11-22
navoomone vohe 11-33
névbomonehe 12-3
név&omamonghe 12-4
Qome
névoomahtsémanehe 12-12
névdomonevohe 12-33
névoomemehe 22-1
névoomovohe 22-3
névdomamovohe 22~4
névdomemenohe 22-11
névdomaht semehe 22-22

névdomovovohe 22-33



TRANSITIVE ANIMATE INTERROGATIVE--'accidentally cut'

naa?taxestsehe
néda?taxetsehe
nda?tasohe
Jdte
naa?taxamovohe
néa?taxetsemehe
nda?tasovohe

néa?taxehe
néa?taxestsehe

- "
nea?tasohe

> R
néa?taxamovohe
néa?taxemenohe

- "
néa?tasovohe

nda?taxeehe
néa?taxeehe
da?taxeéstsehe
, .
ea?tasovohe

> R
naa?taxeenehe
P .
nea?taxeenehe
néa?taxeevohe

nda?taxeetsenotohe
néa?taxeetsenotohe
da?taxeevohe
da?taxestsevohe
nda?taxeetsenoneshe
néa?taxeetsenonehe
néa?taxeetsenovohe
da?taxeevovohe

néa?taxetsemenohe
naa?tasonshe

Ja rLe
naa?taxamonehe
nda?taxestsemehe

2 :
nea?taxetsemenohe
nda?tasonevohe

, .
nea?tasonehe

- S
nea?taxamonehe

4 b Id
nea?taxestsémanehe

- N
nea?tasonevohe

néa?taxemehe

> "
nea?tasovohe

. N
nea?taxamovohe
néa?taxemenohe

> T
neattaxestsemehe
néa?tasovovohe
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11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

nda?taxeevohe

, .
nea?taxeevohe

i R
ea?tasovovohe
nda?taxeenevohe
néa?taxeenevohe
, "
nea?taxeevovohe
, S
ea?taxestsevohe

nda?taxenehe

p S
nea?taxenehe
da?taxehe

7 . 4
naattaxenemanehe
néa?taxenémanehe
- <
nea?taxenemehe

” .
ea?taxevohe

Meaning examples:

75

33-1
33-2
33-4
33-11
33-12
33-22
33-33

x=-1
X=2
x=3
x=11
x-12
x=22
x=33

2=3 Did you accidentally cut him?
3-4 Did he acc. cut him (obwv)?
x-2 Were you accidentally cut?



TRANSITIVE ANIMATE INTERROGATIVE--'chase'

nanéhovahtsehe
Id A
nenehovatsehe
Id A
nanehovohe
n&néhovamovohe
? A
nenehovatsemehe
A
ndnéhovovohe

’ A
nenehovehe
nénéhovahtsehe

7 A
nenehovohe

Id A
nenehovamovohe
nénéhovemenohe
nénéhovovohe

Id A
nanehoehe

Id A
nenehoehe

Id A °

enehovahtsehe

’ A

enehovovohe

Id N
nanéhoenehe

Vé A
nenehoenehe

’ A
nenehoevohe

‘nénéhoetsenotohe
Id A
nenéhoetsenotohe
énéhoevohe
énéhovahtsevohe
A
nanéhoetsenonehe
’ A
nenéhoetsenonehe
A
nénéhoetsenovohe
énéhoevovohe

Id A
nenehovatsemenohe
nénéhovonehe
nédnéhovamonehe

V4 A .
nanehovahtsemehe
nénéhovatsemenohe

A
ndnéhovonevohe

4 A
nenehovonehe
nénéhovamonehe

Id A L I
nenehovahtsemanehe
nénéhovonevohe

14 A
nenehovemehe

V4 A
nenehovovohe
nénéhovamovohe
nénéhovemenohe
nénéhovahtsemehe
nénéhovovovohe
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11-4

11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4

22-11

22-22
22-33

nanéhoevohe
nénéhoe vohe
énéhovovovohe
nanéhoenevohe
nénéhoenevohe
nénéhoe vovohe

énéhovahtsevohe

nanéhonehe

4 A
nenehonehe
énéhohehe

4 A
nanehonemanehe
nénéhonemanehe
nénéhonemehe

Id A
enehohevohe

Meaning examples:

2-3 Did you chase him?

76

33-1
33-2
33-4

. 33-11

33-12
33-22
33-33

x-1
x=2
x=-3
x-11
x=12
x=22
x=-33

3-4 Did he chase him (obv)?
33-2 Did they chase you?

x=33 Were they chased?



TRANSITIVE ANIMATE INTERROGATIVE--'give' 77

ndméa?tovahtsehe 1-1 naméa?toevohe 33-1

néméa?tovatsehe 1-2 néméa?toevohe 33-2

naméanotse 1-3 éméanovohe 33-4

naméavdnotohe 1-4 ndméa?toenevohe 33-11

néméa?tovatsemehe 1-22 néméa?toenevohe 33-12

néméanotohe 1-33 néméa?toevovohe 33-22
dméa?tovahtsevohe 33-33

néméa?tovehe 2-1

néméa?tovahtsehe 2-9

néméanot se 2-3

néméavdnotohe 2-4 naméa?tonehe %=1

néméa?tovemenoche 2-11 néméa?tonehe x=2

néméanotohe 2-33 dméahtovehe =3
naméa?tonemanehe x=11

néaméa?toehe 3-1 néméa?tonemanehe x=12

néméa?toehe 3-2 néméa?tonemehe x=22

éméa?tovahtsehe 3-3 Emdzhtove vohe =33

éméanotohe 3-4

néméa?toenehe 3-11 dméavdnotohe . 3-5

néméa?toenehe 3-12 éméavdnovohe 33-5

néméa?toevohe 3-22

néméa?toetsenotohe 4-1

néméa?toetsenotohe 4=2

éméa?toevohe 4=3

éméa?tovahtsevohe A

néméa?toetsenonehe 4-11 Meaning examples:

néméa?toetsenonehe 4=12 .

néméa?toetsenovohe 4-22 2-3 Did you give him away?

éméa?toevovohe 4-33 2-33 Did you give them away?
3-5 Did he give his (obv) ___ away?

néméa?tovatsemenohe 11-2 x-3 Was he given away?

néméanonehe 11-3

néméavdnonehe 11-4

ndméa?tovahtsemehe 11-11

néméa?tovatsemenohe 11=22

naméanonevohe 11-33

néméanonehe 12-3

néméavdnonehe 12-4

néméa?tovatsémanehe 12-12

néméanonevohe 12-33

néméa?tovemehe 22-1

néméanovohe 22-3

néméavdnovohe 22-4

néméa?tovemenohe 29-11

néméa?tovahtsemehe 22-29

néméanovovohe 22-33



TRANSITIVE ANIMATE NEGATIVE INTERROGATIVE--'not see?' - 78

ndsdavdéomahtsehehe
nésdavdéomatsehehe
nésdavéomohehe
nasédavéomamohe vohe
nésédavdomatséhemehe
ndsaavdomohevohe

I A 7 .
nesaavoomehehe

Id A 14 e °
nesaavoomahtsehehe
nésdavdomohehe
nésdavdomamohevohe
nésdavéoméhemenonehe
nésdavdomohevohe

14 A 14
nasaavoomaehehe
nésdavdéomashehe

’ A 14 e °

esaavoomahtsehehe

dsdavdomohevohe
ndsaavdomaehenevohe
nésaavdomaehenevohe
nésdavdomaehevovohe

’ N ? Vd
nasaavoomaehetsenotohe

rd A 14 I d
nesaavoomaeheétsenotohe

dsiavdomaehe vohe

L4 A V4 ° .

esaavoomahtsehevohe
nésdavdomaehdtsenonehe
nésdavbomaehétsenonehe
nésdavdomaehétsenovohe

A
ésdavdomaehe vovohe

’ A 14 i
nésaavdomatsehemenonehe
ndsdavdomohenehe
ndsaavdomamohenehe

Vi A ’ ° Id N
nasaavoomahtsehemanehe
nésdavdomatsehemenonehe
nasdavdomohenevohe

7 A V4 °
nesaavoomohenehs
A °
nésaavdomamohenehe
Id A Id ° 7
nesaavoomahisehemanehe
N .
nésaavdomohenevohe

nésaavdomehemehe
nésaavdomohevohe
nésaavdomamohe vohe
nésaavdoméhemenonehe
nésaavdomdhe vovohe
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11-4

11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-33

ndsdavdomachevohe 33-1
nésaavdomaehevohe 33-2
ésaavdomohe vovohe 33-4
ndsaavdomaehenevonehe  33-11
nésdavdomaehenevonehe  33-12
néséavdomaehe vovohe 33-22
dsaavdomahtséhevohe 33-33
nasdavdomaneéhehe x-1
nésaavdomanehehe x=2
dsdavdomehehe x=3
nadsdavdomanéhemanehe x-11
néséavdomanéhemanehe x=12
nésaavdomanehemehe x=22
dsdavdomehe vohe x=33

(Notice the simlarity between
this paradigm and the following
TRANSITIVE ANIMATE DUBITATIVE
paradigm. The two paradigms
differ only in their prefixes
and =sda- preverbs, and in the
pitches of penultimate syllables.

EXAMPLES :

2-3 Didn't you see him?
2-11 Didn't you see us?
33-2 Didn't they see you?
x-33 Weren't they seen?



TRANSITIVE ANIMATE DUBITATIVE

ménédvoomahtsehehe

(e.g. 1-1:'T guess I saw myself')

1-1 méndvoomaehevohe 33-1
72 A e P A —
monevoomat sehehe 1-2 monevoomaehevohe 33=2
p P AN e i —
ménavSomohehe 1-3 mévdomohevo vohe 33-4
r 2 A ° — —
ménavéomamohevohe 1-4 méndvdomaehenevonehe  33-11
, 2 A o e —
ménévoomat sehemehe 1-22 ménévoomaehenevonehe  33-12
| A A [
ménévdomohevohe 1-33 ménévdomaehevovohe 33-22
ZVes ANAad
~ mévoomaht séhevohe 33-33
F I S W
monevoomehehe 2-1
mdénévdomaht sehehe 2-2
7 N 8 e
monevoomohehe 2-3
7 A . — 7 A ® e
monevoomamohevohe 2-4 monavoomanehehe x=1
Lome i i
ménévdomehemenonehe 2-11 ménévdomanehehe x=2
A e — o,
ménévdomohevohe 2-33 mévbomehehe x=3
méndvoomanéhemanehe x=11
7 2 A — 2P A 14 —
monavoomaehehe 3-1 monevoomanehemanehe x=12
A — e —
ménévoomaehehe 3-2 ménévSomanehemehe %=22
2 A e » 7 A @ —
movoomahtsehehe 3-3 movoomehevohe x=33
Lonant =g
mdévoomohevohe 3-4
i _
méndvéomaehensehe 3-11
2 2 A —
monevoomaehenehe 3-12
ménévoomaehevohe 3-22
PP A 2 —
monavoomaehet senotohe 4-1
- r 7 A ’ o R
monevoomaehetsenotohe  4-2 Meaning examples:
mévéomaehevohe 4=3
mévoomaht sehevohe b=4 2-3  You must have seen him.
V4 em N .
méndvoomaehétsenonehe  4-11 3-4 He must have seen him (obv).
’ — .
ménévoomaehét senonehe  4-12 33-4 They must have seen him (obv).
A Va p—
ménévoomaehét senovohe  4-22 x-22 You (pl) must have been seen.
mévoomaehevovohe 4-33
ménévoomat sehemenonehe 11-2
2 A0 —
monavoomohenehe 11-3
O A ° o—
monavoomamohenehe 11-4

ménédvoomaht séhemanshe  11-11
’ Ié A e o
monévoomat sehemenonehe 11-22

mdénavoomohenevohe 11-33
4 14 A . —

monevoomohenehe 12-3
7 ’ A ° —

monevoomamohenehe 12-4

ménévoomaht séhemanshe  12-12

méndvdomohenevohe 12-33
14 ’ A b —

monevoomehemehe 22-1

A ° —

ménévoomohevohe 22-3
SNEVE JVens

monevoomamohevohe 22-4

ménévoomehemenonehe 22-11

ménévdomaht sehemehe 22-22

ménévdomohevovohe 22-33



TRANSITIVE ANIMATE DUBITATIVE--'give'

Id ? A ° ° —
monaméa?tovahtsehehe

Ié I d A ° —
monemea?tovatsehehe
14 A —
monameahenotise

7 14 A . 7 el
monameavoheénotohe

Id Id A ° e
monemea?tovatsehemehe

7 14

mdénédméahénotche

~

ménéméa?t ovehehe
ménéméa?tovahtsehehe
ménéméahenotse

Id Id A ° yd —
monémeavohenot ohe

’ 4 A . —
monemea?tovehemenonehe

14 ? A Vd el
monemeahenotohe

14 7 A o
monamea?toehehe

I4 4 A —
monemea?toehehe

PO . .
moméa?tovahtsehehe

/4 A 7 —
momeéahenot ohe

/4 V4 A e
monamea?toehenehe

Id Id A o
moneméa?toehenehe

Id rd A i
monémea?toehevohe

14 14 A ’ —
monamea?toeheétsenotohe
4 I d A3 Id ——
moneméa?toehetsenotohe

Id A —
momea?toehevohe

P . . -
momea?tovahtsehevohe

Id ’ A Id —
monamea?toehetsenonehe

14 I d A /4 —
monemea?toehetsenonehe

’ 7 A V3 —
monemeattoehetsenovohe

Id A
moméa?toehevovohe

ménéméa?tovatsehemenonehe

’ V4 A —
monameahenonehe
méndméavohenonehe

ménéméa?tovahtséhemanehe
r P A ° —_
monemea?tovatsehemenonehe

7 2 A —
monameahanonevohe

14 V4 A —
monemeahenonehe
A L) a——
ménéméavohenonahe

ménéméa?tovahtséhemanshe

7 Id A —
monemeahenonevohe

ménéméa?tovehemehe
~ n
ménéméahenovohe
A ° P
ménéméavohenovohe
Ve Id N e e
monemeattovehemenonehe
1d Id A ° ° p—
monémea?tovahtsehemehe
ménéméahenovovohe
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11-4

11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22-4
22-11
22-22
22-33

80
ménaméa?toehe vohe 33-1
ménéméa?toehevohe 33-2
méméahenovohe 33-4

méndméa?toehenevonehe  33-11
ménéméa?toehenevonehe  33-12

ménéméa?t oehe vovohe 33-22
méméa?tovahtseéhevohe 33-33
méndméa?tonehehe x-1
ménéméa?tonéhehe x=2
méméa?tohehehe x=3
ménadméa?tonéhemanghe x=11
ménéméa?tonéhemanghe %=12
ménéméa?tonehemehe %=22
méméa?t dhehevohe x=33
méméavohénotohe 3-5
mdéméavohénovohe 33-5

EXAMPLES IN SENTENCES:

ménéméahénotche mo?éhéno?hame  (2-33)
You must have give the horses away.

méméahénotche Se?xo (3-4)
He must have given the duck(s) away.

Wdméahénotohe hestotseho (3-4)
He must have give his (own) pet(s)
away.

méméavohénotohe hestotseho (3-5)
He must have given his (obv) pet(s)
away.



TRANSITIVE ANIMATE ATTRIBUTIVE

névoomahtsemase
névoomatsemase
ndvoomosestse
ndvoomamdsesto
ndvdomat semése
ndvoomdsesto

névbomemase
névoomahtsemase
névoomosestse
névoomamdsesto
névdomemendse
nédvdomdbsesto

névoomaesest se
névbomaesestse
’ A o °
evoomahtsesestse
dvdomdsesto
ndvoomaenesest se
A °
névoomaenesestse
A ®
névoomaevosestse

I d A I
navoomaetsenosesto
A 14
névoomaetsendsesto
dv8omaesesto
/4 A o Id
evoomahtsesesto

s A 14 °
navoomaetsenonesesto

A ®
névoomaetsendnésesto

A ®
névoomaetsendvosesto

14 A I 4
evoomaevosestio

névoomat semendse
ndvéomdnesestse
navoomamdénesestos
névoomahtsémdnése
névéomatsemenose
ndvéomdnésesto

névoomdnesestse
névoomamdnesesto
névoomahtséménese
névdomdnesesto

névdoomemese
névoomdvosest se
névoomamdvosesto
névoomemendse
névbomahtsemeése
névoomdvosesto
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11-3
11-4
11-11
11-22
11-33

12-3
12-4
12-12
12-33

22-1
22-3
22=4
22-11
22-22
22-33
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ndvoomaesesto 33-1
névoomassesto 33-2
évoomdvosesto 33-4
navoomaendsesto 33-11
névdomaenédsesto 33-12
névdomaevdsesto 33-22
dvoomahtsésesto 33-33
ndvdomanémase x=1
névdomanémase x=2
dvdomesestse x-3
navbomanéménése x=-11
névoomanéménese x-12
néviomanémese x=22
évoomésesto x-33
EXAMPLES:

2-1 they say you saw me

3-3 they say he saw himself
3-4 they say he saw him (obv)
x=33 they say they were seen

OTHER EXAMPLES:

néhoxomdsesto 'they say you fed them'
éhoxomésesto 'they say he fed him(obv)'
néméanoséstse 'they say you gave

him away'
dvonaho?ndsesto 'they say he burned

him (obv) up'

évonaho?heevdsesto 'they say he (obv)

burned him up’
éhetdvosesto 'it is said they told

' him (obv)'



TRANSITIVE ANIMATE NEGATIVE ATTRIBUTIVE

nésdavdomahtséhémase
nésaavdomat séhdmase
ndsaavdombheséstse
ndsdavdomambhesesto
nésdavdomatséhdmese
ndsdavdomdhesesto

4 A 7 Id 4 bt
nesaavoomehemase

Id A Ve . Id Id *
nesaavoomahtsehemase
nésdavdomdheséstse

A
nésaavdomamdhesesto
oma ;

nésdavéomehemenose
nésdavbomdhesesto

I d A V4 e

nasaavoomaehesestse
A ®

nésaavdomaehesestse

¥ A 14 e 7 °

esaavoomahtsehesestse

dsaavdomdbhesesto
nasdavdomaehéneséstse
nésdavdomaehéneséstse
nésaavdomaehévoséstse

14 A /4 Id /4
nasaavoomaehetsendsesto
A I Id
nésaavdomaehétsendsesto
dsdavdomaehdsesto
Id A 2 ° 4
ésaavoomahtsehesesto

’ A 14 ld 14 .
nasaavoomaehetsendnesesto
nésdavdomaehétsendnésesto

A e
nésaavdéomaehétsendvosesto

Id A ? V4 .
esaavoomaehevosesto

’ A 14 & 7 7 hd
nesaavoomatsehemenose
ndsaavoomdheneséstse
ndsdavdomamdhenésesto

4 A 14 ° I 4 4 Id °
na sdavdomaht séhéménése
nasaavdéomatséhéménose
nésdavdomdhenesesto

I A 1é ? °
nésdavdomdhenesest se
nésdavdomamdheneésesto

Id A Id ° Id Id Jd hd
nesaavoomahtsehémanese
ndsédavdombhenesesto

Id A I 4 4 Id .
nesaavoomehemese
néséaavdomdhevosestse
nésaavdomamdhevosesto
nésdavdomehemenose

14 N ? hd ya 2 -
nesaavoomahtsehemese
nésaavdomdhevosesto

14 A Vé I
nasaavoomaehesesto
nésaavdomaehésaesto

dsdavdéomdhevosesto
ndsdavdomaehénésesto
nésdavdomaehénésesto

i’ >
nésdavdomaehévosesto

7 A 7 . 7

esaavoomahtsehesesto

ndsdavdomanéhémase
nésdavéomandhdmase
ésdavéoméheséstse
nasdavdomanéhéménese
nésdavdomanéhémdnése
nésdavéomanéhémeése
ésdavboméhesesto

EXAMPLES:
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33-1
33-2
33-4
33-11
33-12
33-22
33-33

x=1
x=2
x=3
x=-11
x=12
x=22
x=-33

2-3 they say you didn't see him

3-4 they say he didn't see him (obv)
4-33 they say he (obv) didn't see them
x-33 they say they weren't seen



TRANSITIVE ANIMATE MEDIATE 83

(These appear to occur mostly in legend and folklore-type stories. The
examples below will be given with the past-tense morpheme, -h-, -x-,
-?-, and -s-, since MEDIATE forms most commonly contain a past—tense
morpheme. Another commonly occurring past-tense morpheme in mediate
forms is =-sta-. See examples of MEDIATE verbs in the texts, later in
these notes.)

éxhetdhoono (3-4) he told him/them (obv)

éxhetaehoono (4-3) he/they (obv) told him
éxhetaevdhoono (4-33) he/they (obv) told them
éxhetdvohoono (33-4) they told him/them (obv)
éhvdomdhoono (3-4) he saw him/them (obv)

éhvbomaehoono (4-3) he/they (obv) saw him

éhvdbomae véhoono (4-33) he/they (obv) saw thenm
ghvdomdvohoono (33-4) they saw him/them (obv)

éhmévohoono (3-4) he ate him/them (obv)

éhmévaehoono (4-3) he/they (obv) ate him
dhmévaevdhoono (4-33) he/they (obv) ate them

€hmé vovohoono (33-4) they ate him/them (obv)
éhvonaho?ndhoono (3-4) he burned him/them (obv) up
éhvonaho?heehoono (4-3) he/they (obv) burned him up
éhvonaho?heevdéhoono (4-33) he/they (obv) burned them up
ghvonaha?ndvohoono (33-4) they burned him/them (obv) up
é?a?tasdhoono (3-4) he accidentally cut him/them (obv)
é?a?taxeehoono ' (4=3) he/they (obv) accidentally cut him
d?a?taxeevdhoono (4-33) he/they (obv) accidentally cut them
d?a?tasdvohoono (33-4) they accidentally cut him/them (obv)

TRANSITIVE ANIMATE NEGATIVE MEDIATE

dssdavdombhehoono (3=-4) he did not see him/them (obv)
dssdavdomaehéhoono (4-3) he/they (obv) did not see him
dssaavdomaehdvohoono (4-33) he/they (obv) did not see them
éssdavdomdhe vohoono (33-4) they did not see him/them (obv)
dsséa?a?tasdhehoono (3-4) he did not accident. cut him/them (obv)
dssda?a?taxeehéhoono (4-3) he/they (obv) did not acc. cut him
dssaa?a?taxeehévohoono (4=-33) he/they (obv) did not acc. cut them

dssda?a?tasdhevohoono (33-4) they did not acc. cut him/them (obv)



TRANSITIVE ANIMATE IMMEDIATE IMPERATIVE 84

vé?hooméstse Look at me! 2-1 vé?hoome Look at me! 22-1
vé?hoomahtséstse Look at yourself!2-2vé?hoomahtse Look at yourselves! 22-22
vé?hooméha Look at him! 2-3 vé ?hooma Look at him! 22-3
vé?hoomameha Look at him(obv)!2-4vé?hoomama  Look at him(obv)! 22-4
vé?hoomeme no Look at us! 2-11 vé?hoomemeno Look at us! 22-11
vé?2hoomendno Look at them! 2-33 vé?hooma Look at them! 22-33
méhoxestse Love me! (2-1) méhoxe 22-1

mého tahtsestse 2-2 mého tahtse 22-22

méhoxeha 2-3 mého ta 22-3

mého . tameha 2-4 mého. tama 22-4

méhoxemeno 2-11 méhoxemeno  22-11

méhoxendno 2-33 mého'. ta 22-33
péhéve?tovestse Be good to me! 2-1 péhdve?tove 22-1
péhéve?tovahtséstse 2-2 péhéve?tovahtse 22-22
péhdve?tovéha 2-3 péhéve?tova 22-3

pehéve ?tovaméha 2-4 pehéve?tovama 224
pehéve?tovemeno 2-11 peheve?tovemeno 22-11
péhéve?tovendno 2-33 peheve?tova 22-33
mévestse Eat me! (2-1) méve 22-1

mévahtséstse 2-2 mévahtse 22-22

mévehg 2-3 méva 22-3

mévaméha 2=4 mévama 22-4

mévemgno 2-11 mévemeno 22-11

mévenano 2-33 méva 22-33

taevaestse Measure me! (2-1) taevahe 22-1
taevdhestséstse 2-2 taevdhestse 22-22

taevéheha 2-3 taevaha 22-3

taevdhaméha 2-4 taevahama 22-4

taevdhemeno 2-11 taevdhemeno 22-11

taevéhendno 2-33 taevaha 22-33

moxe 20estse Draw me! (2-1) - moxe ?ohe 22-1

moxe ?0hestséstse 2-2 moxe 20hestse 22-22

moxe ?0heha 2-3 moxe ?2oha 22-3

moxe 20haméha 2-4 moxe ?0hama  22-4

moxe ?0heme no 2-11 moxe 20hemeno 22-11

moxe 20hendno 2-33 moxe ?oha 22-33

EXAMPLES IN SENTENCES:

moxe ?20heha vddtsdva Draw a deer!

moxe ?20heha hdéhtséme Draw a ball!

moxe 20heha nahkohe Draw a bear!

moxe 20hendno vdotsevahne Draw deer (pl)!

moxe 20hendno ndhkoheo?o Draw bears!

peheve?tova hetand-ka?eskone (You-pl.) be good to the boy!

vé ?hoomemeno Look at us'!



TRANSITIVE ANIMATE DELAYED IMPERATIVE

vé?hoomeo?0

vé?hoomahtseo?o

vé ?hoomoo?0

vé ?hoomamoo 20

vé ?hoomeme noo?0
14 2 7

ve Thoomoono

7
mehoxeo?o
mého?tahtseo?o
mého?t o070
mého?tamoo?0
méhoxemenoo?o

14 /4 77
meho?toono

Look at mel!(2-1)
2-2

2-3

2=4

2-11
2-33
Love me! (2-1)
2-2

2-3

2=4

2-11

2=-33

péhéve?toveo?0 Be good to me! (2-1)

pehéve?tovahtseo?o 2-2
pehéve?tovoo?o 2-3
péhédve?tovamoo?o  2-4
pehéve?tovemenoo?o 2-11
pehdve?tovddno 2-33
méveo?0 Eat me! (2-1)
mévahtseo?o 2-2
mévoo?0o 2-3
mévamoo 20 2-4,
mévemenoo?o 2-11
mévddno 2-33
taevéheo?o Measure me! (2-1)
taevéhestseo?o 2-2
taevéhnoo?o 2-3
taevéhamoo?c 2-4
taesvédhemenoo?o 2-11
taevéhnddno 2-33

moxe 20heo? o Draw me! (2-1)
moxe 20hestseo?0  2-2

moxe 20hn 00?0 2-3

moxe 70hamoo?o 2-4

moxe 20hemenoo?o0  2-11

moxe 20hnédno 2-33

EXAMPLES IN SENTENCES:

pehéve2tovéhéne ka?eskdneho

maxhovaneeh€ tse

ndho?ahenotse hoestotse
taevédheo?o mahvdona?o

vé ?hooméhéne
vé?hoomahtséhéne
I d 7 ?
ve?hoomohéne
vé?hoomamdhéne
vé ?hoomeme noo?0
14 I Id
ve7Thoomohene

é 8
méhoxéhéne
) .
mého?tahtséhéne
r, 7 ° ., 7
meho?tohene
mého?tamdéhéne
4 Is
mehoxemenoo?o
2y P~y o, 7
meho?’tohene

péhéve?tovéhéne
pehéve?tovahtséhéne
pehdve?tovéhéne
pehdve?tovamdhéne
péhéve?tovemenoo?o
pehéve?tovéhéne

? . ’
mevehene
mévahtséhéne
mévohéne

’ I é Id
mevamohene

mévemenoo?o

Id o Ié
mevohene

taevédhéne
taevédhestséhéne
taevéhnohéne
taevdhamdéhéne
taevéhemenoo?o
taevdhnohéne

moxe 70héhéne
moxe Tohestséhéne
° ® 7 Id
moxe 7ohnohene
° ° ’ 4
moxe Tohamohene
moxe 7ohemenoo?o
b b I ’
moxe 2ohnoheéne

22-1
22=-22
22-3
22-4
22-11
22-33

22-1
22-22
22-3
22-4
22-11
22-33

22-1
22-22
22-3
22-4
22-11
22-33

22-1
22-22
22-3
22-4
22-11
22-33

22-1
22-22
22-3
22-4
22-11
22-33

22-1
22-22
22-3
22-4
22-11
22-33
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Be good to the children when

we are gonel

I want a dress.
tomorrow!

Measure me



TRANSITIVE ANIMATE IMMEDIATE HORTATIVE 86

vé?hooma?eha  Let him look at me vé?hooma?évoha Let them look at me (33-1)
vé?hoométae 3-2 vé?hoomata?ose 33-2

vé?hoomahtseha 3-3 vé?hoomahtsévoha 33-33

vé?hoomdha 3-4 vé?hoomdvoha 33-4

vé?hoomaetse 3-11, 3-12 vé?hoomaetse 33-11, 33-12
vé?hoomat a?0se 3-22 vé?hoomata?ose 33-22

These hortative verbs may be prefixed by nede~ or mah-. Note the
similarities between this paradigm and that of the same person
combinations in the TRANSITIVE ANIMATE CONJUNCT verb paradigms.

EXAMPLES IN SENTENCES:

vé ?hoomdho ge?xo ] Let him look at the duck(s) (obv)!
vé ?hoomdévoha nahkohdho Let them look -at the bear(s) (obv)!

TRANSITIVE ANIMATE FIRST-PERSON HORTATIVES

nétahond?tone $87%e Let's roast the duck!
nétahond?toneo?o $é28e0?0 Let's roast the ducks!
nétavovéhone ma?heo?o Let's praise God!

nétahéve ?hoomone me2égevotse Let's go look at the baby!
nétavéstahémone tséheskétse Let's help our mother!
nestavéstahémone tséheskétse Let's help our mother!

ndtavéstahémo tséheskdtse Let me help our mother!



TRANSITIVE INANIMATE INDEPENDENT INDICATIVE

ndvddhta
névddhta

Id T4
evoohta
dvbohtotse

A . .
evoome it is seen
14
namese I ate it (1-I)
'
nemese 2=

7

emese 3-1I

14 A

emesetse 4-T1

? Ié 7 Id
namesenone 11-1

Id A
nemesenone 12-1

Id ’ 14 ’
nemesenovo 22-1

7 ? ’ V4

emeésenovo 33-1

émésestove  x-1

ndhd?tse I
néhd?tse 2
éhd?tse 3-
dho?tsetse 4
ndho?tséndne 1
ného?tsénone 1
ného?tséndvo 22—
ého?tséndvo  33-

ého?he x-1

naho?ahe I
ného?ahe 2-1
ého?ahe 3-1
ého?ahetse  4-1
ndho?ahéndne 1
ného?ahénone 1
ného?ahéndvo 22—
dho?ahéndvo 33—

ého?ahéstove x-I

nédhdoxe?ana I cleaned it by hand(1-1)

Id A —
nehoxe?ana

Id A —
éhoxe?ana

Id A
eéhoxe?anotse

’ A 7 Ve
nahoxe?ananone

V4 A Id
nehoxe ?ananone

14 A ? Id
nehoxe?ananovo

/4 A 4 Ié
ehoxe?ananovo

éhdxe ?ane

I see it

you see it
he sees it
he (obv) sees it (4-I)
ndvédhtdndne we (excl) see it(11-I)
névoohtanone we (incl) see it (12-I)
névdédhténdvo you (pl) see it (22-I)
évédhténdvo they see it

2-1
3-1
4-1
11-I
12-T
22-1
33-I

x-T
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ndvdohtanotse I see them (1-11)
névoohtanotse you see them (2-11)
évoohtanodtse he sees them (3-11)

évoohtotsenotse he (obv) sees them(4~IT)
névoohtanonéstse we (ex) see them (11-IT)
névdohtanonéstse we (in) see them (12-1T)
névoohtanovotse you (pl) see them(22-IT)

évoohtanovotse they see them (33-11)
dvdomenéstse they are seen (x-11)
némésen@tse I ate them (1-II)
némésenotse 2-1T

émésenotse 3-IT

émésetsendotse  4-TI

ndmésenonestse  11-II
némésenonéstse  12-IT
némésenovotse 22-11
émésenovotse  33-II

émésestdvénéstse x-II

ndho?tsenotse
ného?tsenotse
dho?tsenotse
dho?tsétsenotse
ndho?tsénonéstse
ného?tsénonestse
ného?tsénovotse
ého?tsénovotse

dho?henéstse

ndho?ahenotse
ného?ahenotse
ého?ahendtse
dho?ahétsenotse
naho?ahénonestse
’ o g o
neho?ahenonestse
ného?ahénovot se
o112 LGnenovE
eho?ahenovotse

ého?ahéstdvénéstse

Py A °
nahoxe Tananotse
2, A °
nehoxe?ananotse
2, A e
ehoxe?ananotse
A ? )
ehoxe?andotisenotse
7, A Vd °
nahoxe?ananonestse
2, A 7 .
nehoxe ?ananonestse
P, A 7 °
nehoxe?ananovotse
2, A ? e
ehoxe?ananovotse

éhoxe?anenestse

I have them (1-II)
2=-I1
3-11
4-T1
11-1I1
12-1IT
22-11
33-11

x-11

I want them (1-II)
2-1I1

3-11

L-T1

11-11T

12-11I

22-11

33-11

x=-11

I cleaned them (1-II)

2-11
3-I1
4-1T
11-1I1
12-11
22-1T
33-1I

x=1T



TRANSITIVE INANIMATE INDEPENDENT INDICATIVE 88

namane I drank it (1-I) ndmanenot se I drank them (1-II)
némane 2-1 némanendtse 2-I1

dmane 3-I émanenotse 3-II

émanetse 4-1 émanétsendotse  4-IT

némanéndne 11-1 ndmanénonéstse  11-IT

némanénone 12-1 némandnonéstse 12-IT

némanéndvo 22~1 némanédnovdt se 22-1I

dmanéndvo 33-I dmandnovdtse 33-1I

émanéstove  x-T émanéstévénéstse x-II

napo?éhta I break it off by mouth 1-I ndpo?8htandtse I brk them off by m. (1-II)

népo?dhta 2-1 népo?dhtanotse 2-11
épo?dhta 3-I épo?28htandtse 3-1I
épo?dhtotse 4-I épo?éhtotsendtse 4-11

népo?éhténdne 11-I ndpo?dhtanonéstse 11-11

népo?8htanone 12-I népo?dhtanonéstse 12-11

népo?bhténdvo 22-I népo?éhtanovotse 22-11
épo2éhtdndvo 33-1 épo?dhtanovotse 33-1T
épo?ome x-T épo?oménéstse x-1T

nédvonaho?ha I destroy it by heat(l-I)ndvonaho?handtse I destroy them by heat

névonaho?ha 2-1 névonaho?hanot se 2-T1
dvonaho?ha 3-I dvonaho?hanot se 3-IT
dvonaho?hotse  4-I dvonaho?hbtsendtse 4-1T
ndvonaho?hdndne 11-T navonaho?hénonestse 11-TI
névonaho?hénone 12-I névonaho?hénonéstse 12-II
névonaho?hdndvo  22-T névonaho?hénovotse  22-IT
dvonaho?hédndévo  33-I dvonaho?hénovdtse  33-II
édvonaho?he x-T dvonaho?henéstse x-I1
nda?taxa I accidentally cut it (1-I) nda?taxandtse = I acc. cut them (1-II)
néa?taxa 2-1 néa?taxandtse 2-1T
da?taxa 3-I da?taxanotse 3-1I
da?taxotse  4-I da?taxStsendtse 4-IT
nda?taxdndne 11-I nda?taxénonéstse 11-II
néa?taxédnone 12-I néa?taxdnonestse 12-II
néa?taxdndvo 22-I néa?taxdnovotse 22-II
da?taxédndvo 33-I da?taxdnovotse 33-II
da?taxe x-I da?taxenestse  x-II

ndpo2oha I break it off by tool(l-I) ndpo?0handtse I brk them off by t.(1-TI)

népo?oha 2-I népo?0handt se 2-1I
épo?cha 3-I épo?0handtse 3-1T
épo2?0hotse  4-I épo?ohétsenotse 4-IT

ndpo?0hdndne 11-I ndpo20hdnonéstse 11-IT

népo?0ohénone 12-I népo?ohdnonéstse 12-IT
népo?0hdndvo 22-1 népo?0hédnovotse 22-IT
épo20ohdndvo  33-I épo?ehdnovotse  33-IT

épo?2che x-1I épo?ohenestse  x-IT



TRANSITIVE INANIMATE INDEPENDENT INDICATIVE 89

nénehésta I said that ndnehestanotse T said them
nénéhésta 2-1 nénehestanotse 2-T1
énehésta 3-1 énéhestanotse 3-11
énehestotse 4-T énehestdtsendtse 4-11
nénéhesténéne 11-1 ndnehestdndnestse 11-11
nénghesténone 12-1 nénehestédnonéstse 12-11
nénehestandvo 22-T nénehestédndvotse 22-11
énéhestandvo 33-1 énshestdndvotse 33-IT
énehestdhe x-1 énehestdhénéstse
ného?éhéhta I came to it ného?éhéhtanétse I came to them
ného?éhoht a 2-1 ného?éhohtanodtse 2-11
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